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BCE/D-20 26001

FINANCIAL ACCOUNTING-I
Paper-BC-101

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

A : ®/A U A HIU g GE 1 et 2

1. Compulsory Question ( 3TF@ET Wy )
(a) Distinguish between accounting and accountancy.
(b) What is convention of conservatism?

(c) What is outstanding and prepaid expense? Give journal
entry with example.

(d) Difference between capital expenditure and revenue
expenditure.

(e) Del-Credre commission and over-riding commission.
(5%4=20)

(F) oEiFT IR o@Hy H§ SR SdrEu|
(@) wfeaza =1 fagm @1 22

(1) oA R yded W N &7 SEEW Wied SHa
gfafte <ifSuy

(%) Yol @ SR AW @ W S iy

() UfEny wHYE Td ARl HHYE|
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2. What is accounting? Explain the advantages and limitations
of accounting. 15

TEEHET R 8?7 A@iRT H oH FR B FdRy

3. An accountant finds a difference of Rs. 3,715 in the trial
balance prepared on 31st March, 2018 which he put on the
debit side of suspense account. The following errors were
discovered later on :

(1) Rs. 710 the total of sales return book has been posted
to the credit of purchase return book.

(i) A B/R for Rs. 500 received from Gopal was passed
through bills payable book. However, the personal
account was correctly credited.

(iii) An item of Rs. 626 written off as bad debts from
Chanderkant has not been debited to bad debts account.

(iv) Goods sold to X and Y for Rs. 1,600 and Rs. 1,200
respectively, but were recorded in the sales book as to
X Rs. 1,200 and Y as Rs. 1,600.

(v) Goods of Rs. 850 were returned to Bhardwaj. It was
recorded in purchase book as Rs. 580.

(vi) An amount of Rs. 675 for a credit sale to Govind,
although correctly entered in the sales book has been

wrongly posted as Rs. 756.

26001//KD/1346 2



(vii) A sum of Rs. 375 owed by Ravi has been included in
the list of sundry creditors.

(viii) An amount of Rs. 750 spent on the repairs of old
machinery has been debited to Repairs account.

Pass journal entries to rectify the errors and prepare a
suspense account. 15

TF o@ue g0 31 "E, 2018 6 9AR fRU TN qewe §
3715 % 1 <R foen 59 S==<i @@ & 2foe w9y o
T feon T 9” H frefataa swgfsal w1 war wen :

i) 710 % fowa aodt €1 &1 A HF IO S& H
wfee ¥ foa feam

(i) I ¥ 9" 500 T % WA fae w1 o@n, 39 fad
T & meEm 9 R qunfy e w1 St
g 9E wige w fea

(iii) T GRT 3T 626 T. TIAT B F ®I H NufAfed
X fu, frg Ta9a w0 @ 7 2fee 7= fwu
(v) X 3R Y & 1600 & 3 1200 % 1 HA o=

T faa a8 W X % oW W 1200 T R Y &
@ H 1600 % fo@ R U

(v) VRGN ! 850 % &1 Wil aiqd fowen mn f59 %3
5 H 580 % fom fem

(vi) Tfa= H 675 T HI SUR faht F WA K o
T8 H et fom e foeeg o/@m 756 & 9 & e
|

26001//KD/1346 3 [P.T.O.



(vii) ¥ W @ 375 T A fafey R &t g A
e X o= T

(vii) T T WG B qOHd W @9 fRT T 750 %
Td @ H Sfee & Ry T
suifgdl & QUR & o gfafe dfse 3 sEwit
QAT TR

4. On Ist April, 2015 machinery was purchased by Mohan for
Rs. 50,000. On 1st Oct., 2016 additions were made to the
extent of Rs. 10,000. On 1st July, 2017 further additions
were made to the extent of Rs. 6,400. On 30th Sept., 2018,
part of the machinery, the original value of which was
Rs. 8,000 on 1st April, 2015 was sold for Rs. 6,000.
Depreciation is charged at 10% per annum on original cost.

Show the machinery account for four years in the books of

Mohan and books are closes on 31st March every year.
15

Hed 3 1 ST, 2015 H 50,000 T H AL WAL
| SRS, 2016 & 10000 T 1 sffaRed wid =T
T 1 R, 2017 H 6400 T kI TH AR Afafed
e SR Tl 30 faaER, 2018 1 WH W THE WM
/9 1 arafas Fod | T, 2015 I 8,000 T o,
39 6000 & H =9 f5a W@ FH 10% H K ¥ IR
HTd I T STl %l

TEd & Tl H IR I H1 WG @ ARt 9

gfg o 31 "™ W oa< fRT S 2
26001//KD/1346 4




advantages of ledger?

What is ledger? Give its format? What are the

7

(b) Explain the errors which do not affect the trial balance

with the help of examples.

(%) @R 1 8?7 THH WEY SANU? @EE & od

N 87

8

(@) U omIfgai S qewe W wafed TE e,
3TN0 Gieq AT HifSg|

6. From the following particulars prepare Trading and Profit &
Loss account for the year ended 31st March, 2017 and
Balance Sheet also as at the date :

Particulars Amt (Rs.) | Particulars Amt (Rs.)
Plant & Machinery 80,000 | Rent 12,000
(1-4-2016) Insurance premium
Plant & Machinery 1-1-2017 to 1,200
31-12-2017
purchased (1-7-2016) 20,000 | Cash at bank 5,400
Debtors 1,20,000 | Wages 20,400
Creditors 32,000 | Advertising 4,800
Furniture 5,000 | Carriage Inwards 10,200
Motor Car 70,000 [ Carriage Outwards 2,000
26001//KD/1346 5 [P.T.O.



Purchases

Sales

Sales return
Salaries

Opening Stock
Motor car Expenses

Stationery

1,60,000
2,80,000
15,000
36,000
60,000
6,000

500

Fuel & Power
Capital
Drawings
Brokerage

Donation

15,700
3,50,000
12,000
700

5,100

The following information is relevant :

(i) Closing Stock Rs. 55,000. Stock Valued at Rs. 10,000
was destroyed by fire on 18th March, 2017 but, the
insurance company admitted a claim of Rs. 6,800 only

which was received in April 2017.

(i) Stationary for Rs. 150 was consumed by the proprietor.

(iii) Goods costing Rs. 1,200 were given away as charity.

(iv) A new signboard costing Rs. 1,500 is included in

advertising.

(v) Rent is to be allocated 2/3rd to factory and 1/3rd to

office.

(vi) Depreciate machinery by 10% and Motor Car by 20%.

(vii) Motor car is used partly for business and partly for

private purposes, therefore one half of car expenses

including car depreciation is to be charged to proprietor's

account.

26001//KD/1346
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frefafad geaell ¥ oM Td AH-gIH @ e
fearfa foemor 31 w4, 2017 1 99 B9 a1 99 & fag

R ELS:

Particulars Amt. (Rs.) Particulars Amt. (Rs.)
A TS A 80,000 | TR 12,000

(1-4-2016) <o Hifgam
ERERCRNIEN 1-1-2017 & 1,200

31-12-2017

hd (1-7-2016) | 20,000 | S e 5,400
TR 1,20,000 | wigd 20,400
TTER 32,000 | fa=mo= 4,800
AT 5,000 | 3T wEl 10,200
X &R 70,000 | fosha W el 2,000
Ex| 1,60,000 | 3o 9 faset 15,700
IEER! 2,80,000 | gsit 3,50,000
IEERECIEES] 15,000 | S8 12,000
ELEl 36,000 | geIedt 700
IRk i 60,000 | M 5,100
R FR TF 6,000
ESME T 500
26001//KD/1346 7 [P.T.O.



7.

frfafa oA Twted €

() of<m Wi 55000 % 18 @, 2017 & 10,000
%. 1 WA 3 § I 8 T, S 0 3 had
6,800 %. W @1 @R R St R el 2017 ®
o gl

() 150 % I WG KT G @i g feamr wEm

(i) 1200 % o AT 9 H T

(iv) 1500 T T 1 WA ¢ fommm o wnfEe @

(v) Totan 2/3 am & qen 1/3 9 SEieE 9 geieh
2l

(vi) TR W 10% T AR HR W 20% BE TR

(vii) AT FR HT FIN GEE 9 AfFAT 3T & foag
fFan ST 2, T9feIT R @d del B S STET W
@ @[ ° Rl

(A) Delhi Sports Club received in 2020 Rs. 1,00,000 as
subscription. Further informations are :

(1)  Subscription due but not
received on 1-1-2020 Rs. 8,000

(i1) Subscription received in
advance on 1-1-2020 Rs. 3,000

26001/KD/1346 8



(iii) Subscription due but not
received on 31-12-2020 Rs. 4,000

(iv) Subscription received in
advance on 31-12-2020 Rs. 2,000

What amount should be credited to income and expenditure

account as subscription? 5

(B) Differentiate between Receipt and Payment account and
Income and Expenditure account. 10

() feoeft w@EE @ 3 o9 2020 H 100000 % H
I W R eifafem g 3w weER €

() 1-1-2020 =+ =<1 3
T W @ g 8,000 %

(i) 1-1-2020 @+ W
T U g 3000 %

(i) 31-12-2020 1 I=T 3T
T I A8 gl 4000 <.

(iv) 31-12-2020 @1 210W
a7 U g 2000 %

() Wi 9 Y @l T ST Td =99 @ H 3T
ARy

26001//KD/1346 9 [P.T.O.



8. Ram sent 1000 cycles to Mohan @ Rs. 1,500 per cycle on
consignment. Ram paid freight Rs. 1,00,000 and insurance
Rs. 15,000. During transit 100 cycles were totally damaged
by fire. Insurance company paid Rs. 1,40,000 for claim of
loss. Mohan took delivery of 900 cycles and paid Rs. 15,300
for octroi. 800 cycles were sold at Rs. 2,200 each. Expenses
of Mohan were Rs. 20,000. Mohan was entitled to a
commission of 5%. Mohan settled the account by bank draft.

Prepare ledger accounts in the books of Ram. 15

T4 9 "R FH 1000 TWEfEA 1500 T TIE & feaqm @
U907 TGS TH A WIET 100,000 F FT S 15,000 T
TaE fowan T | 100 9B 0/ ¥ T= g Tl
FEAT 4 140,000 T T FT FET FAE fRAN AR A
900 WEfRa w1 feeltad o qon g & 15300 & U
800 WEfFEA 2200 % ¥I& & feu@ ¥ == fqu 7w
WEd 4 20000 T WE fRU HET 5% HHRE UH
iRt Bl Hied 3 T TR w1 PEH SF g 9w
9 H HHl H EvIR WK ARG

9. Explain the followings :

(a) Revenue reserves and capital reserves with examples.

5
(b) Characteristics of double entry system. 5
(c) Provision for depreciation account. 5

26001/KD/1346 10



TrfafEd i sare i ¢

(F) ATE GO TS Yo Hed SR il
(@) TE <@ ol HT R

() W BQ AESH @l

26001/KD/1346 1
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BCE/D-20 26002
MICRO ECONOMICS
Paper—-BC-102

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory, which comprises five short type
questions carrying 4 marks each. Attempt four
questions from the remaining eight questions
carrying 15 marks each.

FA U YT H S LNW Y W' 1
4 % H T WY MS YA F W WW U
HITST, TS0 g 93T 15 3Tl 1 2|

Compulsory Question ( 31f-amd T9)

1. Answer the following in brief : 5x4=20
frefafea =1 89§ S i

(a) State any four arguments in favour of Economics

being a Science.

Afeme & fomH TR O U¥ H &E OUR d
KIS

(b) Under what conditions Price of a good and its
Demand are positively related?

26006/K/819 P.T.O.



o ufifeafqal & wh ovg # *ma R @ o
SEireecolicetes oS e | R | |

(c) State four features of Utility.

Swifar #t ww fama fafeu)

(d) Distinguish between the internal and external
Economics of Scale.

Sftsh o el YAM ol d=dl H AR wWe
RIS

(e) Show the shut-down situation of a Firm

diagramatically.

WEfEs o TEEal 9 Tk ®H i Sced 9g fefq

3T

2. What is Price elasticity of Demand? Explain
expanditure method and Revenue method of

measuring it. 15

WA k1 $IAd o 1 B 27 TH A st o fafy
g o fafy =1 guiF wifel

3. What is Indifference Curve Analysis? Analyse the

properties of Indifference Curve Technique. 15

TELUd] O Taveioul o1 22 deefdl a% dedle i

fogroareti =1 favawor sifeu

4. Critically examine the Law of diminishing Marginal
Utility. 15

26006/K/819 2



Tedt WH UM & 9 &1 A S
HifTa|

What is meant by Returns to Scale? Explain its various
phases. 15

T ® UAwa @& & oYU ©? THe! faree
LAl hT GO hIfST

Explain various short run Cost Curves with the help
of tables and diagrams. 15

Qs Ta dlfedehl ki 98MEdl © AcUshlcdT AN
Il HT JUA HITST|

Explain the equilibrium of a Firm and Industry under
Perfect Competition in short run. 15

Ui JRAIfEr ¥ T wH 9 3N % SIeTehleid HeH

i SAEAl il

What do you mean by Price Discrimination? When

is it possible and profitable? 15

FHa 98 9 oUH FA AIE T? T HE TEG
9 TIYEEE Bl @2

Elaborate the short run and long run Equilibrium of

a Firm under Monopolistic Competition. 15

Tl SfTaifial § Teh ®H o STeUhicld d SIsehlel =
Hqer 1 fogga 9uiA it

26006/K/819 3



Roll No. ..cccvvveveenen Total Pages : 3

BCE/D-20 26003

PRINCIPLES OF BUSINESS MANAGEMENT

Paper—BC-103

Time : Three Hours] [Maximum Marks : 80

Note :

e

Attempt five questions in all. Question No. 1 is
compulsory. Each part carries 4 marks. Attempt any four
questions from remaining eight questions.

Fd UE WA % S AT wE gen 1 et R
fSTHT YT W 4 3FF H1 S U @ Y A ©
FE TR Y HL, TAF TH 15 FF H 2

1. Compulsory Question ( AfEE °9T)

Answer the following in brief :

(a)
(b)
(c)
(d)
(e)

Differentiate between Business and Profession.
Discuss the significance of management.
What is matrix organisation ?

What are the objectives of motivation ?

Explain any four principles of controlling.

fm= =1 dew 9 sw S .

(%) =™ qel U W o = 22

(@) 99 &1 He<d ddEu|

26003/PDF/KD/761 [P.T.O.



(M) Afes GTed @ g i
(9) AR &1 Hew™ SRyl

(%) fa=m & =R fage &1 gviF i

Discuss the Management's importance in the present
Scenario ?

TAHH THA H Yo H WEwel w1 FUH TSy

Critically analyse the contribution of Henry Fayal in the field
of Management.

Yo & &F H B BA & NS T gu i

What is Planning ? Discuss different types of plans ?
friem Fr 27 fafa= gwR 1 At w1 g it

What is Decentralisation ? Discuss the merits and demerits
of decentralisation.

fahsoeto fhe wed B2 fam=iger & o &

H I Hifg)

Define Motivation. Explain various theories of motivation
in brief.

Afayon w1 gRfeg wifsu fywon = fafa=s fagrat
w1 e gquF - sife)

“Leaders are born not made.” Explain this statement.

“JaT S O B ST el 1" T R o) saredl
Hifra|

26003//KD/761 2



8. Define Delegation. What are the barriers to delegation and

how these barriers can be overcome ?

AR S0 1 B2 SRR 0 | - ShEe
T ¥ qel T TS B HA R fRA S gewar 22

9. Discuss various conventional and modern techniques of

managerial control.

yaeehd o= w1 fafe= WRemea den emfTe aeHiehl
F1 UM BT

26003//KD/761 3
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BCE/D-20 26004

COMPUTER APPLICATION IN BUSINESS
Paper-BC-104

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt any four questions out of remaining eight questions.

e :  FHA U T % I ST | T HE&A 1 A 7 199 113
e H  fohgl AR &% I SN

1. Compulsory Question
(stfrare o)
Explain the following :
(i) System Software and Application Software.
(i) Open-Source Software.
(ii)) Real-Time Operating System.
(iv) Text formatting features in Word Processing.

(v) 13,15, 17 processors. (5%4=20)

26004/PDF/KD/137/Trans. [P.T.O.



fr=afafea =1 avfF wifsT .

() To=n A= qon Tihe | |
(i) - AR |

(i) Fer-<r=m smfen fawen |

(iv) € FEMET o ToRe Wit ol

(v) 13,15, 17 FEE|

2. Define Computer with its characteristics. Explain its components

with block diagram. (15)
HFRE I T ToRmarsti Higa qRYIMG RIS | fe TG
BT 39 2! 1 U IS |

3.  Whatis input device? Explain the various input devices used in

a personal computer. (15)

e feamsd # T TETA HPRR § ygE g At fafy=
Y feard &1 aviF Sifvg |

4. Describe the functions of operating system. Explain the
characteristics of multitasking and multiprocessing operating
system. (15)
AR foes o T ol TUH IS | Tl -2t 9 Hed!-
TG SRfET faeen it favwaret &1 samen Hitg |

26004/000/KD/137 2



5. What do you mean by spreadsheets? Write any five functions of

data handling in spreadsheets. (15)
Treviie ¥ ofent =1 AMIE 82 Siesiie | T gvsfan %
*1E ur HE fafay |

6.  Write short notes on the following :

(i) Network Topologies. (6)

(i) LAN, MAN and WAN. ©9)
Frefafed X d@fgra feomft fafem .

(i) 7o Zrarars |

(i) &, B e S

7.  Discuss the following :
(1) Guided Transmission Medium for networking (8)
(i) Database Management System. (7
frefafaa =t ==t S :
(i) eafh gq eSS THHYE Hifead |
(i) =TT FeHe faem |

8. Explain page setup, page layouts and mail merge features of

word processor. (15)

26004/000/KD/137 3 [P.T.O.



€ TIUET o US HeaTd, U oieTse a1 el /St T[UN ohl 90
HIfST |

9.  What operating systems are used in mobile phones? Explain their

characteristics. (15)
Hemzel i | e st faen o1 g faman S 82 S+t
forraanet @1 Ui Sifera |

26004/000/KD/137 4



correction in Q. No. 6(a) of Sr. No. 26005
BC-105: Business Mathematics-I of B.Com 1st Semester

3

[ WG —y

X X
Y Y =(-y) (-2 (z—x) (x+y+2)
3
Z Z
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BCE/D-20 26005
BUSINESS MATHEMATICS-I

Paper—-BC-105
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. 1 is

compulsory. Rest questions carry equal marks.

1. (1) Prove that 10g927—10g279=%. 4

(1i1) Find the sum of 20 terms of series : 4

2—-4+6—-8+10—-12+..........

S . log x
(111) Find the second derivative of . 4
(iv) For what value of x, the given matrix :
3-2x x+1| . _ )
A= 5 4 | is a singular matrix? 4

(v) Find the effective rate of interest 6% p.a.

compounded continuously. 4

2. (1) Ifx=Il+log, bc, y=1+log,ca, z=1+log ab, prove
that xyz=xy+yz+zx. 7%

26005/K/1239 P.T.O.



(i1) Simplify by using log tables :

(17.5)2 +(15.2) 5
(56.3)5 —(12.4)4

7Y%

3. (1) Find the sum of the series .6+.66+.666+........ to

n terms. TV

(i1) A machine depreciates in values at the rate of
10% every year on reducing balance. If the
original cost be ¥ 20,000 and the ultimate scrap
value T 13,122, find the effective life of the

machine. TV

4. (1) Differentiate x%+(logx)’C w.r.t. x. 8%

2

d
m§:0'7%

(i) If x*+ y*=(x+y)"™, then prove that

5. (1) A window is in form of a rectangle surmounted
by a semi-circular opening. The total perimeter
of the window is 10m. Find the dimensions of
the windwo so as to admit maximum light

through the whole opening. 7%

(11) A Sitar manufacturer can still ‘x’ sitars per week

at T ‘p’ each where 5x=375-3p. The cost of

26005/K/1239 2



2

x
production is ¥ [500"'13)6 +?} Find how many

sitars should be manufactured for maximum
profit and what is the Profit? 7%

6. (1) Prove that :

1 x X
1y X|=x=-y)(y-z)z-x)(x+y+2). 71
1 z X

(i1) Express the following matrix as sum of a

Symmetric and Skew-symmetric matrix :

TV

w o\ —
Wb oo b
< - b

7. (1) The sum of three numbers is 6. If we multiply the
third number by 2 and add the first number to
the result, we get 7. By adding second and third
numbers to three times the first number, we get

12. Use determinants to find the number. 7%

(i1) Solve the following system of equations : 7%

2x+8y+5z=5
X+y+z=-2
X+2y—z=2.

26005/K/1239 3 P.T.O.



8. (i) Find the nominal rate of interest when interest
is payable half yearly which is equivalent to

the effective rate of 6.14% per annum. 7%

(i1) Find the Compound interest on I 6,950 for 3
years if interest is Payable half yearly, the rate
of interest for the first two years being 6% p.a.
and for the third year 9% p.a. 7Y%

9. (1) A Colour television worth ¥ 10,000 is Purchased
on instalment plan under which 10 equal
instalments including interest at 10% per annum
are payable. Find the amount of Annual

instalment. 7Y%

(i1) A man borrows I 6,000 at the rate of interest
6% p.a. compounded continuously and promises
to pay off the loan in 20 annual instalments.

Find the amount of each Annual instalment.
7Y%

26005/K/1239 4



Roll No. ..cooveveiiennn. Total Pages : 3

BCE/D-20 26006
BUSINESS COMMUNICATION
Paper—-BC-106

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory, which comprises five short type
questions carrying 4 marks each. Attempt four
questions from the remaining eight questions
carrying 15 marks each.

FA U YA & ST WU YA HE@a 1
4 F &1 B YUY MS YA A @ WX Y
Fifu, 8 go® I 15 R H1 €

Compulsory Question ( 31f-amd T9)

1. Write short notes on the following : 5x4=20
frafafes w dfaa femfml fafew -

(a) Components of Communication process

o) YAl & &I 3T

(b) Grape vine

AT HHEN

26006/K/819 P.T.O.



(c) Body language
CARCRIN]

(d) Principles of Presentation

THfqR & fagia

(e) Resume.
|

2.  What is Verbal Communication? What are its various
types? Explain it and distinguish between Non-verbal

and Verbal Communication. 15

Ifedeh TER 1 27 U fafa— YR &1 &7 e
FHIFTT AR 39nfeses HaR 3R vfedsh 99 § 98 J&he
ShITSTT|

3. What do you mean by Corporate Communication?
Explain the main channels of the Corporate

Communication. 15

fi 9=9R 9@ ome = AfaurE 82 39 e
Il H AR Hifeu

4. What is SWOT analysis? What are its basic elements?

Describe its main components. 15

e favermor &1 921 o7 B2 U geF SR a
F B? THH YA TSH hl gUH i

26006/K/819 2



5. What is meant by Group Discussion? Discuss the

pre-requisites and advantages of a group discussion.
15

e foar-faust @ = e 22 wmfes
foaR-fomst &1 g vl qon |l 1 Ui Rif)

6. What do you mean by Effective Listening? What are

its main principles? 15

TEqul sgur W o Sifay 22 3@ e fasid
w1 2?2

7. What is an Employment Interview? What preparation
do you have to make to appear in an Employment

Interview? 15

IR 9 1 MY 27 IEchR 9 9 Ugal STeh!
F A HH =nfEu?

8.  What is Business Letter? Discuss in detail the various
parts of a Business Letter. How it can be made
effective? 15

O T9 1 &7 AEEius T & fara= 9
&l foR 9 =aren wifau) 39 ffd YRR qreemed
SR ST Ghal ©?

9. Discuss the various modern forms of Communication.
15

Har & fafq= smye &4 &1 e ifs)
26006/K/819 3
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BCE/D-20 26017

COMPUTER FUNDAMENTALS AND LOGICAL
ORGANIZATION
Paper-BC(Voc)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt four more questions from remaining questions.
e ol Ui YT % ST T 1 99 G, 1 A € 1 9 et A
Y ¥R 31 Yl o I I

1. Compulsory Question (zfrart weT) -

(1) State various characteristics of computer.

(i) Represent (8620)  into (i) BCD code, (ii) Binary number.

(1)) Comment on the purpose of DMA.

(iv) What are the various types of software?

(v) State various applications of spreadsheet. (5%4=20)
(i) I HI fafa= faRvan saE |

(i) (8620),, I (i) SIS &I, (ii) aMT Fen | yRi

ST |
26017/PDF/KD/140/Trans. [P.T.O.




(i) AT o Ieed W feoqoft wifSw )
(iv) WRam & fafq= TR HiA-54 9 8?2
(v) Sreefie & fafd=1 sTganT samsu

2. Differentiate between following :
(i) RAM and ROM.

(i) Sequential and Direct access devices.

(ii)) Input and Output devices. (15)
frfafaa & e o=’ i

() 9 qem A9

(i) ST T eEiw Ty fearq|

(iii) STYE d1 ARy feamsy|

3. Simplify the following expressions using Boolean algebra rules :
F=(A+B)(A +B)A+ B).
F=AB + BC + BC. (15)
Fferad stsrfo ot &1 ST wd g fEfateaa =St

o~

T TIAHIOT BT

F=(A+B)(A +B)A+ B).
F=AB + BC + BC.

26017/000/KD/140 2



4. Obtain the minimal SOP and POS for the function given below
using K-Map :
F(A,B,C,D)=2%(1, 3,7, 11, 15) + ©(0, 2, 5).
Also design the logic diagram for the simplified expression.

(15)

oh-HY 1 TN I T A S8 T Fed g < THeArdt
A JTH Y1 HITST
F(A,B,C,D)=Z%(1, 3,7, 11, 15) + ®(0, 2, 5).
11 &1 Weliohd sk o foTe qiteres g ot festea sifsr |

5. Differentiate between encoder and decoder. Design a decimal
to BCD encoder along with a 4 : 16 decoder with the help of
3 : 8 decoders. (15)

TAhIgT d97 femiel & g A< Hifou | 3:8 femiet &I

TR H 4:16 Temret & @y Sfoqe 9 srdel et fesea
IS |

6. What is a flip-flop? What are its operating characteristics? Explain
working of JK Master-Slave flip-flop along with how it eliminates
the problems encountered in JK flip-flop. (15)
ToRTI-velty o1 §2 S9! TaTeATcHes: fagivand s 82 Sk
TR-TA9 fTI-UeA1d shi ShIEAOTEAt hi o019 ShifSTT qe SId1sy
o Sk foRra-waarT | Iafeed THEs ol 98 fhd TRR
FA T
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7. (1) What is meant by open-source software? Explain any two
open-source software in brief. (7.5)

(i) What is meant by linker and loader? Explain in brief.
(7.5)

(i) SMo-drd Sireae) 9 =7 ity ®2 faeet €t efvm-
i AireeeR 1 9aq | quid i |
(i) TeieR o oirex | o1 Afyr §2 Herg | 9o Sifeg |

8. What is meant by networking? Explain various types of networks
in detail. Also describe the various topologies along with their pros

and cons in detail. (15)

e & N AU €2 fafe= YR &% Jeadh a1 faeryds
o smifere | T & Tii-<il wfed faf=r Sttt @1 o o=
IS |

9. (i) What is meant by addressing modes? Explain in brief.
®)
(i) Ifan instruction is stored at location 300 with its address
field at location 301. The address field has the value 400.
A processor register R1 contains the number 200. Evaluate
the effective address if the addressing mode of the
instruction is (i) direct; (i1) immediate; (iii) relative;
(iv) register indirect; (v) index with R1 as the index register.
(10)

26017/000/KD/140 4



(i) AT & TgH HA & F o7 72 deyg H aviF wifew)

(i) TSH HITS % WA 301 aTeN AfG H1E R AhyA
300 W 9USING § | TSH hics o1 AF 400 ¢ | et e
S 3R 8 F&AT 200 € | Il TSH oh1 Godish ity
afe e w1 Tf Hre Seam e & w9 H (1) S,
(ii) gHifewg; (iii) Reifea; (iv) T 3TeELER; (v) 31
afed e B
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BCE/D-20 26018

BUSINESS DATA PROCESSING AND PC SOFTWARE-I
Paper—BC(Voc)-106

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

e FA e T o I AT | I Fen 1 it €

1. Compulsory Question (3TFemd To7) :
(1) What is record? Differentiate between logical and physical

record. 4)

(1) Write the shortcut keys to replace the text, to create
hyperlink and to paste the text in a document in word

processor. 4)

(i) How are Header and Footer applied to a word document?

4)
(iv) Write the steps to sort data in a spreadsheet. 4)
(v) How are tables prepared in a worksheet? 4)

() Tl o B2 wifsrepa aen frfee RiE & a8 o=

HIfeIT |
26018/PDF/KD/141/Trans. [P.T.O.



(i) I€ IO H frdt g ¥ Tore dwra (gfaeenfud)

FH, TER foie Foad & a1 TR e & & o
Wicene F24 (i) fafan

(i) I SfRHe | g a1 HX fohd TR 9= fopd ST
€7

(iv) Sediie § s@ | (J(A) wE@ & =0 fafau)

(v) T B Toa (diferent) ford wehR dardt &t St 82

2.  What do you mean by data processing? How computers are

useful in data processing and in business functions? Discuss.
(15)
ST THTET § S R’ A § 2 Sl WEET a1 SANE

FET H HFRR fhH YRR ITANT T2 JUM HifS |

3. What s information? Differentiate between operational, tactical

and strategic information using suitable examples. (15)

A F T IIIH ISRV RN TAN A g TS,
IR T TOTHTTTeh Ga & HET ST hifeg |
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4. What do you mean by file organization? Discuss various types

of file organizations. (15)

IS TS O et 1 3y 22 fafi= 9oR & wsd
TS T FUM I |

5. Discuss the following proof reading features of a word

document :
(i) Spelling and Grammar.
(i) Thesaurus.

(i) Auto Correct. (15)

et o <fergie w1 frefafeaa gw Afén fadmmstt 1 avfq
T

() TfeT (adt) daen AR (TR |

(i) fERE (IE-YUER) |

(iii) 3TeI-HE= |
6. (i) What is a macro? How can you create and execute a
macro in a word processor? (8)

(i) What is hyperlink? Write the steps to create a hyperlink in
a MS-Word document. 7

26018/000/KD/141 3 [P.T.O.



(i) Hehl 1 B2 fopelt o€ WIER H =119 Hent for yhR giwa

qen foranfara e Teha €2
(i) TER foish 1 &7 THLH.-I€ TfgHe H R fow giva
HH & =IO fafgn)

7. (1) Discuss the applications of spreadsheet package. ®)
(i) Discuss the following :
(a) Primary key.
(b) Foreign key.
(c) Candidate key. (7)

(i) Sresfie Tost & STTIANT 1 0 A |
(ii) Ffafea &t == SN ¢

(37) TEAd T () |

() ®BRA HT (FA) |

(|) *UEeT &t (d) |

8. (1) Explain various Statistical functions using suitable examples
in a spreadsheet package. (8)

(i) What is the purpose of Formula Bar in a spreadsheet?

How is it used? (7)

26018/000/KD/141 4



(i) STgE IS 1 FAN Hd gU TRt Sewfe Tohe
fafy= wiferenta werl &1 9o i |

(i) foreht Tesfie H TR aR 1 F1 359 82 TR ITAN
%Y o S #2

9. What do you mean by Chart? Explain various types of Charts in
spreadsheet software. (15)

T G A9 1 P9 B2 Seviie Siwedd § el o fafy=
TR h1 IO HITT |

26018/000/KD/141 5
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BCE/D-20 26019

COMPUTER FUNDAMENTALS
AND BUSINESS DATA PROCESSING
Paper-BC(Voc)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

M Fo T T & W T T G, 1 1 §

COMPULSORY QUESTION
( 3tfFEmd u9T)

1. (1) How are informations vital for human being?
(i) Write full forms of the following abbreviations :
(a) RAM, (b) CD-ROM, (c) OMR, (d) DVD.
(i) What is a hexadecimal number system?

(iv) What is a multiprogramming operating system? Give one
example.
(v) What is the function of Windows Explorer of Windows

operating system? (4x5)

26019/PDF/KD/142/Trans. [P.T.O.



(i) 7T % fau ged e gR Aewqul §?
(i) Fr=rfafea v &ai & qof 9 fafag .
(1) W, (9) HE-{W, (W) A@ER, () Setel
(iii) TFATSTEmRT TR fawy F 772
(iv) AT STRfen fomen #1 82 U e difeu |
(v) faee smfin faen & A Taaw® &1 1 &
€7

2. Draw a block diagram to illustrate the basic organisation of a
computer system. Also explain functions of various units of a

computer system. (15)
FHrR FaHd & Jayd e &1 SREd fa Eifaw | @y g
FHrR faeen &t fafy= sohEal o wrf &1 ft 9 St
3. Elaborate technology, size and configurations of following
generation of computers :
(i) Third generation.
(i) Fourth generation.

(ii)) Fifth generation. (5%3)

Frey ®i fAfafeaa difgal @t qehdlen, TR qen fo=rg

T FUM HITT
() e e

26019/000/KD/142 2



(i) et Wit |
(iii) dTeret dret |

4. Differentiate between :

(1) Human being versus a computer system. 7

(i) Single-user operating system versus multi-user operating
system. (8)

frefafaa § o) =i .

(1) A9 9 A S|

(i) FITA-goR ATRIET foen T M Aeet-ger AR
fawq |

5. (i) Briefly explain historical evolution of MS-DOS operating
system. (7)
(i) “Operating system is a resource manager”. How?  (8)
() THATE-eE A fawy & tfaeifas fawm =t dau
T ST HIfT |
(i) ‘' SMRAET Tomen U TEmem yeiush §1'' 2

6.  Write syntax and purpose of following MS-DOS commands :
(a) CLS, (b) CD, (c) RD, (d) VOL, (e) SCANDISK,
(f) DISKCOPY. (6x2%%)

26019/000/KD/142 3 [P.T.O.



frefeiEd THTE-<eig w1 & faoem du1 32w fafau .

(a) CLS, (b) CD, (¢) RD, (d) VOL, (e) SCANDISK,

(f) DISKCOPY.
7. (1) Convert hexadecimal number (AD.7E)4 into decimal,
binary, octal and BCD numbers. ®)

(i) Add and subtract the following octal numbers in 7’s and

8’s complement forms : (7)
(a) 6745 b) 6745
+42.23 —42.23
[ ] [ ]
(i) THAEFaHe §& (AD.7E),, i Sfamd, 9, sifded
@ el gee | qikafda s
(i) Fr=fafaa sieea demsti & 7 iR 8 & T Tl |
Gﬁf@gz 3R ¥Ry
(a) 6745 (b) 67.45
+42.23 —42.23

8. Define and explain following data processing activities :
(1) Data sorting.
(i) Data recording.

(i) Data updation. (5%3)
26019/000/KD/142 4



fr=fafea e wafan nfafafei @ aftanfia sifse @ =
A1

(i) ETeT |ifem |
(i) =TT fepitemn|
(i) ST AISIA |
9. (1) What is a control panel of Windows operating system?
What all you can do using control panel? )
(i) Write a short note on Windows desktop. (6)

(i) faere smfin fawen &1 Heia Y9 1 €2 He o a
1 YA ek Y - H qhd ¢ 7
(i) TIES SWhefd W U& g feoqoft fafam |
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BCE/D-20 26020

INTRODUCTION OF COMPUTER APPLICATIONS
Paper—OMSP-BC(Voc)-106
Option No.—(i1)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Attempt any four questions of remaining eight questions.
e Fd urw g % W AN g 9. 1 A # 19w o1e
e 4§ foh=l =R gl & ST i

1. Compulsory Question (A 99 )
Answer the following questions in brief :
(i) Write the main functions of Input Unit.
(i) What are the different generations of programming
languages?
(ii)) Define the types of operating system.
(iv) What are the database management softwares?

(v) What is the concept of video conferencing?  (4x5=20)

26020/PDF/KD/143/Trans. [P.T.O.



() Y IfFe & 7@ wd e

(i) dmnfET et ot fafu= difeat sH-wa @ €2
(i) TRfET fam=n & gri &1 gRenfoa wifea |
(iv) S HAwHe Aiedad €2

(v) SFET HITHITT &I TTIRON 7 772

Define computers with its components. Explain the functions of

the components in detail. (15)
Heh! o Fied HFF HI IRIT HIFC | Fehl o HEl Hl

ErsivcERCHERCAIS I

Write short notes on the following :
(i) Operating Systems for tabs.

(1) Word processors.

(iii) Local Area Networks. (5x3=15)
frefafed w diara feooft fafea .

(i) o9 ¥q rmfen fawq |

(i) I€ FEWE|

(i) SRl TRET e |
What are the different feature and applications of spreadsheets?

(15)

deviie & faf= 70 qen STgEm SH-%F 9 €2

26020/000/KD/143 2



5. (i) What is the difference between High level and Low level
languages? (8)
(i) What are the characteristics of good programming

languages? (7)

() S=9 W qen f= W el & mem @ ST § 7
(i) STH FrtET wwett w5t wH-wE =@ e €2

6. What is an Operating System? Explain the various functions

performed by an Operating System. (15)
SArRfen fawe w72 strmfon fawew gr fmd s arer fafv=
1Al S U HIFT |

7. Define open-source software. Explain the characteristics and

limitations of open-source software. (15)
AIT-T1E GRa i YRfd hifsw | Soa-9rd ieal
] faQroareti qen HHsTi 19U Hife |

8. What is computer network? Explain the topologies of

networking. (15)

FTRY ATTh FIT 87 ATATKT HT TrAr@rst &1 FUIA

IS |
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9. Explain the following :
(1) Search Engine.
(i) Broadband Networks.
(i) Social Networking. (5x3=15)
Frefafaad &1 9uH FieT
() =9 9|
(i) FSITE ATF |
(iii) HeTAT edfhT |

26020/000/KD/143 4
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BCE/D-20 26021

LIFE INSURANCE-I
Paper—BC(VOC)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

T ¢ w/A Ule T R TE G | e 2

1. Compulsory Question ( 3Ta™ W9)
(a) What are the factors governing sum insured ?
(b) Differentiate between nomination and assignment.
(c) Explain surrender value.
(d) Explain life insurance as a collateral.
(e) Discuss policy provision. (4%x5=20)
(&) s e w Fafm #6099 wRE w2
(@) AHHIO qA GOET H SR Fasy
(M) T oA T
() Sfem o T Fewsw vhfd # T T
(¥) difcrdt gaaE 1 F9H |

2. “Insurance is able to curtail inflation, so it should be made
compulsory.” Comment. 15

YA HETE ! wE FE B GYH §, i 39 e
smavgs ©l fewoft &)
26021/PDF/KD/854 [P.T.O.




What are the various essentials of insurance contract ? 15
s erEY # fafe= (foea) eravasae F@ €2

“The policies are freely assignable in case of life insurance.”
Discuss. 15

“Sfter WET W gem W OUfer Rl ST 9 99 ehd

' o

What is risk and how risk is determined in life insurance ?
15

Sifag w1 § ot Sfam fim w qen g Sifewm &9

fruffd =@ 22

What are the various factors affecting the calculation of
premium ? 15

HfRm H AT § yaied % 9 a9 SH-%F 9 87

What are the various forms of payment of Surrender values ?
15

T qed & A & fafee gR RF-sH 9 92

Discuss the suicide and payment of insured amount. 15

AeHee R s A # gTaE #woavH w

Discuss the difference types of Insurance. 15

& fafi= g w1 9o &=

26021//KD/854 2
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BCE/D-20 26022

GENERAL INSURANCE-I
Paper—PPI-BC(Voc)-106

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory and each part of it carries
4 marks. Attempt any four questions out of remarking
questions carrying 15 marks each.

M . U e | AfEd g fEe gdE 9 4 3F
3 U9 WA H 9 R UR Y R TE T 15
Ecalico iy

1. Compulsory Question ( 1 e ¥9)
Write down 1-2 pages note on the following :
(a) Socio-economic aspects of insurance.
(b) Agriculture Insurance.
(¢c) Surrender value of non-life policy.
(d) Warranties.

(e) Endorsements and duration of Insurance.
=\ W12 o & AR fad
(F) S ® TSR -STRiE deA|

(@) Ffa =t
26022/PDF/KD/767 [P.T.O.



(1) TR-Sfreq «ftar wiferdt s Gedo|
CIREILEIET
() s=H IR dH H wE STaf)

2. Define Insurance ? Explain the principles of insurance and
how insurance is helpful in promoting economic development
in a country like India ? 15

Ei= BT e o M T 1= B O £ et s B Bl 1 e o O
INd 99 29 F ol fawm § i fRY YeR 9EEe
22

3. “Fire Insurance is a contract of indemnity and utmost good
faith.” Explain. 15

“afm Fm e ok we we-faver w1 sTE 17
U

4. Define marine Insurance. Explain the types of marine
insurance policy and their conditions. 15

TS W 1 qRefta wU SR S e % 9eRi
R STRT Tl Rl SR

5.  What is motor Insurance ? Discuss the types of losses covered
under motor insurance and procedure to settle claims under
motor insurance. 15

ey agd o | §7 Hiel S ® STid oW e
gfdl & dR H oam R @ H JEE & faw
gier 72

26022//KD/767 2



6.

Write detail note on the following :
(a) Assignment and Nomination of policy.
(b) Re-insurance and Double Insurance.

(¢) Insurance Marketing.

e W foear 9 Ale foet

(%) WfeEt &1 g SR il

(@) et SR <eq Sl

(M) srEr faqoE|

Explain the structure and operation of general insurance in

India. Discuss the growth of general insurance in India.
15

ORd H HEG S I GEAT den HEled % SR H
THIRE 9Rd H 9 S % 9 % SR o sanul

What are the different parties to a general insurance contract ?
Explain the documents required for general insurance.
15

T O S| it & fafa= ueer & IR § s
IR W= T & fAU wgE S Es #w oauie

Explain the procedure of settlement of claims under marine
insurance. Discuss the types of losses and abandonment of
losses under marine insurance. 15

S W % ST Il o MRl T URRAT HT AT
FHiSQ TS S H Tl d 9REm % aR § 9o
=y

26022//KD/767 3



Roll No. .cccveeeiieee, Total Pages : 3

BCE/D-20 26023

MARKETING COMMUNICATION-I
Paper—ASPSM BC(VOC)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No.1 is compulsory.

Each short answer question carries 4 marks. Select any

four questions from the remaining eight questions carrying

15 marks each.

o Urel Y % SR Y e | 1 e @ g

o STF U 4 3ok &1 21 99 373 yedl ° ° fohl wR
e 1 ST ST, TERT TAF T 15 3k 1 B

1. Compulsory Question (3rfamd w9a)

Short answer question :

(a)
(b)
(c)
(d)

(e)

Define Communication.

Define Marketing Communication.

Discuss briefly the modes of Marketing Communication
Mix.

Discuss benefits of Integrated Marketing
Communication.

Explain Economic Aspects of Marketing
Communication.

26023/PDF/KD/375/Trans. [P.T.O.



T ST T

() "I Hi qReIE H

(@) fauoe 9R & aRwfd w3

() fouum g9r fago & qlel &1 v § fag=a &1
(9) Uahigd faqom Tar & ol &1 faa=m &

(e.) faqom gar & onfofw weqen =+t faa=m #<|

Explain the importance of Marketing Communication in
today's competitive business environment.

AN &% gfaeaef e aere § fauue 99R % 9w
H AT W

Clearly explain the nature and objectives of Marketing
Communication.

U §9R ® WEY AR el H TR T § AT Hi

Discuss various types of Communication along with their
advantages and disadvantages.

TR % fafa= yhRl #1 SEe ®ERl SR THEE % @
foe=T &

Write a brief description of each element of the marketing
communications mix.

faom wER Ay & ys a1 v faaror faw|

26023/00/KD/375 2



6. Explain in detail the steps involved in Marketing
Communication Process.

fauom g9r giwan ® wifae 9 & fasga e w17

7. Explain the various elements of developing effective
Marketing Communication.

g9l fagum =R faswfaq w6 & fafa= awi =1 =mem
Exdl

8. Discuss the emerging issues and challenges involved in
marketing communication.

fauom R o wifne Sed geRl R s w1 faae
Exd

9. Explain Social Media Marketing along with its advantages
and disadvantages.

e Hfea faque =1 e ®ERl IR THEE & @l
T H
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BCE/D-20 26024

FUNDAMENTALS OF ADVERTISING
Paper-ASPSM-BC(VOC)-106

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All questions except Q. No. 1 carry equal marks.

e . wA Urw Y # S AN g gem 1 st 2
YT T 1 % Afaied 9t v % ofh wHH 2

1. Compulsory Question ( Ifard wy) (5x4=20)
(i) Explain sales objectives of advertising.

fomod & fashd I:9al &1 aviE &

(il) What do you mean by Social advertising?

qraTfSTeh fommoe @ emveRt s Sty 7?2
(iii) Explain any three limitations of advertising.
foqrod &1 forgl & dmreti &1 9o &
(iv) Discuss marginal revenue approach of advertising
budget.
fgRIA 9l &1 HH ST IR HT JUH HI|

(v) What do you mean by online advertising?

STH-aed fogod § et 1 S1fgm™ 272

26024/PDF/KD/1412 [P.T.O.



2. Define advertising. Explain the functions performed by
advertising. (15)
fomaa =t aftren <ifSw) foqmo gra ferw TR aTer T

U i
3.  Write notes on the following : (15)
frefafen = fewforr fafew .
(a) Types of advertising on the Basis of Demand
Influence-level.

HM-JAE-TR H MER R famm" & gaR|
(b) Types of advertising on the basis of Nature of Appeal

made.
M H YPfd & MR W A0 & THR|

4. Why are advertising objectives set? Explain the specific
objectives of advertising. (15)

formo-segal &1 = fuifa fomen s 22 fommm & fafyme
SEYIl T AT |

S. Discuss advertising as an Important tool of marketing.
fomae &1 fauoe & "ecaqul 999 % €9 § =9 &
6. Write notes on the following :
frefafed w fewforar fafern -
(a) Strengths of advertising as a Promotional tool.
Tt g9 % w9 ° fommd w1 wfem@i
(b) Characteristics of Advertising objectives in Dagmar
Approach.

SR foamum o faqmo seeal &1 fagivam

26024/00/KD/1412 2



7. What is advertising budget? Explain the factors affecting
Advertising Budget. (15)

T aste = 27 fagmua aie &1 ywifad & o g
H A W

8. What are the essentials of an effective advertising?
Explain. (15)
yaEsi faRmd &1 stfarddet &1 JuiA w11

9. Write notes on the following : (15)
frefafen w femforai fafem
(a) Benefits of advertising to the Society.
foo" & 9O i 8M aTel ardl &1 U Al
(b) Stages of communication model.

TOR Hied i fafy= sEeem)

26024/00/KD/1412 3
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OBCE/D-20 26026

BUSINESS COMMUNICATION SKILLS
Paper-BC-102

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt any four questions
from the remaining eight questions.

e : yH Hew | FEd 21 99 e WA H ¥ % WR
T99 it

1. Compulsory Question ( 1 e 9 )
Short answer questions. Explain :
(a) Informal Communication.
(b) What is kinesics.
(c) Mock Interview.
(d) Self-Development.
(e) Intercultural Factors. (5%x4=20)
T IWE WA A R
() SR TER|
(@) I 9 @ e

(31) SFEE Fiaeh |
26026/PDF/KD/770 [P.T.O.



(%) @-fomal
(&) Hipias T

What is effective communication? What are its essential

elements ? What is its importance ? 15

T HER R Fed €7 39 Hol 9@ SE-" §7 THe
F TE ©?

What do you mean by communication barriers ? Explain
different types of barriers in brief. 15

AR STeidl 9 39 N 9ued o7 faf= YR ® §eER
SR HT HWeW H A HifSU|

What is Audience Analysis ? Discuss the importance and
different types of Audience. 15

gl favev € M’ gHEd 87 sEe Hew TS
faf= weR = gmet w1 swen wifsu

What do you understand by Grapevine Communication?
What is its importance in an organisation ? Explain. 15

R TOR W STYRT F XM €7 TH TS H TH
F HEW ©7 AT Hi

What is effective listening ? What are its main principles ?
15

yqEgel e w27 su ged fage # ©?
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7. Whatis “SWOT Analysis” ? What are its main components ?
How it is useful is business. 15

‘ez favamo” 1 @ e B2 TE qEA Ueh N 87
=R § 98 4 ST 87

8.  What is meant by modern forms of Communication ? Discuss

some important forms of modern communication. 15

TOR & oM WhR W STURl o1 A B2 D
T e FIR HEFHl &1 9uH hil

9. How is cultural sensitiveness affected by cultural differences ?
Explain some of the important cultural differences. 15

Hiepfaw f=ar fore YR Aiepios Hegasierdr sl g4iad
HE 2?7 BD GOI WEhae I W YRR ey
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OBCE/D-20 26027

MICRO ECONOMICS
Paper—BC-103

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question number 1 is
compulsory.

e ;. wd uT g % s AR g "en 1 stEd @l

1. Compulsory Question ( 3TFa™ wv )
(a) Economics is not a science. Discuss. 4

(b) Distinguish between a normal good and an inferior

good. 4
(c) What is marginal rate of substitution? 4
(d) Discuss the kinds of price discrimination. 4

(¢) What is the difference between Rent and Quasi rent. 4
(%) sredome faem =t &1 == R

(@) 9 o @R e a5 & W e waEy
(1) dia R # O F R

(%) ®Hd fa9g & TR & ==

(T) A AT 3T TH 1 AR T2 Hl

26027/PDF/KD/771 [P.T.O.



Explain whether Economics is a science or an art or both.
15

s1efeme foRM © W wel W I, e i

Distinguish between extension of demand and increase in
demand and contraction of demand and decrease in demand
with the help of diagrams. 15

s &t "HeEd ¥ " &1 fowr e A ¥ gfg w
T 1 Fepdd ql WU H HH H SR T FHifC

Explain the law of equi-marginal utility. Also give its
importance and limitations. 15

T-HHa ST & e w1 =wen wifsw) 39w
®1 Hed qu g o )

What are Indifference curves? Discuss their characteristics.
15

JoLodl g F ©7 THHI fammaist i ==l wi

Explain the law of variable proportions. What are the causes
of application of this law? 15

Ted-96d STUd % W & e &l 3§ W+
A BN F T FR T2

Distinguish between market price and normal price. How is
market price determined? 15

TR FHIET AR TER FEd H IR TR HIFTU TSR
Fa @ faRor 9 fFw S 22
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8. What do you mean by monopoly? How are the price and
output determined under it ? Explain. 15

THIHR § Ut 1 AHE €2 THE S owq i
HId SR SR w1 uRo &9 fHE S 8?7 saen
HifsIT|

9. Explain the Ricardian Theory of Rent. 15
el & @ fagia &1 =men &

26027//KD/771 3
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OBCE/D-20 26028

PRINCIPLES OF MANAGEMENT
Paper-BC-104

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

A : HA G T HINY T Hew 1 siher R

1. Compulsory Question ( 3 ard wy)

(a) Management vs Administration. 4
(b) The North American Free-Trade Agreement. 4
(c) Matrix Organisation. 4
(d) McGregor's Participation Theory. 4
(e) Meaning of Communication. 4

() Ja I GRIEA|

(@) 3ada R o SR FHe|

(T7) Mg HieH|
(%) HoRITR &1 /@ H 9 o o g 4
(T) Har-=qasen &1 | 4

26028/PDF/KD/772 [P.T.O.



2. Write an essary on the contribution of Taylor in the field of

Management.

Yo & & H SR & AR W U ey fafeu)

3. Briefly explain the principles and functions of Management.
15

Yo & fOgrl 9en S S 999 o sasyl

4. What can be various types of plans in an Organisation 715
T Fen | fafi yhR T ®F-%E @ AeE 8 Hehd
87

5. What is ‘Line and Staff” Type Organisation ? In what type
of organisations this design is adopted ? Give its advantages.
15

e H ‘OET T8 W Ugid A Bt 87 fRE R
* TS | 9% UgH SR i 873U ol 1 e
it

6. What do you understand by Delegation ? Explain the
principles of Delegation. 15

Ay Hed 9 oW s 9HER B2 THeh fas
guEET|

7. Explain Principles of Leadership and Leadership styles. 15
g w1 foemumet ok Siferal w1 9w

26028//KD/772 2



8. What do you understand by ‘Communication Network’ ?
Discuss its various types. 15

‘GRYERA % S’ 9 o9 N HHSd 87 THeh o=
YFR TR

9. Explain the Monetary and Non-Monetary motivation in
promoting labour efficiency. 15

g9 wERIEE H gig § Hifh e emifge stiwRoned
% IFRH T 90 HIFST

26028//KD/772 3
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OBCE/D-20 26029

BUSINESS MATHEMATICS-I

Paper-BC-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five Questions in all. Question No 1 is compulsory.
e : P U T S G | I F&A 1 A T
COMPULSORY QUESTION
(srfrard uw)

1. Attempt all the following :

() 1fy= —— Show that x X = (1 — y) )
Y x4 dx Y )
o
(i) Evaluate : [—=dx . 4)

Jx

2x+y  x-—y
X—-z Xx+y+z

10 -1
23]

26029/PDF/KD/144/Trans. [P.T.O.

(i) Find the values of x, y, z if [



12
(iv) Evaluate: | > dx 4)

0 \/1—x

1 -2 3
(v) Find the value of x so that the matrix 21 is
x -2 3

)

singular.

fr=fafaa vyt 999 56 ST
() Ty = waf R Y = 1 - )
x+4’ dx :

Jx

a

(i) qﬁﬂﬁﬂﬁﬁ@:j\/}dx.

2 —~ 10 -1
(iﬁ)aﬁ{ﬁy Y }:{ },Fﬁx,y,za?tlﬁ

X—z x+y+z 2 8
I SIfT |
1/2 X
(iv) 99 91 HIfSC ;| dx .
0 \J1-x?
1 -2 3
(v) x &1 A9 A0 ®Ifaw a1fw A1eg7 21
x -2 3

STHATIT BT |

26029/000/KD/144 2



2.

4.

d’y dyj y
; = - - — A
(i) If y = x*, show tha 7 y(dx . 0. (7%%)
242 hen sh N o%u B o*u
, then show that Byox  oxdy

X
(i) Ifu = log (')

d’y 1(dyY
(i)zrh#ﬁﬁumﬁsgf——(—yj - =0

y\dx X
% 2
24yt o’u
(i) IS u = log , @ feamu fo Gyﬁx xdy
. 11
(i) Evaluate : [e (— - —zj dx. (7%%)
X ox
1
(i) Evaluate : [ |2x - 1| dx . (7%2)
0

(i) AF 91 HIT @ [e (——ijdx.

(ii) W 0 RIS }|2x—1|dx.
0

31
(1) If4= {_1 2} , then find f{4), where f{x) = x> — 5x + 7.

(77)

26029/000/KD/144 3 [P.T.O.



I 1 1

a B vy
By va of

(i) Prove that =B-v)(y-a)(a-p).

(77)

301
() afc 4 = L 2},ﬂ3rf(A)Elﬁ'°|ﬂﬁ|E,

TF@sf]‘()c):xszx-l-7.

1 1 1
(i) fag s fe o B v [=(B-7) (-0)(a-B).
Py yo ap
-1 7 1
. 2 3 4 .
5. (1) Express s 0 s as sum of a symmetric and skew-

symmetric. (7°%)

. 2.0 0 1 .
(i) If 4 = { } and B = { } verify that (4B)™' =
11 2 4
B A (7%)
() Tt wufaa qur fowm-wafaqa & oM & €9 °/
-1 7 1
2 3 4| w1 sl
505
20 0 1
(ii)'QﬁA=L JHQJTB={2 J,a‘rwr&maﬁmﬁ
(4B)' = B4

26029/000/KD/144 4



6.

7.

(1) Solve the system of equations x + y + z = 6;

2x—y+z=3andx -2y +3z=6. (7°%)

(i) The perimeter of a triangle is 45 cm. The longest side
exceeds the shortest side by 8 cm and the sum of the length
of the longest and the shortest side is twice the length of

the other side. Find the lengths of sides of the triangle.
(772)

() FHHIOT T x + y + 2 =6; 2x — y + z =3 qAA

X —2y+3z=6 hl A BT |

(i) Wk T39S 1 URATT 45 T € | SHRT To TR ST g
B S ¥ 8 Tt BT © TR TG A=A S a1 ™
B ST 1 AN T Yo H A At g 1 e @
13Tl i TFTg 1A P |

2x

i) Evaluate : dx. 7>

0 J(x2+1)(x2+2) (7%4)
I -1 1

@) If4={2 3 0 |,provethatd (adj4)=0. (7%)
18 2 10

26029/000/KD/144 5 [P.T.O.



2x

i Ity d

O A I(x2+1)(x2+2) ’
1 -1 1

(@ ac4=|2 3 0|, 95 HIECTF 4 (adj 4) = 0.

18 2 10
! 1
8. (i) Evaluate : [log (;—lj dx . (7%)

0

(i) Using elementary column transformations to find the

2 1 3
inverseof | 4 -1 0]. (7%)
-7 2 1

(i) A Jd HIGT : }1og(§—1jdx.
0

2 1 3
() | 4 -1 0| % HHH A B & A IRMETE e
-7 2 1

T T SYANT T |

26029/000/KD/144 6



9. (i) Evaluate: | 2; dx . (7'%)
xX“+3x+2

(i) Ifu is a homogenous function of degree #n in x and y then

prove that :
, 0u oOu , du 1
X 6)6_2 + 2xy oxdy +y 6)/_2 =n(n — Du. (7°%)

(i) W T BN : [ .

x2 +3x+2

(i) E u, x Ty | =G ;T THA B § O (95 HifST
&
o%u o*u %

2 4 2 + 12—
X 5)62 Xy oxdy Yy 6)}2

=n(n — 1u.

26029/000/KD/144 7
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BCM/D-20 26044
CORPORATE ACCOUNTING-I
Paper—-BC-301

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory carrying 20 marks. Remaining
Questions carrying 15 marks each.

FA UG YT ® S LNW Y W' 1
gfard @ Sifes 20 el &1 31 99 YdE g
15 A & 2l

Compulsory Question ( 31f-amd T97)
1. Give answers in brief :

9 o IW ST

(a) Calls in Advance

AR A=

(b) Capital Redemption Reserve Alc

TSt Sled Hed @

26044/K/305 P.T.O.



(¢) Convertible Debentures

qfEdaeie BT 93

(d) Ex-Interest and Cum-Interest purchase of

debentures.

O T @ AN Ted IR AN Gied &9

(e) Amalgamation in the nature of Purchase.
%I I Yhid I Tehishul|

2. What is Forfeiture of Shares? When and how the
shares of a Company can be forfeited? What entries

are made for the forfeiture of shares?

‘o9l 1 STed wE' HT RN Y 22 I H e 3R
4 Sed fwal ST Hehal @2 S9N ® B0 W RN
yfafteat &1 ST e 2

3. How is the discount on Issue of Debentures written

off? Explain with examples.

w0 T % i W Hdl il fRE YR srafdfed
fran ST €27 SEl 9igd WHSEY|

4. Describe the various methods for the Redemption

of Dentures with suitable illustrations.

F0 G & YA i fafy= fafusi o sfaa sEeen
Hfed 99 hifSg|

26044/K/305 2



5. What Journal entries are passed in the books of

Transferor company in case of Amalgamation?

ThIhTUT i JIM | TGN i Alcll AT i JEIohl
H o gfafted & S 2?2

6. A Co. Ltd. offered to the public 20,000 Equity
shares of ¥ 100 each at a premium of I 10 per share.

The payment was to be as follows :

On Application X 30 per share
On Allotment ¥ 30 per share

(including premium)
On First Call 3 25 per share
On Second & Final Call X 25 per share

Applications were received for 35,000 shares.
Application for 10,000 shares were rejected. Applicants
for 15,000 shares were allotted 10,000 shares and
remaining applications were accepted in full. The
Directors made both the calls. One shareholder
holding 500 shares failed to pay the two calls and as
a consequence his shares were forfeited. 200 of these

shares were re-issued as fully paid at ¥ 80 per share.

Expenses of issue came to I 10,000.

26044/K/305 3 P.T.O.



Prepare Cash Book, the Journal and the Balance

Sheet on the basis of information given above.

o o N

T wAl fafide 3 % 100 S 20,000 HHAT S
310 fd 79 WfHIH W SHAG S GEdfad R e
= g&R B e

3MEET W T30 wfa ofw
3MEe W ¥ 30 9fd et (wfgm @feq)
JUH Il W T 25 9id &
fgdta den oifem AT W 325 ufa oW

35,000 39N & faw wiefn o Wrw gl 10,000 AL
% fau emass W &l STEigd X TS TR 15,000
3T & SMERHI HI 10,000 M HT @A w0
TN qAT WY STERA T W FEUl 3eed T far T
AT 4 SEI ArEedl i A R ol T ST
a9/ 500 W €, A ArESt w U w1 e
FE U ommed WO zHe uRumEEy SEe 9l
T YO H T T TH G 200 M H T 80
gfa ofer, goiem ool # q: frima & fgam

friEa =g 3 10,000 U

SR 3 ge YANST & MUR W Uhg &I, S
den Trerfa faemor R spifsu

7. X Ltd. earned a profit of ¥ 18,00,000 for the year

26044/K/305 4



ending 31st March, 2018 after making provision for
depreciation and taxation. ¥ 2,80,000 profit was
brought forward from last year to this year. Following
recommendations were made by the directors of the

company to appropriate this profit :

(i) To pay T 1,20,000 as bonus to the employees of
the Company.

(i1) To propose dividend @ 10% on equity shares.
(iii) To transfer I 75,000 to staff gratuity fund.

(iv) To transfer ¥ 60,000 to Development Rebate

Reserve.

(v) To transfer I 2,00,000 to Deferred Taxation
Reserve. Company’s capital consisted of 2,00,000
equity shares of I 10 each fully paid. Transfer
3 80,000 from exempt profit reserve account to
surplus account on 31st March, 2018. For the
year ending at 31st March, 2018 Directors
transferred ¥ 60,000 to dividend reserve and
% 50,000 to Debenture redemption fund account.
Corporate dividend tax is to be provided at
20.358%.

Show ‘Reserve and Surplus’ in Notes to Accounts.

26044/K/305 5 P.T.O.



e fafies 3 31 O/, 2018 il TETT BH O oW
& fau 3@ 9 U AT &l FaE &EH & A%
¥ 18,00,000 &1 wrH 3fsid fwam T 2,80,000 <d
& U frod a¥ ¥ 3@ 99 ot e et s &
IRl 4 3 A % gHESH & fau fifed
fawiRel &1 .
i) T 1,220,000 99 % ®9 T HEA & wHAA
i AT

(ii) 10% k1 T T FHAT M W AT J&ATTad
Excil

(iii) T 75,000 HHAME & U=YS &I¥ d TR
FHAT

(iv) T 60,000 fohm T2 ¥99 # TENRA AT

(v) T 2,00,000 TIATG T =g | R HAT
FIOA HT A YSt H T 10 dr& T 2,00,000
aAl A9 o S foh guied o gEd o 9=
W (Exempt Profit Reserve A/c) ¥ ¥ 80,000
Ty famo & I8¥F 9@ 31 ™, 2018 Wl
Surplus Account # TEIARd T U FATch!
F 31 |, 2018 &1 THTA &4 9t 99 & fau
3 60,000 oYY §9¥ U wEARd foHar
3 50,000 RUTTA IMYA HIY H sRd fwal
T HIARS AT X & @ 20.358% i T
T FIEAT HifST|

26044/K/305 6



Notes to Accounts H ‘Reserve and Surplus’ PR

CAIS1Y

8. The Bharat Aluminium Co. Ltd. whose issued share
capital on 31st March, 2018 consisted of 12,000 8%
redeemable preference shares of ¥ 100 each fully paid
up and 40,000 equity shares of ¥ 100 each ¥ 80 paid
up, decided to redeem preference shares at a premium
of ¥ 10 per share. The Company’s Balance Sheet as
at 31st March, 2018 showed a general reserve of
T 18,00,000 and a ‘Surplus’ of ¥ 1,70,000. The
redemption was effected partly out of general reserve
and partly out of the proceeds of a new issue of
6,000, 7Y% % cumulative preference shares of ¥ 100
each at a premium of T 25 per share. The premium
payable on redemption was met out of the premium
received on the new issue.

On 1st July, 2018 the Company at its general
meeting resolved that entire balance of ‘Surplus’ and
part of the Revenue Reserves be applied in the

following manner :

(i) The declaration of bonus at the rate of I 20 per
share on equity shares for the purpose of making

the said equity shares fully paid.

26044/K/305 7 P.T.O.



(i1) The issue of bonus shares to the equity
shareholders in the rate of one share for every

four shares held.

You are required to pass necessary journal entries.

IRd Tegfafm &. fa. fSmet i IS 31 9, 2018
T 12,000, 8% TMEA AHRR A9 T 100 Ik q0I
T4 Aol 40,000 FHAT W T 100 TIH T 80 A
gftaferd, = qeETfyer sfen & T 10 9fd 9 s
wes &1 o fem 31\, 2018 R HEEAT &
Mo faed ® §m= g9 T 18,00,000 1 a3
1,70,000 1 3TET (Surplus) TR &1 IMeA AR
w0 9 WEME G99 9 9 AR ®T 9 6,000, 7%
Gt gelfeeR 319 3 100 Y& o T 25 Ufd ST
Wifem W i 9 far S em wie W 3T difgem
1 T @ g WifEm 9 qu feem SEoem

1 [T, 2018 ohi HET 7 AT WHEA 99 H gEaad
fren for wequl snfye wd stiferer ®9 9 svM w==l
H = geR 9w feaE SHoARy

G) T 20 gfa guar A9 &9 i v feew @
gHA Y YUIRd ¥ WU

(il) gHar STerfenfEn o 9fa 9 3190 9 We «i9™
A9 w1 FEA|

[l oY T o [aWa

TS el glafedal qikd il 4§

26044/K/305 8 P.T.O.



The following is the Balance Sheet of X Ltd. as at

31st March, 2018 :

Equity & Liabilities :
Shareholder’s Funds :
Share Capital :

3,000, 5% Preference Shares of

T 100 each

6,000, Equity Shares of ¥ 100 each

Surplus

Non-Current Liabilities :

6% Debentures

Bank Loan

Current Liabilities :

Trade Payables

Assets :

Non-Current Assets :

Land & Buildings

Machinery
Goodwill

26044/K/305

Amount ()

3,00,000
6,00,000

(3,50,000)

1,50,000

1,50,000

75,000

9,25,000

Amount ()

3,00,000
4,50,000
22,500

P.T.O.



Current Assests :

Inventories 65,000
Trade Receivables 70,000
Cash & Bank 7,500

Current/Non-Current Assets :

Share Issue Expenses 10,000
9,25,000

On the above date, the Company adopted the following

scheme of reconstruction :

(1) The perference shares are to be reduced to fully
paid shares of ¥ 75 each and equity shares
are to be reduced to shares of I 40 each fully
paid.

(11) The debentureholders took over Inventories and
Trade Receivables in full satisfaction of their

claims.

(iii) The Fictitious and Intangible assets are to be

eliminated.

(iv) The Land and Buildings to be appreciated by 30%
and Machinery to be depreciated by 33X %.

(v) Expenses of Reconstruction amounted to I 4,500.

26044/K/305 10



Give journal entries incorporating the above scheme
of reconstruction and prepare the reconstructed
Balance Sheet.

s fafyr &t &wft 3 fefatea qAfwion &t
IS AN i

(i) YeifereRi ST b1 =12 T T 75 A A quiden
Tehdl HY fEan STEm iR GHAr AN i ST
340 9gfd ofe1 quiden ehdr T fgam o

(i) FEorgEYRAl A Tl Ui & qul e ° wiw
AR i greret o ferm

(iii) A T 5T FHfaAl @i Tafared Y fm
ST

(iv) 9f1 Td 99 ®1 30% H G STWn qe
I &t 33% % 9 A fwar oo

(v) qAMHEIT & =TF ¥4,500 U

qAMHIOT &1 ITg AT bl @R & & AT SHaA
yfafeear wifse qen q=: fator & wv=mq w1 feufa

EEEURCEIE

26044/K/305 11
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BCM/D-20 26045

BUSINESS STATISTICS
Paper - BC-302

Time allowed : 3 Hours Maximum Marks : 80

Note :Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.
FA U YT & S INT | YR ' 1
Al 7 | 39 yeA % ik TuH T |
Compulsory Question (3TFaTd UvT)
1. (1) Define Statistics. 5x4=20
ifeaeht bl qRIYd Y |
(11) Write short note on Mean Deviation.
Ae fomer W Higw A fag |

(111) Explain Base Shifting.
59 e =1 e # |

(iv) Explain briefly the additive model of Time

Series.

26045/K/787/T P.T.O.



I WS & ufefed Afed & wWEU o
THHART |

(v) Properties of Standard Deviation.

A fa=aem & T |

2. Explain the various methods that are used in the
collection of Primary Data pointing out their

merits and demerits. 15
wafeh fafeel & "' § ST fey S Mo
fafo= el &1 AR TN IR e 1 g
Fd gL FHSAT |

3. The first and third quartiles of the following data

are given to be 25 marks and 50 marks

respectively out of the data given below :

Marks| 0-10|10-20| 20-30| 30-40{40-50| 50-60{ 60-70|70-80
Frequ-| 4 8 — 19 — 10 5 —

encles

Find the missing frequencies when N = 72. 15

26045/K/787/T 2



frafafed 2o & Teelt R Gl =qgufer s
25 3 3R 50 ek = e T g H 9 g mw €

3% |0-10|10-20|20-30|30-40|40-5050-60|60-70{70-80

gl 4 | 8 | - |19 | - | 10| 5 | -

JTUfed Al s YT e Sd N = 72.
4. (1) Daiscuss the specific uses of GM and HM. 5
S 3R TawH & fafere swm W=
F |
(11) If the price of a commodity is doubled in the

period of 5 years, what 1s the average

percentage of increase per year ? 10
afg fordl % &t SEa 5 a4 & @Y H
I B S ®, @ ufd 99 gfg w1 eia
yfaerd = 2 2

5. For a group containing 100 observations, the

Arithmetic mean and Standard deviation are 8

and V10.5. For 50 observations selected from the

100 observations, the mean and standard

26045/K/787/T 3 P.T.O.



deviations are 10 and 2 respectively. Find the
Arithmetic mean and Standard deviations of the

other half. 15
100 3Tl ol g o fou, Shfurda Are
SR W foger § 3R V10.5 € 1 100 el
A o =ata 50 STEciAl & fau, iEd &R A
faee™ wa9: 10 8 2 € | W oY &
HAPOT  Wem IR WHEe  fomed &1 udn
T |

6. What 1s Index Number ? What problems are
mvolved in construction of Index Numbers ? Give
different formulae of Index Numbers and state

which of these i1s best and why. 15

gkl T 91 € ? 32 A & fmio o @
T I € 2 $e Hed & fafu= wigd §
3R oW fF T8 ¥ ®H 9@ TeW =9 ¢ 3R
Fi |

7. Construct the fixed base and chain base Index

Numbers from the following data : 15

26045/K/787/T 4



fefafed 2o 9 Fived emuR #R 99 snenfia
seod Aay a1 fAafor i

Price (Rs./Unit) A (%./3HE)
Commodity | 1998 | 1999 | 2000 | 2001 | 2002

I

A 4 6 8 | 10 | 12
B 16 20 | 24 | 30 | 36
C 8 10 | 16 | 20 | 24
D 8 10 | 12 | 15 | 18
E 4 5 | 18 | 10 | 12

8. What do we study and analyse in the Time Series
Analysis ? Describe the least Square method for

determining trend in a Time Series. 15

IEH GWHS favemm W W s e SR
fIveoo & © ? g S90S o T o fauim
& & T gag &9 o fafy w1 gofa X |

9. Calculate trend values using 4-yearly moving

average from the following data :
fafafea stirel 9 4-aiftier qfam RS w1
ST+ ¢ G 1 UM B

26045/K/787/T 5 P.T.O.



Year |[19951996(1997(1998(1999|2000 |2001|2002|2003|2004
et

Sales
(in Rs.

crores)

fomt | 7 | 8 | 9 |11 10|12 | 8 | 6 | 5 | 10
(g

T H)

Also plot Trend values and Actual values on the
graph paper. 15
TWE TR W T dcg R dRdfas qodi i off
<YMsy |

26045/K/787/T 6



Roll No. .cccveeeiieee, Total Pages : 3

BCM/D-20 26046

BUSINESS LAWS-I
Paper—-BC-303

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt five questions in

e

all. Select four questions from the remaining eight

questions.

T Hed | e @1 g e el & Swdfe)

Y 78 YA H ¥ fH=l 9’ uvEl & S i)

Compulsory Question (3Tﬁl7=|'l'€f qI)

Answer the following in short :

g o S e .

(a)

(b)

(c)

(d)

(e)

What is meant by coercion?

Safigd 9w fquE 2

State various agreements expressly declared as void.
Ted; g uifvd fRT MU SEwEl w1 9=l Hi
Can a minor be appointed as an agent?

F TH ATIEh i Tee ga fwmA ST "R @2

Describe the Circumstances when a surety will be
discharged from his liability.

9 wA-d offeefi € @ gfey o <fr W@
R B STl ©?

Distinguish between Sale and Agreement to Sell. (20)
faea don faa & Ie@ § =R Hife

26046/PDF/KD/1514 [P.T.O.



2. Explain the essentials of a Valid Contract. Also distinguish
between Void and Voidable contract. (15)

Tk SUITeh ST % YOE ARON k1 e Hifeu) oef
AR A erel & " R Hife

3. Define Consideration. Which agreements are contracts
even though without Consideration. Does an agreement
become void merely because consideration is inadequate?

Give reasons. (15)

gfawel 1 aRem few) 9fded & 9 'R W A w9
TOEid ST €7 F hdd FYAT YAhd & FH b HRT
Y & T gHAM 9 B Hehdl 27 TR HifS|

4. What Constitute performance? Explain the law regarding
the person by whom the contract must be performed?
(15)
Iy H1 AR o B? ey w1 froaeA fh st
g T S =nfew Gafya fom i saren sifse?

5. What do you understand by contracts of Guarantee?
Distinguish between a contract of indemnity and that of

guarantee. (15)
yfaafa erarei @ oy o gue 2 w @M ST den
gfaqfd sTey ¥ TR ifsul

26046/00/KD/1514 2



6.  What are the essential elements of bailment? Explain different
kinds of bailment. (15)

89 & orevae dww w27 e % fafie yen
T AR HIfSU|

7. Explain the term Delivery and state the rules regarding
valid delivery of goods. (15)

TEM IR i A HIGY G A Hi oY FOEW 9
Hafya a1 sqaEu

8. What are the remedies available to buyer and seller at the
breach of contract of sale? Discuss. (15)

fosha oery & Ted fhd WM T shal qen fashal &1 -

Y STER Iversy 82 fae=m sifsu

9. What do you mean by consumer protection? What are the
various type of consumer exploitations? (15)

IR GO w1 o A 77 Iuien oo & fafa=
T HHE-9 7

26046/00/KD/1514 3
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BCM/D-20 26047

COMPANY LAW-I
Paper - BC-304

Time allowed : 3 Hours Maximum Marks : 80

Note :Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.
FA U I H S AUT | YT EWEA 1
A € | 9 9 el & ofh WAE T

Compulsory Question ( A 97)

1.  Write short notes upto one page on the following :
frefafed W wh ge 9w feoiat
fafea

(1) Company 1s a separate legal entity.

Elucidate. 4

FU Tk YU oMl Gl € | W

Sifeu |

26047/K/306 P.T.O.



(1) How many maximum number of members

can a private company have ? 4
Teh Tt et 9= &l 3ifYshad T
ferat 31 TWehdt © ?

(111) What are ‘Article of Association’ ? 4
arig SafTEe @ e 2

(iv) What is letter of Allotment ? 4

e 9T FM T ?

(v)  What is share certificate ? 4
Y FHIOT-T A Bl § 2
2. What do you mean by Lifting of Corporate Veil ?

In what circumstances the corporate veil 1is

lifted ? 15
i STeor & STHERul § STUeRT = AT
22 T ufifeorfaal & 98 el &2 dahar 22

3. Define a promoter and discuss his legal and

fiduciary position. 15

Yader 1 GRYIMNG HITTT qon 39kt e aen
forgarafara frafa i fag=m sifsw |

26047/K/306 2



4. Discuss the importance of object clause of
memorandum. When object clause can be
altered ? Explain the procedure of alteration of

object clause. 15

qrg HHIEH % I5¢d AR hi Hawd ol foel=l
HIfT | 32T a9 H URadd e forar S Tehan
2 ? 329 9 H Uftedd w1 gfeRAn w1 guie Y |

5. Define prospectus and explain its contents. Under
what circumstances company need not to issue

prospectus ? 15

JfaeRoT sl YRYMT HISC TN TGh el 1 0
wifse | fop ofifeufaal § e w1 gfgero
frifoa s ot AEvashar 81 it ?

6. What 1s share capital? What 1s its nature?
Explain the different forms of capital. 15

Ferdsht o 82 TEh! Uepfa @ B2 deh & fafv=
YhR| 1 o0 HifSd |

7. Write meaning and characteristics of debenture.

Explain different types of debenture. 15

26047/K/306 3 P.T.O.



HO-UF i IRV Ug faviwae fafew | fafi=
YR & RT3 il THSRET |
8. What is meant by transmission of shares ? What

are the statutory provisions regarding

transmaission of shares ? 15

3t ® TR w1 FN AWMU B ? Sl B
Ll © Gefed Jfieh yrae™ @ ® ?

9. Explain in detail, the borrowing power of a

company. 15
Ush HHAT ki RO T Hl Al w1 fawga
T i |

26047/K/306 4
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BCM/D-20 26048

INDIAN FINANCIAL SYSTEM
Paper - BC-305

Time allowed : 3 Hours Maximum Marks : 80

Note :Attempt five questions in all. Question No. 1 is

compulsory.

A TE T H IW LNT | YT & |
e § |

Compulsory Question (3TFard UvT)
1.  Write short notes on the following :

frefafed ® sk AR fag -

(1) Imitial Public Offering (IPO)
SRk WreSIfeh TMRIT (STEUIS)

(11) Certificate of Deposits (CDs)
ST GHOTIS (HiEh)

(111) Foreign Currency Convertible Bonds (FCCBs)
foa=et g1 uRad+a o€ (FCCBs)

26048/K/768/T P.T.O.



(1v) Automatic Teller Machine (ATM)
wefera e weie ()

(v) Non-performing Assets (NPAs).
A-WHIHT THEH (NPAs).

2. What 1s Indian Financial System? Discuss the
significant developments in Indian Financial

System.

IR foxit yomelt @1 ® ? WRdE fasi womedt
% HEequi foehmal W ==l Y
3. Distinguish between Money Market and Capital

Market. Explain the latest developments in both

the markets.

31 SN 3R Yol SR & s {a | <A1 oo

Y Jataq faema i = |

4. What do you mean by Primary market ? Discuss

the main Problems of Indian Primary market.

T SR 9§ S9e R aed © 2 9RdE

TAfHE IR il T&T qaeell W == & |

26048/K/768/T 2



5. What 1s the Secondary market ? Discuss the

procedure to deal in Indian Secondary market.

YUy dNR R ¢ ? Seved Aeafie aeR o
e & foau ufsean W ==i = |

6. What is the SEBI ? How SEBI is protecting the

interests of investors ?

Tt 1 © 2 Get vl & fEdl T W 9 Y

@ e ?

7. Define Credit Creation. How do commercial

banks create credit in the economy ? Discuss.

wfee fmfo =1 oRwfg X | afoifes 9% 9
srefereen ¥ $fee o9 € 2 9= &Y |

8. Define the term E-banking. Describe different

ways of doing E-banking. Also discuss the
1importance of E-banking during Covid19.

-dfRT ws i R &Y | ISR @
fafiq=r Tl &1 auH # | Covidl9 & IRH
S-ofRT & HEd W W == A

26048/K/768/T 3 P.T.O.



9. What do you mean by a Development Bank ?
Discuss various recent developments in

Development banking in India.

fehTg o § o9 1 Af99™Y T ? 9RG o

ot dferT o =iferan foespral o ==t Y |

26048/K/768/T 4
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BCM/D-20 26049

RURAL MARKETING
Paper—BC-306(1)
Time allowed : 3 Hours Maximum Marks : 80

Note :Attempt five questions in all. Question No. 1 1s

compulsory.
A U Y ® S AUT | Y FHEA 1
Ao T |

Compulsory Question ( A 97)

1.  Write short note on the following : 5x4=20
= | oY e o

(1 Main problems faced by rural marketer.

0T fq9oehal & 9HH & TS |

(11) Role of cultural factors in rural consumer

Behaviors.

IO IYATRAT HFaeR H Hhidedh HRehI

qfHenT |

26049/K/307 P.T.O.




(1) Factors affecting Rural marketing mix.

TrTor fogque fasror st gaifad e a1 da

(iv) RFID
AR TH 3E €

(v) E-choupal.

-4 |

2.  Define Rural marketing. Discuss the factors

which attracted the marketers to rural India. 15

ror fauuE st gitamer {fST | 39 Wt el
&t o9 R S foguEeRdietl sl UHIUT 9RA i
W AR L 2 |

3. What 1s Rural marketing environment Why do

marketers study rural marketing environment.
15

o faquE ardeRe s 2 faguEeRdl arEio
U ATAeRT 1 31EE & 9 © |

4. Define rural consumer behaviour. What are
difficulties in understanding rural consumer

behaviours Give examples. 15

26049/K/307 2



TTHOT U FEeR hl GREMST e | ATHOT
SUAT SRR hl HHEH W N gHET © O
IR0 ST |

5. Discuss various bases of rural market

segmentation with suitable examples. 15

UK 3SR Wed U iR faffeaentor =
SMUR} &1 AT A |
6. What is rural marketing mix ? Design a rural

marketing mix for any consumer durable and

justify your answer. 15

urtor faque fagor = § 2 fordl off T SuHieE
ferrs Sag & fau uwiw fogom fasor <

fegT L 9o 3799 SO hl T HT |

7. What 1s personal selling ? Discuss qualities of a

good sales-man in rural market. 15

ferTa fashd 01 € 2 b o= fashaeal & o

1 TTHOT IR i e 9 FUH He |

8. Write a detailed note on various initiatives taken

by Government of India in rural markets. 15

26049/K/307 3 P.T.O.



THOT IR 9RAE SRR g 37991 W
fafir= gl W T Aie fag |

9. What 1s e-commerce ? What are the benefits of

e-cemmerce in rural marketing ? 15
S-Hmd = 8 ? U SN B S-hmd B
g T2

26049/K/307 4
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BCM/D-20 26050
FOREIGN TRADE OF INDIA
Paper-BC-306
Opt.—(ii)
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.
FA U YA & ST WU G HE@a 1
Hffard 21 9 9yl ® &% wEH T

Compulsory Question ( 31f-amd T9)

1. Write short notes on the following : 5x4=20
frefafea W gfra femfort fafew

(a) What are INCOTERMS?

gIhic N el ©?
(b) Special Economic Zone (SEZ).
fovre snféer e

(c) What do you mean by Licensing and Franchising?
Medfan Td el @ emd A gWed @72

26050/K/308 P.T.O.



(d) Letter of Credit.

e 97|
(e) Special Drawing Rights (SDRs)
[ENLEEE Esu e Beatd

2.  Elucidate the main features of Indian Foreign Trade.
What types of problems are being faced by Indian
Foreign Trade? 6,9

IRaE faselt =R &t ge fovmaet & e
HISY| IR foset =R fFe YR &l quemeti &1

qT R @ @2

3. “Choise of Entry Mode in Foreign Market is a strategic
decision for International Business Unit.” In the light
of this statement, discuss the various modes of Entry

into International Business. 15

“ AT ARG Thle 1 O3 6K & Fa9 &
T 1 W Tw gEife ol ®17 39 odeH &
AMYR W AR AR § Yo & fafg= @l W
foam famst sifsm)

4. Explain in detail various methods of Payment in

International Trade. 15

IR AR H aH & fafa= aleal &1 fa@r
9 Al SISl

26050/K/308 2



5. What is the concept of New Product Development
in International Marketing? Explain in detail the
various stages in the process of New Product

Development. 3,12

IR AR H F9-3ca1g fahtd &1 ATIRON =1
27 da9-3cue fawrg &1 gfewan w1 fafua= srewensyy
&t fomr 9 =arem wifsu)

6. What do you mean by EXIM Policy? Discuss main

objectives and features of New EXIM Policy
(2015-20 A.D.) of India. 3,6,6

smara-frafa ffa 9 o9 1 g9s@ 22 9Rd &+ 15
saa-fata ffa (2015-20 3.) & &7 3IT¥I a4
fagioareti W fomm famst wifsu

7. What are Special Economic Zones? State the
incentives and facilities offered to the Developers
and Business Units in Special Economic Zones.

3,12

fogiy oféer &3 1 B ®? foviw ofdes &% o
fasTaeRaten qen AR SHEA I UM i SH arelt
T qA glawet hl Fasul

8. What are the eligibility criteria for Star Trading
Houses? What benefits are available for Star Trading

Houses in India? 6,9

26050/K/308 3 P.T.O.



&N AMRE [ % U Uea-AFgUe @ 87 9Rd
T ®R =i e & fau siA-on @ glaund sues
2?2

9. What is IMF? Indicate the main Objectives of IMF.

Has its membership been beneficial to India? Explain.

3,7,5
HAET 1 wIW F1 €7 FAUEE X W H A
3eYd AU 1 % GS&dl YA & fau e

W ®? A HIfSU|

26050/K/308 4



Roll No. .ccoovvniiiinnn. Total Pages : 3

OBCM/D-20 26062
DATA STRUCTURE

Paper—BC(VOC)-305

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.
FA U TN ® W SN TR e 1
Afqard 21 99 gwAl ® Fw wAH 2

Compulsory Question ( 3fard 9v)

1. (a) What is Data structure? Give examples of Linear

and Nonlinear Data structure. 4

221 G R 27 Waw 3R SREE B WEAl
H1 3SR I

(b) What is Stack Data structure? Where is Stack

used in Data structure? 4

OF B WEAT M T? S T ° WE Hl
ITANT Fel e S 22

(c) What is Double queue and its advantages? 4

el HAX F T N THR F HES B2

26062/K/1040/T P.T.O.




(d) What is Circular linked list and its advantages?
4

TRTT T I g A 7 SR sHE F WS <7

(e) What is the difference between Data structure

and File structure? 4

gt WA SR WA % W A iR 22

How do I find the address of a 2D-array? Find the
address of this array row-wise and column-wise--10.
10

&I 2D-FRO 1 Tl A fHerm? dfe-ar SR HiaH-aR
10 1 Tl Y

Write an algorithm to insert Data in a Queue. 10

T Hhal H Yl GHfad w8 & T T sed oty
fafem|

Write an algorithm to insert Data in a Singly linked
list. 10

gt skl farett foree =t H wftfad @ & fau
o fafy fafen)

What are the types of Files used in an Organization
system? Explain Sequential access file Organization

in detail with advantages and disadvantages. 10

26062/K/1040/T 2



Tsh HM3T gumelt H IYAT hi SH dicll HEal fhd
TR ! BIdl B2 3TIh{leh U ®Ed WIS &1 ov
& B wfed fowga =men s

6. What do you mean by Multilist file Organisation in

Data structure and its advantages? 10

gel WAl 3R 3% BRR SggEl WA Wi 9§
YR FN AU 22

7. What are the advantages and disadvantages of Indexed
sequential access file organization and its architecture?
10

ATh e THIE HEA GTed IR THH! argehell &

TR SR JHEH N R?

8. What is Circular queue? Explain it with the help of

example. What are its advantages? 10

g AR F 87 TH IS0 hl ASE U HHAET
TP F AT &7

9. What is Static and Dynamic Data structure? What

are properties of B tree? 10

frer 3R fasfiar gt o= @ 22 st & &
o7 ®?

26062/K/1040/T 3
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BCM/D-20 26063

FUNDAMENTALS OF DATABASE
MANAGEMENT SYSTEM

Paper—BC(VOC)-306

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is
compulsory. Rest questions carry equal marks.
FA U= YA & ST WU YA HEa 1
Afard 21 T T & Nk TUE R

Compulsory Question ( 3ard 9yT)

1. Answer the following questions in brief : 5x4=20

freafafea gvat & dferg s fafem

(a) Write short note on Network model.

Jeaeh Hied W Hiww e fafau)

(b) Explain the difference between :
= ® FAR H WE FHIWC :
(1) Entity and Attribute

e AR fagivan

26063/K/853/T P.T.O.



(i1) Entity type and Entity set.

ShHE YR AR THE 92|
(c) Explain the use of Break clause.
Sk FAS 1 IYAN TS
(d) What do you mean by Update anomaly?
oA fodmfa @ o s SifwE @2

(e) What is View? Explain the advantages of view.

TSI R @27 SIRT &% eSSy

2.  What do you mean by DBMS? Discuss in detail the

role of a Database Administrator. 10

SIHTHTE 9 3R] 1 IR 2?7 Sy ST
& qfiRl & 9) H fowr ¥ == wifN

3. Take an example where relation is in 3NF, but not
in BCNF. What problem may occur in insertion,
deletion and modification in this table? Suggest

possible solution of these problems also. 10

T IR AU ST Ga" 3NF H §, oifhd BCNF
¥ I8 21 39 difeeRr § yfafte, oo st e o
N TES T TR ©7 T Gl & 9vd §HHE
ff gemsu

26063/K/853/T 2



Explain E-R model using suitable example. 10

SYYTH IMEUT I SYAN Hich 3-3AR Hied Sl A

hifTa|

Explain the concept of Functional and Transitive

dependencies with example. 10

IR F WY FAHS AR GhHe A &
AIYRON h! THATSU

What is a Package? What are its important
components? Create a package and explain its

working. 10

Uohsl M1 27 TP WUl ek M T2 Tk U
ST 3R 3G w1 B AR HIfSU

What is Database link? How do you create Database

link in another schema? 10

2o fole 1 @2 379 frdl o/ @l § oeg

ok &9 T ©?

Describe DML statements with example. 10

ITEWT & 1Y SUATA dIF ki guF  hifeq|

Explain Oracle architecture. 10

SRS SEehell hl SHATEAT <hifSIU)

26063/K/853/T 3
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BCM/D-20 26064
OFFICE PRACTICE AND COMMUNICATION
Paper—-OMSP-BC(VOC)-305

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is
compulsory. Rest questions carry equal marks.
FA U YA & ST WU YA HE@a 1
Aard 21 T T & Nk A R

Compulsory Question ( & 9yT)

1. Write short notes on following not more than one

page of each short question :

fefafed s dfaa 999 W Tk I8 | ATy
Hferd ST W@l <ifST

(a) Centralization of Office services 4
FTATCTT FAST R He IR0l
(b) Decentralized filing 4

o )

fehsioha TR Ieh ol

(c) Accounting machines 4
N oy

26064/K/1208 P.T.O.



(d) Malware protection 4
HTeTaoR et
(e) Biometric attendance machine. 4

Stafida 3ufafd weiE|

2.  What do you mean by Decentralized Office? Discuss
the importance of Decentralized Office. 4.6

fashsiohd sl © MUl 1 dicqd 82 fashsiopa
FEEI % He™ H JUH wHifaCl

3. Discuss equipments required for Vertical Filing

system in an Office. 10
FEE | MY EEM TSia 8q SAavdh SUHRN &

U it

4. What is a Dictaphone? How is it useful for Office
Manager and one’s Secretary in Modern office? What

is the future of Dictaphone in paperless office?
2,3,3,2

gaaraes a4 N B2 SR wEied I8 SEied
TeuE Ul IS GfEd 2q A ST B2 re-UEd
AT W YA I k1 F qfas @2

5. Evaluate the use of Duplicator in an Office. What is
the utility of Duplicator in Computerized office in
future? 10

26064/K/1208 2



SR H Sgafdfafuehol I & IYAM h Hodlhd
HifSe| Al shgedichd e | agufdfafunior 43
w1 T ST #?

6. Discuss Communication skills required for Telephone
handling in Office. 10

FEed B QAT HAeH 8] STAvIsh YT IS
U HIFST)

7. What is Computer Hardware? Name and explain

Hardware components required in an office. 10

FHR TEAR FN B? FHEGI T AHaE BETR
SYHLN 1 AMHCE B o HTHSISU|

8. Explain the importance and application of Word

processor in an Office. 10

T wEfdd H Ye5 WEEE T Wewd ST STIuA
HHHART|

9. “An Office may be regarded as place where control
mechanisms for an Organization are located.” Comment
and describe important of a modern business office.

5,5

“SHEEE TE TAM WM ST Gehdl § W@l HUST ohi
Jhier feog 21" 3@ wed faa=ar &IfST den
3MYfeh ATTHIS HATAT & HE hl qUH hiaC

26064/K/1208 3
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BCM/D-20 26065

TYPEWRITING THEORY (ENGLISH)

Paper-OMSP-BC(VOC)-306

Time Allowed : 3 Hours] [Maximum Marks : 60

Note :

1. (a)

(b)

(c)

(d)

(e)

Attempt five questions in all. Question No. 1 is

compulsory.

(aWa

FA U YA & ST WU YA HE@a 1
SIECIDEY

Compulsory Question ( & 9vT)

Explain Erasing and Correcting. 5x4=20
fiem iR di% & H HHEmEU

Write a short note on Squeezing and Spreading.
fape iR Tae W TH Hiew feoeh fafey
Why stencil is important?

g #f w22

What is Carbon Paper?

HEH TR F 22

Write the role of Eraser shield.

SR Iee &1 o fafEm)

26065/K/1041 P.T.O.



What is Stencil? Explain the method of Stencil cutting.
10

Sfgar 1 2?2 Lfga wfen # fafy =1 saren st

What steps should be taken to make use of Carbon
Papers? 10

FHeA YR H1 TN i 999 fora-fha =on &1 &=

[T =Afgu?

What is the difference between Duplicating and
Copying? 10

TEUfdfeigentor iR gfafefyentor o s e @2

Write a detailed note on the Classification of Carbons.

10
FET @ ROl W Tk fosga fewoh faf@m)

What do you mean by Stencil duplicator? Explain in
detail. 10

(a

S gl & ar 9 & SHd €2 foanyde

fafem)

Define the different ways of Correcting Errors on

Stencil. 10

26065/K/1041 2



aa d T aeft WIfgd @l 3 i d fata=
fafti &1 9 wifsu

8. Write short notes on the following : 5x2=10
frfafed w w@faa fewfet fafew

(a) Use of Eraser

TR R SUIN

(b) Use of Correcting Fluid.

RS HifRI 1 ITM

9. Write a letter to M/s Webcom Computers, Sadar
Bazari, New Delhi for the supply of 100 Computer
Moniter of Acer @ X 5,000/- each 100 keyboards of Acer
@ T 3,000/- each, 100 CPU (Pentium-4) of Acer @
¥ 10,000/- each and 100 pieces of optical mouse @
¥ 1,000/- each and send a bill including GST &
Freight charges. 10

El'{:lﬁ Webcom Computers, " dININ, :I_Sc faoett =t
100 ShegeX HiHX I&% T 5,000, 100 FHl &S Tk
33,000 ¥fd CPU &% T 10,000 T8 100 A9 Yiah
31,000 % feqe 9 29 & fau iR S foor o
GST R =& fwuen ot wifte ® & fom o fafey

26065/K/1041 3
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BCM/D-20 26066

FIRE INSURANCE
Paper—BC(VOC)-305
Time allowed : 3 Hours Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is

compulsory.
A AT T & I ST | 99 Fe 1 3iferd
g |

Compulsory Question

1. Describe the following in reference to fire

Insurance policy : 4x5=20
fq o diferdl & §ed d fr=fafed o1 9ofa
Cag

(1) Conditions of fire insurance policies.

AT e aiferst i o |

(11) Steps in rate fixation in fire insurance.

AfF otm § RN F[YRor & =107 |

26066/K/555/T P.T.O.



(111) Procedure to settle the fire insurance

claim.

A <\ @ i fued st ufswan |

(iv) Describe the period of fire insurance

policy.
AR &9 Gt sl AATY ddEy |

(v) Legal issues in fire insurance.

1A o o & 1R

2.  Explain the concept and features of Fire
Insurance Contract. What are various risks and

hazards covered under it? 10
BRR SPARY hi<ae &l YN R fagiang
JAW| TES Idid M oo fata= SifEw o7
TR FM T ?

3. What 1s the Procedure to insure the property

under fire insurance? Explain in detail. 10

AT & & ded Wufd h1 AT H hI AiHA
w1 ¢ ? TaaR 9 e s |

26066/K/555/T 2



4.  Write notes on : 10

= A fag

(1) Principle of indemnity.
gfayfd =1 fagia |
(11)) Start-up expenses under fire insurance.

AT &M & ded WrR-34 T |

(111) Losses excluded under Riot, Strike and

Malicious damage cover.

M, Tedd SR gafaAgul eifq weR & ded
HIERUESEEEI]

5. Explain the following in brief : 10
Heg ¥ fefafea &t e #Y

(1) Progress of fire insurance in India.

TRd | AT W =t gafa |

(11) Reinsurance and Double insurance.

ST SR <eq S |

(111) Standard Peril policy Renewal of fire policies.

O Gahe Hifd, A giferdt o1 diienor |

26066/K/555/T 3 P.T.O.



(iv) Principle of Proxa de causa.

Ui © hiEl k1 fagia |

6. Identify and briefly comment on Four (4) factors
that influence the rate charged for fire insurance
on mercantile or industrial building. Also discuss
the use of Deferred Payment clause. in fire
policies. Identify the type of risk where the most
common example of deferred payment clause is
used. 10

AN SR Had H =R (4) FNE W) feooh #
S HeheEd A1 SfEifieh qad W A o & fau
S 1 TS B GAIfEd e &1 WER uifed o
@ e FArel & SR W == &L |

SfgY & YhR HhI Ye9H H S8l H99 3T

A PaE FArs bl ST 3Zeoned fohar S
g

7. Describe the practice of fire insurance in India
regarding coverage of loss by fire and other perils
included in ‘Standard Fire and allied Perils
Policy.’ 10

26066/K/555/T 4



‘e WRR TT IerEe Uie uifedl’ § enfae
M 3R 39 Tall § JhEH & hosl & o) o
ORd | AT &9 & I 1 JUiF R

8. Can Fire Insurance Policy be assigned ? Mention
the probable reasons for it. With respect to the
Residential Basic Form, explain the purpose of
the Coverage Summary and how it achieves the

purpose. 10
N HPR ARG difad 9fdt S geRdt 87 39
qqifad &ROT 1 oo e (SEREa dfaw
T & HaYy o, FHekel IRV F ITWT H A
FX IR I8 Y I h W BT T |

9. Explain the following in reference to Fire

Insurance : 10

HRR 3YIRY & geof ° f=fafed sam

(1) Any two types of fire insurance policies of

GIC
et i W T GER i AT &

qiferd

26066/K/555/T 5 P.T.O.



(11) Inspection and termination of coverage.

Shats sl TO&0T SR g |

(11) Hazards not covered.

G 1 HeR F&I fohal T |

26066/K/555/T 6



Roll No. ..cooveveiiennn. Total Pages : 4

BCM/D-20 26067
INSURANCE BUSINESS REGULATIONS
Paper—BC(VOC)-306

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is
compulsory. Rest questions carry equal marks.
A U YA & ST WU G HEa 1
Afard 21 T T & Nk TUH R

Compulsory Question ( & 9yT)

1. Write short answer on the following : 5x4=20
frefafed  dfaa 3w Sy

(a) Duties and powers of Controller of Insurance

under Insurance Act, 1938.

o Afufa|, 1938 & A & fEsw &
haed S wIfeREl |

(b) Functions of the Life Insurance Corporation

under its Act.

Afufm = fdld Stteq & e & s

26067/K/854 P.T.O.



(¢) Micro Insurance.

GERECIE

(d) Scope of Motor Vehicle Act, 1988.
WX A AfYFEH, 1988 1 IRAN

(e) Salient features of Employee State Insurance
Act.

FHA ToF &m ifufem @ gem fawivan

2. Discuss in brief the provision of IRDA Act, 1999
regarding composition, duties, powers and functions

of Authority. 10
IRDA 3TfefTad, 1999 & YEu™i & d8d IRDA &
TS, hdedl, ieaal 9o w1 Gie guiE
ShISTq |

3. Explain in detail Licensing of Insurance Agents under

the provisions of the Insurance Act, 1938. 10

S TfufTad, 1938 & 3 &l Usie & sy
Tl WA Rl o0 ShifIg|

4. Define the Audit and Supervision. What are the
provisions of Insurance Act, 1938 regarding Audit

and Supervision? 10

26067/K/854 2



afereor qen fAeror i gRafyg swifsa s sifafem,
1938 37eheTul den &I el WEe hl SRS

hifsTa|

Explain in detail the satient features of Life Insurance

corporation of India Act, 1956. 10

ARG Sftad d Aft=m, 1956 1 9q@ fovvaret
%1 fawga auiv wifsu

Explain the important features of Export Credit and

Guarantee Corporation Act and its significance. 10

fafd /o R RS frm efufem a5t mewgl
oot oIk s Wed * GHSEy|

Explain the need and importance of Consumer
Protection. What are the main elements of Consumer
Protection Act, 1986 ? 10

SURHT TRETUT hi 3TEYTehdl g Hewd ol ANl hifu|
SUNRRT ERET ARIfTEE, 1986 % YW WEHH N E?

Explain various types of Marine Insurance Covers

available under Marine Insurance Act. 10

sl S oifufm & oidta W B 9 fafue

Sifey | 9o shifsa|

26067/K/854 3 P.T.O.



9. Write notes on the following :

frefafea w fewfir fafew

(a) Insurance Ombudsman

EIEIRSIE RIS
(b) Motor Vehicle Act, 1988.
X geq rfafTam, 1988.

26067/K/854 4

10



Roll No. ..cooveveiiennn. Total Pages : 3

BCM/D-20 26068
ADVERTISING MEDIA
Paper—-ASPSM-BC(VOC)-305

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.
FA U TN H W LN TR e 1
Airerd 21 9% T & Ak GHE R

Compulsory Question ( 3fard 9v7)

1. Write short answers of the following : 5x4=20
freafafea & wfiya 3@ fafen

(a) Rational Advertising

IEELCCSMERIEE]

(b) Green Advertising

HIGIERIEE

(c) Media Frequency
Hifear smefa

26068/K/855 P.T.O.



(d) Press Conference
T g

(e) Exhibitions and Mela as an Advertising tool.

T fommoa Wiegw % ®9 H O YSuiE U9 Henl

2. What do you mean by e-advertising? Discuss the

advantages and disadvantages of e-advertising. 10

oo o emuem e eifwu ©2 d-femmd & T
s I w1 U wifu

3. Explain different types of Advertising Medium. 10
fafy= 9r & fagga weadi &1 auie sifs)

4. What do you understand by Print Media? What are
its various forms? Discuss the merits and demerits
of Print Media of Advertising. 10

fie ifer 9 =9 w0 guzE 22 fUe difew & fafa=
®Y -9 B2 THH TOT 9 IOkl au iy

5.  What do you mean by Broadcast Advertising Media?

Explain Television as an important medium of

Broadcast advertising. 10

RO foamaq ifear @ ey @ gHe €2 fafasH
Sl GERY fORMT & HEqUl HIEAH o ®9 H A

HifT|

26068/K/855 2



6. What are the challanges in Rural Market advartising

in India? Explain in detail. 10

IR a9 o U SR e B famree "ot it
SA-H €27 fomga =mEen sty

7. What is Media Planning? What factors should be

considered while framing Media Plan? 10

Hifea faeE § 1 ety g2 difew e &

Tqg fpa-fea @l & &= § @A =nfeu?

8. What is Media Scheduling? Explain Media Scheduling
strategies. 10

e Tuaegdal &1 ©2 Mied qugagdr oHaa 1

U it

9. What are the different Cost Centres of Media
Planning? 10

o [ ap

aWa [ > L} i}
fifeen fraisq &1 fafa= < AL enld—cnl- ESl|

272

26068/K/855 3



Roll No. ....oovveeeeriiieeec, Total Pages : 3

BCM/D-20 26069

PERSONAL SELLING AND SALESMANSHIP-I
Paper - ASPSM-BC-306

Time allowed : 3 Hours Maximum Marks : 60

Note :Attempt five questions in all. Question No. 1 is

compulsory. Rest questions carry equal marks.
FA U YEEl % S SNT | YR '
A € | 99 I & ik TEE |
Compulsory Question (3TFard UvT)
1.  Write short notes on the following : 5X4=20
frefafea w dfa femforr fafem
(1) The ‘AIDAS’ theory of Selling
fosha & ‘AIDAS fagr=

(11) Selling process

fama gfean

(111) Approaching in Selling process
fasha gfren & wrelt shalstl & w9 G

26069/K/793 P.T.O.



(1v) Follow up

AT

(v) Four main differences between advertising

and personal selling.

o o Jafaas fowa o WX yg@ o= |

What do you mean by Salesmanship ? Describe

the importance of selling. 2+8

forshaehenl 9 3TYekl R AU 22 fasa & a8
1 S0 hHITST |

What is meant by Buying motives ? Give the

classification of buying motives. 2+8

I Tonst § e Yk ? 2 wI Wunsh o
EUicTURCAIS

What 1s Consumer market ? Explain the

characteristics of consumer market. 248

SUMRT O S §@ 7 SUNRl OISR ekl
foeroaet w1 auie wifse |

What 1s Presentation and Demonstration ?

Discuss the techniques of good demonstration.

26069/K/793 2



TR TE YSIH P B ? 3T UeRiA Wi
qohIh] T IO R | 3+7

What do you mean by Personal Selling ? Explain

various stages of selling process. 2+8

Jafoaer faa 9 o9l 1 oy © 2 faed
gfepar & fafa= =won =t = Y |

Define Salesmanship. Explain the qualities of

salesman. 2+8
fasraeren ot aRwfoq Y | faskasal & Toi =l

AT |

What is Prospecting ? Explain the characteristics

of a good prospect. 2+8
TITUT M B ? 3T shal i fasioaisti %1 ouiA
call

What are the different types of Salespersons ?
Explain. 10

fosraedl & fafe= YR =1 & 2 9o &Y |

26069/K/793 3



Roll No. ..o, Total Pages : 12

OBCM/D-20 26070
CORPORATE ACCOUNTING-I
Paper—BC 301

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory. All questions carry equal marks.
FA U I H W LN TR e 1
Afqard B Gt gy & 3k GHE T

Compulsory Question ( 37fard T97)
1. Write short notes on the following :
frefafed w e Ae fafew -
(a) Capital Redemption Reserve Account.
st TeM d9g @l
(b) Utilisation of Securities Premium.

gfayfa fifvem afer &1 g=m

(c) Contingent Liabilities.

A eh T |

26070/K/312 P.T.O.



(d) Objectives of internal reconstruction.

Afafer LT & Sewal

(e) Corporate Dividend Tax.
FHITARS AT H

2. A Ltd. Company issued a prospectus inviting
applications for 3,000 shares of ¥ 10 each at a

premium of ¥ 2 per share payable as follows :
On Application ¥ 3 per share ; On Allotment I 4
(including premium) per share ;

On First Call ¥ 3 per share ; and On Second and
Final Call ¥ 2 per share.

Applications were received for 4,500 shares.
Allotment was made pro-rata to the applicants
for 3,600 shares and application money on 900
shares was paid back. Excess application money
was utilized towards sum due on allotment.

Mr. R, to whom 60 shares were allotted, failed to
pay the allotment money and on his subsequent
failure to pay the First call his shares were
forfeited. Mr. M, the holder of 90 shares failed to
pay the two calls and his shares were forfeited
after the Second call. All the forfeited shares were
reissued to Mr. P as fully paid at ¥ 9 per share.

Show the Journal entries. 15

26070/K/312 2



e fafes ol =1 T gfgerw g fear e,
fSrgd 10 91al 3,000 M &l T 2 Gfa A9 Wiz
R it @ & fau smecT 9= &t " R TR
TTAH 39 YhR T o : A@ET W T 3 Hfa 3,
AEed W T 4 gfa A9 (Wfgaw wfgq), goM A=
W T3 g AW 9 fgaiw wd Sifaw J=n | 32 9fd
301

6,000 319 &% foq 3TelR T3 U gUl 4,800 A3 &
JMERHI I STUITd® ®U W 3MEeq fwam T, oW
JMEET I3 3FEihd Y fGU MU R Il TR e
& M| AEST UF HI ST @I AW €T W
TR & Pam & faw 5@ &t TR

3R TS 99 60 3T & ef&ed i TR 3 H wmed
W@ R T T8 YW A H1 A FEAE TE R Gl
ql 3 39 T A0 R T T U Ed 1™
90 3 & Al A 3| A ewmd Wi &R fgd=
I F G ISEh AN T IR0 HL T T Gt
30l fopd U &9 3 9 Ul &9 & feue ¥ quikd
TEd gC YT @ ew R U SHe gfaftes sitsul

3. Explain clearly the legal requirements for the
Redemption of Preference Shares as laid down in
Section 55 of the Companies Act, 2013. Give the
Journal entries that are made in this connection.

15

26070/K/312 3 P.T.O.



ST g w1 a % SAdia qEifUeR o &
e & fawa H wEA gedE ekl W ®Y 9
US| 39 Y 4 S S e TR S ©, 3%
ERIEIY

4. Write notes on the following : 7,8
ffafad | A fafee

(a) Issue of Debentures for consideration other than

cash.

Terel & Afaied fFet o= afawar & aet SBodA

1 |
(b) Writing off Discount/loss on issue of debentures.

®HUaA & FRie W FAdt il efufaifEd

5. On 1st April, 2007 ABC Ltd. issued 2,000, 12%
debenures of ¥ 100 each at par redeemable at the
end of three years. It has been decided to set up
a Sinking Fund for the purpose of their redemption.
The investments are expected to earn interest at
4% p.a. the Sinking Fund Table shows that
T 0.320348 invested each year amounts to ¥ 1 @
4% p.a. in three years.

Investments were sold at par on 31st March, 2010

and the debentures were paid off. Pass journal

26070/K/312 4



entries and prepare necessory accounts. Interest

relating to interest on debentures may be ignored.
15

e fafee 3 1 31, 2007 w1 sEUME Tt R
fSept i o 915 ¥ god W e fRa SR
3 M o foU T eE i Rl T 1 v
fra T faf=rm W 4% Jiftie &t W I N 9w
BN Sl HAET @1 INUT HIY difcleRl <uial @ TR
3 0.320348 9fa 99 faf=m & W e & T 9
T ad § T W9 S @l

31 WM, 2010 @i faf=@rm @ ¥ g | o= f@
T AR WO 1 T R g T

SHA giafted a9l STavds @d aRdl RUTTl WX
oS O TrEYd gafedi a9 i SAevgsdl @l Bl

6. The Trial Balance of Superior Garments Ltd. as at
31st March, 2018 is given below :

31 ®€, 2018 @l HIRR TRdcH fafids o1 derge
fafefafed e

Particulars Amount (%)
Buildings ( ¥99) 80,000
Machinery (HH) 60,000
Interim Dividend Paid (3Taf{H <T4I3) 6,000
Corporate Dividend Tax paid on 1,221

interim dividend

26070/K/312 5 P.T.O.



o

o . Ao .~ .
(hae fefaes T Aafm o e W)

Opening Investory (IR TE(daT) 18,000
Purchases (h9) 1,60,800
Wages (HSTE{) 30,000
Office Furniture (T HE) 10,000
Patents (Teh&d) 8,000
Trade Receivables (SaMdMeh UTH) 72,500
Bank Balance (% ¥IW) 18,000
Repairs (H{HA) 1,200
Coal & Water (gl 3R THY) 2,500
Rent & Taxes (ThTAT TH H) 5,000
Prepaid Expenses (li\Offxd Y ) 2,000
Salaries (adH) 15,000
Bad Debts (@Eﬁ F0T) 1,000
Returns Inwards (fasa amqHt) 6,000
Carriage (TSl #1E0) 4,000

5,01,221
Particulars Amount (%)

Share Capital (3791 ‘:[\:Gﬁ)
(10,000 shares of Rs. 10 each) 1,00,000
26070/K/312 6



Sales (fasa) 3,20,000

Profit and Loss balance (STH-BI W) 29,221
Unsecured Loan (34@8&?[ EUD) 22,000
Securities Premium (gﬁﬁ{ﬁl THIW) 2,000
Trade Payables (SATITI{h 27) 19,500

Staff Provident Fund (=% 4fasg f4f¥) 6,000
Provision for Bad Debts 2,500
(gad kU Y AATSH)

5,01,221

Prepare Statement of Profit & Loss and Balance Sheet

after making the following adjustments :

feAfafed TaESHEST & I9=r av-g1H  foero

den feafg foeror sfeq wew & dOR HIT

(a) On 31st March, 2016 Closing Inventory I 42,000.
31 |, 2016 K1 3AfdaA Wi 3 42,000.

(b) Write off ¥ 500 as Bad debts.
3500 SId 3RUI & 3IUfafEd i

(c) Create a provision of 2% for discount on Trade

receivables and a provision for Doubtful debts

@ 5%.

26070/K/312 7 P.T.O.



ek Jrel W 2% ® & foau qen 5% Gy
MO & U SEeH  SHRU|

(d) Provide T 2,000 for the Company’s contribution
to Staff Provident Fund.

32000 Wk wfosy fAfy & fau ot & S1eEH
F1 UEEE HET T

(e) A claim of ¥ 3,000 for Workmen’s compensation

is being disputed by the company.

33,000 1 Tk HHAR I &fqqfd 1 @1 Rl
g foae w1 feafa & 2

(f) Provision for Income Tax is to be made @ 50%
of the Profits.

S & AU I[E M &I 50% STRASH HET
2l

(g) It is preposed to declare a Dividend of I 2 per

share.

7 fafvea foar w0 € T onwiw 32 ufa @w
ot foFar S 7

(h) Transfer 10% of Current year’s Net Profit to
General Reserve.
qE o ° 9] 94 % Yg Ad kO 10%
SEAdd S 2

26070/K/312 8



(i) Provide Corporate Dividend Tax @ 20.358%.

HARE A9 T & AT 20.358% 1 Gae™
TS|

7. What is Purchase consideration? Explain different
methods of calculation of Purchase consideration.
3,12

AG(H FAY-14 & FTER FI Jod 1 Bl 87 THehI
AT et fafel w1 guvia wifsu

8. Write notes on the following : 5,5,5
frafafeas | e fafee

(a) Amalgamation in the nature of merger.

fasor &1 9hfd &1 THiwl

(b) Corporate Social Responsibility.

HIARS THISh ST |
(c) Right shares.
AR 31|
9. The Balance Sheet of X Ltd. as at 31st March,
2015 :

31 |/, 2015 i TR fafiee =1 doig vie fefafed
S

26070/K/312 9 P.T.O.



Equity & Liabilities :
Shareholder’s Funds :

Authorised & Issued Capital :
4,000 Equity Shares of ¥ 100 each

2,000, 7% Preference Shares of
3 100 each

Surplus

Non-Current Liabilites :
6% Debentures

Current Liabilities :

Trade Payables

Assets :

Non-Current Assets :
Land & Buildings
Plant & Machinery
Goodwill

Patent Rights
Current Assests :

Inventories

26070/K/312 10

Amount ()

4,00,000

2,00,000

(2,00,000)
2,00,000

2,00,000

8,00,000
Amount ()

1,40,000
1,50,000
50,000

40,000

1,60,000



Trade Receivables 2,15,000
Cash & Bank Balance 5,000

Current/ Non-Current Assets :

Share Issue Expenses 25,000
Discount on issue of Debentures 15,000
8,00,000

The following scheme of Reconstruction was duly

approved :
frfafaa o = e @ fafted o0 &

(a) Equity shares are to be reduced to equal number

of fully paid shares of I 50 each.

Tl S SRl W L IAAl B HEA & AU A,
350 Ufd 391 quidan gehdl H d8d fRam SR

(b) 7% Preference shares are to be reduced by 30%

and the rate of Dividend increased to 9%.

AR S 1 30% § T WA qel $H
T ST TG R 9% hL I ST

(c) The Value of Land and Buildings to be increased
by 10%.

gt @ 9o k1 I 10% W GAT SR

26070/K/312 11 P.T.O.



(d) The Debentures are to be reduced by 20%.
TG Rl 20% @ FRRET STAI

(e) All Fictitious Assets and Goodwill are to be

eliminated and balance used to write-off the

patents.

il FHE gWfqal ©@ ©Afd @ ST Y
feon S wd St e @ % 99 gy vY
TRt ! sTafafed fewen <mamm

(f) Further Equity shares are to be issued for
% 50,000 for cash.

¥50,000 s T GHAT 3T Hi TR gfawa & fow
frifga fear <

Pass Journal entries to give effect to the above scheme

and prepare the post reconstruction Balance Sheet.

SWE AT 9§ yuifad SHa gfaftesn sifsiw qen
qulfyd faear sHEu

26070/K/312 12



Roll No. ..cooveveiiennn. Total Pages : 6

OBCM/D-20 26071
BUSINESS STATISTICS-I
Paper—-BC-302

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory which comprises short answer type
questions of 4 marks each. Attempt four
questions from remaining eight Questions

carrying 15 marks each.

FA UG YA & SR MUl Y gEm 1
gfrard 2, foad o S99 99 € 91 9l
YT 4 3k k1 Bl AW 8 YAl W § R 4
Yo & I AU gAF YA 15 3Tl B ol

Compulsory Question ( 31f-amd T97)
1. Write short notes on the following : 5x4=20

frafafeq w® dfaw fewfor fafen -

(a) ‘Statistics’ in singular sense.

HfeTh! &l Thaed & &9 H qifyd ssifswl
26071/K/361 P.T.O.




(b) The uses of Correlation.
HeHdy 1 IYAE|

(c) Various sources of collecting Secondary Data.

fgiid 3Tlhel i Shedl BT & fArd= Fal
(d) The components of Time series.
FIA YU & HEH|

(e) Four importance of Probability.

Tifrehal & IR HE|

2. “Statistics is not a Science, it is a Scientific method.”
Discuss it caritically and explain the scope and

limitations of Statistics. 15

“giferent T fomm &, 98 U o=t faty 217 5w
T T SATAEATCHe foo=q whifslt 3R wifeenl &
&9 SR Hmel W T ity

3. (a) What are the Mathematical properties of

Arithmetic mean? 5

AR HIEg &I A fawead = e

(b) Find the missing frequency in the following
distribution, if N=100 and M=30 : 10

26071/K/361 2



g N=100 3R M=30 &, a fr=1 foaor & o«
A Sl Tl ST

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

No.of Students| 10 ? 25 30 ? 10

4. Find Correlation coefficient between age and playing

habits of the following Students : 15
frefafed o & 39 IR @ &l cdl & &

qeddy TUis  @isl

Age (Years) No. of Students | Regular Players
15-16 250 200
16-17 200 150
17-18 150 90
18-19 120 48
19-20 100 30
20-21 80 12

Also calculate probable error of Coefficient of

Correlation.

qeday & TUMeh ! Heifad Ffe & «ft 7oA wifsu

26071/K/361 3 P.T.O.



5. You are given the following Data about Sales and

Advertisement expenditure of a firm : 15

ARl fret w0 ) faw! R fogod =@ & a) o
fefafed stee feg T €

Sales Adv. Expenditure
(Rs. Crore) (Rs. Crore)
A M. 50 10
S.D. 10 2

Coefficient of Correlation (‘r’) = 0.8
EHaY T UM (‘) = 0.8

(a) Calculate two Regression Equations.
S g GO i U i)

(b) Estimate Sales, when Advertisement expenditure

1s Rs. 13.5 crore.

If fomma W 13.5 S T @9 foar 9,
fasht 1 SAFHME FmEU

(c) What should be Advertisement budget, if the
company wants to achieve a Sales target of
Rs. 70 crore?

IS ST 70 FAS h1 Tkl 1 A T HEA

aEd §, 9 fasod ase @ s =R

26071/K/361 4



6. What is Fisher’s ideal index? Why is it called Ideal?
Show that it satisfies both the Time reversal test as

well as Factor reversal test. 15

fRYR 1 TSyl Yuehih 1 8?7 TH oISy A e
ST 27 feEmd ff a8 99g SohHU 9heu 3R HRS
ToIE IRETT S Rl TR Rl 2

7. Construct cost of living index number from the

following Data of 1986 using. : 15

1986 & ST & fau fr=Afafed smar gmi 9
fafy= fafe=l =1 g9 wd gu Sieq fafe ga@is
1 TMOET HINT

(a) Family Budget method

qiaTer dsie fafy

(b) Aggregative Expenditure method.

eohd T Tafe

Items Quantity Unit Prices
Consumed in 1985 1985 | 1986
Wheat 4 Qtls Kg 1.50 | 1.60
Rice 50 Kg Qtls. 800 | 1000
Cloth 40 Meter Meter 20 25

26071/K/361 5 P.T.O.



Oil

20 Litres Litre 1.80 2

House Rent One House House 100 125

8. (a)

(a)

(c)

State and prove Baye’s theorem of Probability.

YIeRdl o1 999 THY A ®? 39 fag wifwu

Discus properties of Binomial Distribution.
fgue faaor =1 fasmaeti w1 oo wifsT

Discuss the properties of Normal Distribution.

g faaeor &1 fagiwast 1 guie sifsu
5x3=15

26071/K/361 6
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OBCM/D-20 26072
HUMAN RESOURCE MANAGEMENT
BC-303

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
dy ikp i'uc d mlkj nife, A i'u B[k 1 viuok;
g A IHh 1'uk d vd lelu g A

Compulsory Question (\Vfuok; 1°u)

1. Attempt the following short answer type questions : 4 each
(a) Describe various types of transfers.
(b)  Outline certain future challenges to the field of HR.
(c) Mention some Off-the Job training Methods.
(d) What are the various types of HR Planning ?
(e) Differentiate between HRM and HRD.
futufyfer y% mkjh; i'uk d mlj nift, &
(v) fofu c¢dij d LRkudrj.k dk o.lu dnft, 4
(c) ewo Il/u d {+ d fy, Hifo"; di dN pukfr;k
dh zijelt
(1) dN d; if'ifik dh chn fof/:sk ok myye dift, A
(n) ewo IN/u ;keuk d fofHlu c¢dij D;k g \
B .p-Vvi-,e- vij ,p-viMi- d chp v A
(3)L-26072(TR) 1



2. Imagine as if you have to design a training program for
sales professionals. What kind of steps you have to follow
for designing a training program for such employees ?
Elaborate.

eluk viidk fc@h i'lojk d fy, ,d cf'i{i.k dk;@e r;k
djuk g A ,1 depifj;k d fy, c¢f'{i.k dk;@e r;kj dju
d fy, wiidd fdl rjg d dne mBiu gix \ folrr
dift, A

3. Define Potential Appraisal. How is it different from
Performance Appraisal ? Why is it used ? Discuss certain
methods to assess the potential of any employee.
IHifor eY;kdu dk ifjHifkr dhft, A ;g9 cn'tu eY;kdu 1
dl vyx g \ bldk mi;kx D;k fd;k thrk g \ fdlh Hn
depljt di {iert dk vidyu dju d fy, dN rjidk ij
ppk dift, A

4. What is the meaning of International Mobility in HR ?

State the purposes and intentions behind doing such
activity in HR. Which kinds of decision are covered
under Internal Mobility ? Explain.
,P-VHj- e vrji'Vh; xfriiyrk dk v D;k g \ ,p-Vij- e
bl rjg dh xfrfof/ dju d iN mi*; wij bjin crib, A
virfid xfriityrk d rgr fdl ¢cdij d fu.k; dk doj fd;k
trk g \ L1'V dift, A

(3)L-26072(TR) 2



5. Elaborate the concept of Job Design. Identify the key
factors which has to be taken care of while designing a
motivating job. Which techniques are usually followed

for performing job design ?

tic Mtiu dh vo/ij.lk dk folrr dift, A mu cee
dkjdk dh igplu dift, ftlg ,d ¢jd tic tMtibu djr
le; é;lu jeouk g A tic Mtibu dju d fy, wvierlj ij
fdu rduhdk dk ikyu fd;k thrk g \

6. Discuss the factors affecting Manpower Planning. Examine
the problems hampering the effectiveness of Manpower
Planning. State certain suggestive measures/guidelines for
performing manpower planning effective.
tu'ir ;ktuk dk cHifor dju oty dijdk ij ppt dift, A
tu'ir ;ktuk dh cHko'kyrk e ch/Zk Miyu okyh Bel;kvk
dh tip dift, A tu'Dr fu;ktu cHioh culu d fy, dN
I>loiRed mik;@fn"Kfun™ crib, crib, crib, A

7. In your opinion, in this technology enabled business
environment, what could be the major challenges that are
hampering the effectiveness of recruitment and selection

processes for any modern organisation ? Identify them.

viidh jk; e] bl rdund u 0;0lk; d elgty dk I{ke
fd;h] , Ih diulh cMh pukfr;k g Idrh g th fdlh Hh wi/
fud IxBu d fy, Hrt vij p;u ¢f@;kvk dh cHiko'lhyrk e
ck/k cu joh g \ mlg igpkfu, A

(3)L-26072(TR) 2



8. What is Succession Planning ? How is it different from
Human Resource Planning ? Mention the key objectives
and advantages of succession planning.
mikjif/Zdlkj skeuk D3k g \ ;g eluo TH/u ke 1 dl
Hlu g \ mlkji/dkj ;keuk d cee mi*;k wij ik o
mYye dift, A

9. On what parameters the evaluation of training program is
performed ? Explain some of the methods which are used

to evaluate the effectiveness of a training program.

cf'i{k.k di;@e dk eY;kdu fdu ekinMk 1j fd;k thrk g \
fdlh ¢f*i{k.k di;@e dh cHiko™fyrk dk eY;kdu dju d
fy, mi;kx fd, tw oty dN rjhdk d ckj e crib, A

(3)L-26072(TR) 2 22
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OBCM/D-20 26073
PRINCIPLES OF MARKETING
Paper—-BC-304

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.
FA U YA & ST WU G HEea 1
Afqard 21 gt g & ik gHE T

Compulsory Question ( 31f-ard T9)

1. Explain the following :
= &1 = wifNe

(a) Is marketing a Science or Art? Describe.

1 faquH Tk fodE SUdl el @7 9dEU|
(b) Structure of Product-mix.
S fagor ot g
(c) Classification of Packaging.
ceasulco B UiETul
26073/K/313 P.T. O.



(d) Ethical objections in Advertising.

fommm it Afasw et
(e) Green Marketing.
EIGIEREE]

2. Explain the difference between Traditional and
Modem concept of Marketing? Also discuss the

importance of Marketing in modem Business.

oM & TUREd qel eNyge foemi H sia &t
AT hifelT| MYk ZewE # fquoE & HAg @&l
9 U HifSa|

3. Why is it necessary to scan Marketing Environment?

Explain external forces of Marketing environment.

U ardEeRe &1 favewe R eavas §? fauue
IAER0T hi oY Ifeadl 1 gUiF hifsiq|

4. What is the significance of studying Consumer
Behaviour? What are the difficulties in understanding

the Consumer Behaviour?

SUIRT SR & I FT F Hed &2 SUTR

OB ! A | hiA-W wfeaear 27

5. What are different stages of Product life cycle? What
is the importance of studying Product life cycle in
Marketing?

26073/K/313 2



STAE Saq 9% @& Tafg— =<0 &9 9 ©2 fa9vH
¥ I Sfad = T F Hew 22 fauvH o IR
Sem 9% F1 1 e B2

6. What are the different Pricing objectives? Briefly

explain the process of Price setting in Practice.

Jea frufto & S2vg =9 9 €2 goa fuier gfwan
Ht Hieg ®9 # =ren sifswy

7. Explain different types of Channels of Distribution.
Discuss the various factors that influence Channel

choice.

o wrem & fafa= Rl 1 Sare $ifsu) = e

T Rl GHIfead i o fafa= SRl W ==l i)

8. Define the Marketing Research. Explain the
Marketing research process.

U STIEY™ &l IR Sifse| fouum s1qEam
fshAT 1 AT HifST

9. What is Online Marketing? Explain its advantages
and limitations.

3 e fauuH R 87 U ol ud dimed Wi

Al hifSg|

26073/K/313 3



Roll No. ....oovveeeeiiiieeee, Total Pages : 3

OBCM/D-20 26074

BUSINESS LAWS-I
Paper - BC-305

Time allowed : 3 Hours Maximum Marks : 80

Note :Attempt five questions in all. Question No. 1 is

compulsory.

FA UE T & SW AN | Y Hew |
aAferd 7 |

Compulsory Question (3TFard UvT)

1.  Write short note on the following : 5X4=20

frefafea w wfea feool fae .
(1) Essential elements of consideration

Gidhel & SERIh e
(11) Coercion

Scdte 91 9 T AN
(111) Contract of Indemnity

effergfd sTga

26074/K/314 P.T.O.



(iv) Distinguish between sale and agreement to

sale.

fosra qen fana & 38 | W

(v) Bill of Exchange.
fafaa e go@ |

Define agreement and explain its types. 15

3B &l GRY fael den I fhdd YR & B
T T HIT |

“The essence of every agreement is that there

should be free consent on both sides.” Explain. 15

“yder SEUE k1 OX I8 © T 2 uall o Teae

weqfd g =fen’’ auemsy |

How and on what grounds proposal stand

revoked ? 15
39 ufifeafaal 1 ave wu S99 g @fved

O ST & 2

Explain the different kinds of remedies suitable

for breach of contract. 15

26074/K/314 2



ey Wed & /M § ot fafy= ST=mi &

A i |

What are the essential elements of bailment ?

Explain the right and duties of bailor. 15
89 & oTEvg® acd F ¢ 2 MW % SfHER
3R IR T 9o *H |

Under what circumstances i1s a party to a

negotiable instrument discharged ? 15

o dfiftafaai § we fafma 99 d@ud &

UHR AT M ¥ G & Sl € 2

What i1s meant by unpaid seller ? Explain the
right of unpaid seller. 15

d fasdt FM 7 2 TH ofd fakar & AfuERf

HT e HY |

Explain the term “Delivery” and state the rule

regarding valid delivery of goods. 15
“UE SR T AR WIfSTT qem WA @l dY
it 9 Trt-ad el ol Fad |

26074/K/314 3



Roll No. ...uuuueeecisnnnennnnes Total Pages : 09

BCQ/D-20 26096
COST ACCOUNTING
BC-501
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
A T T S ISR AN | W e 1 sy
T

Compulsory Question ( IFaTE WvT)

1. Explain the following : 5%4=20
(1) Cost classification according to variability
(i) Types of cost centres
(i) ABC Analysis
(iv) Performa of cost sheet
(v) Effects of labour turnover
Frefafed =1 9o ®ifET
(i) UREARIEd SgER @M & YR
(i) @ &= F TR
(i) &, 9, § fovewo yomedt
(iv) &P T WEY

(v) #m e & 39
(5)L-26096 1




2. Define Cost Accounting. Discuss its principles. Also
explain the objections against cost accounting. 15
ARG TElehd ! IR SIWT | AFA oiensd & Hgid
g st w1 ot T SN |

3. A timber merchant purchased 15000 cubic feet of timber
logs on 1 March, 2014 @ < 20 per cubic feet and stored
them in his timber yard for six months for seasoning. In
the timber yard the following items of expense were
incurred during the period seasoning : 15
(1) Rent of yard (area 3000 sq. ft.) ¥ 300 per month
(i) Salaries of 5 guards @ T 150 per month
(iii) Incidental expenses for maintenance, lighting etc.

@ X 200 per month

(iv) Annual share of general overhead expenses of the
business T 2,000.

(v) Insurance charges of the logs to be seasoned
@ 1/2% on the value of the unseasoned logs for
the period of seasoning.

50% of the floor area of the yard has been set apart for

seasoning of the timber and the remaining floor area for

stocking seasoned timber.

Loss in volume of logs due to seasoning 10%.

(5)L-26096 2



Calculate the selling rate of the seasonal logs per cubic

feet to the nearest rupee on 1 September, 2014 so that

10% profit on the cost may be earned.

T fo=R =R 7 1 96, 2014 & % 20 9fd Hgfae

W W W W 15000 Ffawk we foeR wed @R @R

A fo=g 928 ¥ 6 R & fau gud & fau wR

W RU | 39 o=@ H foeR gEm & gl H#

frefafed e o=d fer T o

(i) w%e @ fRwA (&3 3000 3 we) T 300 Wfa HE

(i) 5ME & I @ T 150 WA HE

(iii)) TeX@mE, TR o o= '« @ % 200 W WE

(iv) =™ @& o e # few 2,000 |

(v) GOM @ oed @ o 'd Roge wed @
qed &1 12% %Had @M i @y & fau

S ® HA G B 50% foR wm gEW & fau y@m

for ST ¥ SR A A9 WE R B R @

o S # |

e W ogER § AR W 10% @ W %

1 TR, 2014 =1 9fA Hfeh T2 @ @< & oA

QW HI MUEI I AR AT W 10% oA9 HART S

TH |

(5)L-26096 3




4. Explain the following : 15
(a) Differentiate between time keeping and time
booking.
(b) Taylor’s Differential piece rate system
(c) Profit Sharing and co-partnership schemes
frefafed @1 9vH FifT
(1) 999 @ed 9 HHF SR & §rd W
(9) TR I faugrmss wE AN
(W) @9 favee 9 We-WRER ot

5. (a) What is perpetual inventory system ?
fRR wih gt womeft 1 ¢ 2
(b) What are the merits and demerits of FIFO method

of material issue ?

frifaq wEt yomell § UYed ST Ul Wi fafy
® AY-BIEl FaET | 15

6. Surya Constructions Ltd. with paid up capital of
T 50,00,000 undertook a contract to construct MIG
apartments. The work started on 1 April, 2015. The
contract price was T 60 lakhs. Cash received on account
of contract upto 31 March, 2016 was I 18 lakhs (being
90% of work certified). Work completed but not certified
was 1,00,000. As on 31 March, 2016 material at sight
was estimated at I 30,000 machinery at sight costing

(5)L-26096 4



T 2,00,000 was returned to stores and wages outstanding
were % 5,000. Plant and machinery to be depreciated @
5%.

The following were balances as on 31 March, 2016 : 15

Particulars N
Land and Building 23,00,000
Plant and Machinery (60% at sight) 25,00,000
Furniture 60,000
Material 14,00,000
Fuel and Powers 1,25,000
Site Expenses 5,000
Office Expenses 12,000
Rates and Taxes 15,000
Cash at Bank 1,33,000
Wages 2,50,000

Prepare contract account and balance sheet as on 31
March, 2016.

gt wem i wet A feget §f 2 50 @@ ®, MIG
Wi ST s g1 foran ® | wM 1 ede, 2015 9 UE
g | 3% H HiFd T 60 @@ ¢ | 31 WE, 2016 H
g TR IR @ fell & T 18 W@ ® @R Fw ufw
T W 90% © | SwEivd @ 1,00,000 €
31 99, 2016 1 HE WA W G H ged T 30,000

(5)L-26096 5



2 | Hef frgeRt ged T 2,00,000 € WR H amg el
T SN 3 ey T 5,000 ¥ 1 HYMA W 5% HI R
Y gE dm ? |

o~ A

31 9™, 2016 w1 f=fafed soig on

Terawor 4
GG 23,00,000
e TE IR (60% HETE W) 25,00,000
TR 60,000
EIRpil 14,00,000
3§ TR 1,25,000
wRA & WS 5,000
FEAEE ® @A 12,000
W T W 15,000
CColi i 1,33,000
REE 2,50,000

3H @A § dog e 31 5E, 2016 @ ad@ H
TFAET |

7. Shubham enterprises has three manufacturing departments
A, B and C and one service department S. The ahead
particulars are available for one month of 25 working
days of 8 hours each day. All departments work all days
with full attendance.

(5)L-26096 6



Expenses Total Production Deptt Service Deptt
4 A¥ BT CX SR

Power and 1100 200 300 360 240
Lighting

Supervisor’s 2000 — —  — —
Salary

Rent 500 — — — —

Welfare 600 — —  — —
Expenses

Other 1200 200 400 400 200
Expenses

Supervisor’s 30% 30% 20% 20%
Salary

No. of workers 3 4 2 1

Floor area 60 80 60 50
sq. meter

Service rendered 50% 30% 20%

by Service deptt
to production Deptt
Calculate the labour hour rate of the deptts A, B

and C. 15
oE ZESE 4 W e fawm s, 9 ek W @
9 Tk Wl TANM T 2 | Tk AW % 25 i feew
IR gfafed 8 5o | Gefem gaemd & w1 W € 1wt
faum @t for gt sufeufs @ @ w@ F

(5)L-26096 7(5)L-26096 6



Tl |/A  SAET faum

4

e 1100

EEN|
FIEESK 2000

A
TeRtran 500
EEICECE] 600
= Wd 1200
RSRIEIE

A
wY & (T )
o fawm gm
faur w1
T Herd

Sl
200

200
30%

3
60

50%

q3
300

400
30%

4
80

30%

ax
360

400
20%

2
60

20%

[ar  Taam

TR
240

200
20%

50

fgqm 21, =, 9 =t 9fd U g9 K HI TUAET BT |

8. A manufacturing company engaging 100 workers at a

standard wage of ¥ 4.80 per hour. During a month there

are four weeks of 40 hours each. The standard performance

is set at 360 units per hour. The following is the summary

of wages paid during the month :

91 workers were paid @ < 4.80 per hour

5 workers were paid @ I 5.00 per hour

(5)L-26096



Remaining were paid @ T 4.60 per hour

Power failure for 2 hours. Actual production was 57,960

units. Calculate labour variances. 15

T et & 3 100 ®EER T 4.80 WA wUe
T wegy X ° g fRT | TR wEH % 4 9we
9 Y% HWE % 40 ¥ B e € | WA e
foaea 360 sebrgal wia smer fafvea gem @ 1 3@ WE
¥ oqrad # T AW # OMET I YRR T
91 #oigd T 480 WA =T ® W W YA R
T

S AU W T 5.00 ¥fd EU @ W W WAE fRA TN
TR W T 4.60 Fd WU ® W W qTaM  foRa

29 & foau fosell ®a gE | arfae SR 57,960
hEal off | gm foameml &t ToE sifem |

9. What do you mean by cost control ? What are the
techniques of cost control ? Explain the necessary steps
for effective cost control. 15
A e w g efyym @ 2w fEEm w6 fafae
qehfieh 91 & 2 ama Freem % fau stavas fafae ol
™ Ui HifeT |

(5)L-26096 9
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BCQ/D-20 26097
FINANCIAL MANAGEMENT
BC-502
Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is comprising of five short answer type
questions carrying 4 marks each is compulsory. Attempt
four questions from the remaining eight questions
carrying 15 marks each.

A wem 1 faed dfw oy swd ye € e 4
3k w1 7, AfEE | I o8 WA H ¥ fal
IR F SW G | TEE T 15 SiF w1 T

Compulsory Question ( IFaTE WvT)

1. Write notes on the following : 4x5=20
(1) Explain features of sound financial plan.
(i) Distinguish between Budget and Forecast
(iii) What 1s the significance of Capital Budgeting ?
(iv) Explain any four features of optimum capital
structure.

(v)  What are the objectives of Cash Management ?

(2)L-26097 1



frefafen = wfia fewfirar fafew -

(i) wF g3g foda e =i foermad gEeRd |

(i) o T [EigAE # R fafew |

(i) st =wfen w1 @0 wew ¥ 2

(iv) o add TSt @™ w1 feal = favsmst =
EREIC IS

(v) Uhg WeH % A SE¥E € 2

2. What do you mean by Financial Management ? Discuss

the chief functions of Financial Management. 15

fadfa Yoy 9§ Sfuehl & ST™ © 2 g ye &
& &Ml JUH HiWC |

3. What is meant by under-capitalisation ? Discuss the causes

and remedies of under-capitalisation. 15

Fe-Goftert 1 1 o7 B 27 Sreu-dSfieRo % RO U

STER &% 3UF AT |

4. What are the sources of Long-term finance of a company ?

Explain each source in brief. 15

FIA & SH-weH A T SH-HAE T ? YO% @
= Gt 999 sifeg |

(2)L-26097 2



5. The following information has been extracted from the
balance sheet of AB Ltd. as on March, 31, 2017 : 15

% (Lakh)

Equity (X 100 each) 200
11% Debentures 40
9% Term loan 160
400

Corporate tax rate applicable to the company is 35%.

(a) You are required to determine the weighted average
cost of capital of the company. It had been paying
dividends at an average rate of 12%.

(b) Will the weighted average cost be different if the
market price of ¥ 100 share is ¥ 150 ?

31 9719, 2017 &1 T foafies w1 aa9 e 9§ f=fafed

SHH e T T

¥ (Lakh)

9@ (% 100 Th) 200
11% o9 40
9% STl Rl 160
400

FOA W R B W (tax rate) 35% o e B

(31) YRl HEHT H1 Yol HI URFH (weighted) SEa
ARG H T S T | AT 12% HHd oA kI
W W AW HOPEE HE |

(@) g T 100 W w1 IR I T 150 WA ST
e ST 99 F ARG e Hod B SR ST ?

(2)L-26097 3



6. A Co. is considering the purchase of a new machine. Two

machines (A and B) have been suggested, each having an
initial cost ¥ 3,80,000 and requiring I 20,000 for
installation. Earnings after taxation are expected to be as

follows :
Year Cash Flows
Machine A Machine B
1 40,000 1,20,000
2 1,20,000 1,60,000
3 1,60,000 2,00,000
4 2,40,000 1,20,000

5 1,60,000 80,000

The company has a target of return on capital 10% and
on this basis, you are required to compare the profitability
of the machines and state which option you consider
financially preferable. 15
Th HEA Th 93 A & Bl W faEr w @
21 Q A (1 ¥R @) w1 gegme fem wen @, o
¥ Y% I RIS o T 3,80,000 3R T & fow
220,000 %I SEYGHA € | HUUN ® W€ AF TH
TR T s

EL] g e

R 11 N )
1 40,000 1,20,000
2 1,20,000  1,60,000
3 1,60,000  2,00,000
4 2,40,000  1,20,000
5 1,60,000 80,000

(2)L-26097 4



HEH % U™ W (return) 10% Yol W ¥, T MR
W WA W ATHEEST  (profitability) I T i
g T e fawey o faxda w9 @ sfaa w9 ?

7. What is Optimum Capital Structure ? Discuss the fully
the traditional approach of Capital Structure. 15
STohAad st g 1 o ot ¥ 2 Ul @ @ wemr
foramem =1 quidar SHEEY |

8. What is Payback method of Capital Budgeting ? What
are its limitations ? What are the reasons for its popularity
despite its limitation ? 15
TSt =wfen w1 ot sl fafy @ @ 2 z@et F
dmrd & 2 goenl dmel & aeeR off suhl Ak iyEd ®
1 HE T ?

9. What is the meaning of Working Capital ? Explain the
factors affecting the working capital requirements of a
business. 15
FrEivha gt 9 1 Aoy © 2 Tk oAaEE i i
TSt i STevAsR@stl i yHIfad I AT el Wl g
EISE

(2)L-26097 5
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BCQ/D-20 26098
GOODS AND SERVICE TAX
BC-503
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four out of remaining eight questions.
dy ikp i'uc d mlkj nift, A i'u o B[k 1 viuok;
g A Kk wviB i'uk e I dib pkj 1'u vij difte, A

1. Write notes on the following :
(a) Tax structure is India before Independence
(b) Goods and Service Tax Network
(c) Normal or Forward Charge
(d) Persons liable for registration under GST
() Electronic cash ledger. 5x4=20
fukufyflkr 1 Bf{kir fVIRf.k;k fyf[k,
(v) Lorlrk 1 10 Hkjr e dj <kpk
(¢) olr ,o lok dj uvod
(D) Nell; ;b wxf'hr iHk
() GST iyt d wvirxr jielviu d fy, mlkjnk;h
0;fDr
(b) byDVifud [hricgh A
(3)L-26098 1



2. Discuss the benefits and drawbacks of Goods and Service
Tax. 15
olr ,o0 lok dj d yiHk ,o nk'lk dk o.lu dift, A

3. What do you mean by deemed supply, composite supply
and mixed supply under GST law. 15
-, I\Vh vi/fu;e d virxr eluh thu okyh wiitr] lex
viitr rfk fefkr wviatr 1 vk D;k le>r g \

4. Discuss benefits and drawbacks of registering under GST

Composition Scheme. 15
-, I-Vh i%leu keuk d virxr iedj.k doyiHk v nkck
dh ppk dift, A

5. Calculate the tax liability of Agro Ltd. from the following
informations : 15
Purchases (Input) of Agro Ltd.

Value of Material = 15000

CGST = 9%

SGST = 9%
All these inputs are used for manufacture of two products
(are taxable and another exempted) and sale value of
output of Agro Ltd.
Sale value of Product (Taxable) = 12000
Value of Product (exempted) = 12000.

CGST—Central Tax = 9%

SGST—State Tax = 9%

(3)L-26098 2



futufyf[kr Tpukvk d wiZkj 1) vk ,xk fy- di dj n;ri
dh x.fuk dift, %
Xk fyfeWM dh [kjhn (buiV)

liexi dk eY; = 15000

CGST = 9%

SGST = 9%
; IHO butv nk mRiink d fuek.k d fy, mijkx fd,
tr g (dj ;K; wvij vi; NV oty g) vij ,xk fyfevM
d miknu dk fc@h eY; A
miukn dk fc@h eY; (dj&;k;) = 12000
min dk eY; (NV) = 12000.

CGST-dlnh; dj = 9%

SGST-jiT; dj = 9% 15

6. Write short notes on the following :
(a) Revised Invoice
(b) Refund Voucher
(c) E-way BIlL
fuEsfyf[ir ij I AVIRfAck fyf[k, &
v) 1'i/r citd
(c) /u okilh olmpj
(1) E-way fo/;d A

7. Explain provisions related with quarterly returns under

Composition Levy Scheme. 15
1"feu ;keuk d wirxr =;&ekfld fjvu 1 Icf/r 1ko/luk
di o.lu dift, A

(3)L-26098 3



8. Define Tax Deduction at Source. Explain provisions related
to Tax deduction at source under GST Law. 15
Thr ij dv dVkrh dk ifjHif'%r dbft, A GST diuu d rgr
Thr ij dj dvirh 1 Icf/r iko/iuk dh O3k[;k dift, A

9. Define general or residual penalty. Explain general
disciplines related to penalty. 15
liell; ;b vof'k'v n.M dk ifjHiivr dift, A n.M T Icfér
lkell; fo'k;k dn O;k[;k dift, A

(3)L-26098 4



Roll No. ...uuuueeecisnnnennnnes Total Pages : 07

BCQ/D-20 26099
INCOME TAX-I
BC-504
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all including Question No. 1

which is compulsory.
A T T S ISR AN | W e 1 sy
2 |

Compulsory Question ( IFaTE WvT)

1. (a) What do you mean by assessee ?

FE § SR S © 2
(b) What is a Public Provident Fund ?

At Wiase we w7 ?
(c) Write a short note on gratuity.
T=gedt W dfem fewft fafem |
(d) Write a short note on dividend.
A WO feoo fafem |
(e) Write four income which are exempt from tax.
TR H oK W hl faAfem | 4x5=20
(5)L-26099 1



2. Explain, how the tax liability of assessee is determined

with reference of his residence ? 15

TR fafen foh s &1 = qfae 39 Ham-sm
% uR W fRE wehr fuifia e sma @ 2

3. The follolwing particulars are of Mr. X’s income : 15

(i)

(ii)

(iii)
(iv)

)

(vi)

(vii)

(viii)

(ix)

(5)L-26099

Salary (after deducting ¥ 28,000 for income tax at
source) ¥ 3,80,000 p.a.
Dearness allowance (Under the terms of
employment) I 42,000 p.a.
Education allowance (for 3 children) ¥ 15,700 p.a.
Medical allowance (actual medical expenditure
% 14,000) T 37,200 p.a.
Rent-free house (in Jaipur) the company paid
T 8,000 per month as rent. The house is furnished
and the rent of furniture is ¥ 25,050 p.a.
A domestic servant, a sweeper and a watchman
were paid by a company@ < 1,250 per month each.
The company spent T 8,000 on his refresher course.
His contribution to R.PF. ¥ 31,000 and employer
contribution ¥ 36,000.
The company has provided a free telephone at his
residence and paid bill amounting to I 8,000.

2



(x) Professional Tax ¥ 7,000 paid by Mr. X.
Compute Taxable income from salary for the
assessment year 2019-2020.

. w & e @ g e wER €

() o (3FM WH W T 28,000 SFRL FEA &
%) T 3,80,000 arftiss |

() TETE w1 (Hared Wi v & i) T 42,000
ClEC

(i) Rrem w1 (3 S==1 & fow) T 15,700 AMfuE |

(iv) Tafrcdn s (ar&dfass fofhedn 0@ 3 14,000 <R1)
¥ 37,200 anf¥es |

(v) foman gwm meE (SR §) & T 8,000 wfd
e R R B | Wb g € Ud SE
WAL W fRwE 25,050 A ® |

(vi) R A, I TE SemER e g h
T 1,250 Wfa H® €, UGN gN gl ST © |

(vii) O FU TR RRIR ®F W =F T 8,000 |

(viil) TG Wifo€e ws # 3R ¥EM T 31,000 TE
e &1 svEE T 36,000 |

(ix) faem 4 . = & faM W qR A®E &l
gloen 3 w2, fowe faw e 3 28,000
TR |

(5)L-26099 3




4.

(x) g & T 7,000 . ww A T
= fAuor 99 2019-2020 & T w-=Im@ 9@
T ™M &I TFT HIWT |

Define annual value and state the deductions that are
allowed from annual value in computing the income from
house property. 15
aMftieh qod k1 GRS q HbH GG I
feifd &0 & fau =i gea § 9 serl SH aret
iehd wwelfqdl o aviF Wit |

The following is the Profit and Loss A/c of Mr. X for the
year ended on 31 March 2019. Compute his taxable

income from business for that year : 15
Opening stock 15,000 Sales 2,80,000
Purchases 1,40,000 Closing stock 20,000
Wages 20,000 Gift from fathers 10,000
Rent 46,000 Sale of car 17,000
Repair of car 3,000 Income Tax

Medical expences 3,000 refund 3,000
General expences 10,000

Depreciation of car 4,000
Profit for year 89,000

3,30,000 3,30,000
The following further informations are given S
(1)  Mr. X carries on his business from rented premises

half of which is used as his residence.

(5)L-26099 4



(i) Mr. X bought a car during the year for I 20,000.
He charged 20% depreciation on the value of the
car. The car was sold during the year for I 17,000.
The use of the car was 3/4th for the business and
1/4th for the personal purpose.

(i) Medical expences were incurred during sickness of
Mr. X for his treatment.

(iv) Wages include ¥ 250 per month on account of Mr.

X driver for 10 months.

31 99, 2019 sl ¥HW B 9@ 0 ‘e’ w1 arw-giH
@ Frefafad @ 1S9 99 sl ITR AR ¥ -y

™ HI UM BT :
SRfres  wiae 15,000 fasea 2,80,000
B 1,40,000 sif<w w@fdn 20,000
S LRl 20,000 fr@r ¥ IWR 10,000
TeRtran 46,000 &R Hi Toeh! 17,000
HR I A 3,000 STE®I i
fafeen == 3,000 aT9Et 3,000
= = 10,000
FR & W 4,000
Y H AIH 89,000

3,30,000 3,30,000

(5)L-26099 5



6.

7.

frafafeq sfafed ged & ® 2 .

() . T o AR e & 9ad § 9 W@
g, fo@ o wm 3@® WA W WA B W@
2

(i) . T 9 78 d§ ®R T 20,000 S HI &I, I
HE ®H Ted W 20% B ol | g9 H &R 2

17,000 &1 =9 & W | &R H TEM
3/4 FMR & fau o da 1/4 =A@ & &
faT |
(i) Tafercr =0 f, @ &1 S § @@
(iv) 7ol ® T 250 Wfd A% T T & SRS @
10 98 &1 oA e €

Explain the following : 15
(1) Capital Asset

(i) Cost of acquisition of capital asset.

Frefafed 1 wwsmEy -

() USf et

(i) st wrofgsl @l 9w @ Ard

Explain in detail the various kinds of securities. 15

fafi= yr wr gfagfal w1 fosRyEs R |

(5)L-26099 6



8. In what circumstances is the income of one person treated
as the income of another ? 15
Th Al HI AF T o Tk uRfefaai d we
S # 2

9. Explain the provision regarding set off and carry forward
of the following losses : 15
(i) Loss from house property
(i) Long term capital loss
(ii1) Short term capital loss
(iv) Business loss.

Frefafe sl =t 9fd den o o 9 % F WEEH
g2

(i) ¥eH wHh ¥ T

(i) <HwE gt g

(iii) sToushTete Yot BT

(iv) &R ¥ T

(5)L-26099 7
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BCQ/D-20 26100
AUDITING
BC-505
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory
of five short questions carrying 4 marks each. Attempt
four questions from the remaining eight questions
carrying 15 marks each.

FA U WA % SR N |y wen 1 e
2 gy gk H 4 R T I UW oM WA H @
TR Y ST | T&E T 15 Sk W © |

Compulsory Question ( IFaTE WvT)

1. (a) Write the scope of Statutory Audit.

Juifeh  SfheT 1 & TARET |

(b) What are Primary Vouchers ?
qd FHS A E 2

(c) What are the qualifications of a Company Auditor ?
HIH & fRew HI ATFAE FARY |

(d) Give four differences beween Internal Check and
Internal Audit.
Fales g wd siale sidhem d S =
RIS |

(2)L-26100 1



(¢) What do you mean by Professional Misconduct ?
SEES: YRER W Y o HEEd ¢ 2

Define Auditing. How does Auditing different from
Accountancy.

F(heTT TR TR HINT | SFheT Teled § fhE TRR
fom @ 2

What is Continuous Audit ? Discuss its advantages and
disadvantages. How does it different from periodical Audit.
e SR N ® 2 3T MU TS W GARY | AW
Shem mfas sk ¥ fRw yRR fam € 2

What is Vouching ? What points should be considered
while vouching a cash book ?
THUE @ ® ? Uk Uhs [ o FHIN i GHA TR
A Sl WM W T w1ey ?

What is Verification ? Discuss the duties of an Auditor in
relation to verification.

T W T ] WS € 2 AT % Gey § ek
% 1 Haed B ?

Explain the various duties of an Auditor.

Fmelh & fafa— Hdeal &l FaqRy |

(2)L-26100 2



7. What is Audit Report ? Give its importance. Discuss
various types of Audit Reports.
feheror RUIe o1 o1 o1 B 2 THeR! A1 Wewd © 2 Sfher
RUE & YR FaRy |

8. Discuss the Statutory Powers and Duties of a Company
Auditor under the Indian Companies Act.
AR o eifufem & sida Fe gu S sidesh
% auifier sl iR sl w1 av @i |

9. What is e-Commerce ? Discuss the effects of e-Commerce

on Audit Process.
T-HEE W AU T TS © 7 SRV Whdl W E-hiAE
1 A T T ?

(2)L-26100 3
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BCQ/D-20 26101
SUPLLY CHAIN MANAGEMENT
BC-506(i)

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt Five questions in all. Q. No. 1 is compulsory
comprising of five short questions carrying 4 marks
each. Attempt any four questions from the remaining
eight questions carying 15 marks each.

dy ikp i'uc d mlkj nft, A i'u B[k 1 viuok;
g ftle tp 1'u g R;d 1'u d 4 vd g A K%
vIB 1'uk e 1 dib pkj 1°u vij dift, A 1R;d i"u
15 vd dk g A

1. Write short notes on the following : 5x4=20

(a)

(b)

(c)
(d)

(e)

What are the phases involved in Supply Chain
Management (SCM) ?

What are the obstacles in achieving supply chain
coordination ?

What are the risks involved in using 3PL ?

What is the need of warehousing in Supply Chain
Management System ?

State some recent development in the SCM in brief.

(3)L-26101(TR) 1



fukufyflkr ij Bf{kr fVIif.k;k fyf[k,

(v) whiir k[kyk 1c/ (SC™m) e fufgr pj.k D;k

(c) wvihitr k[kyk lelo; ikir dju e D;k ci/k,

(1) 3rPL d 1;ix e ‘“fey tif[le D;k g \

(n) wir k[kyk 1cl/ 1.kkyh e H.Mij.k dhb D;k wvio®;dri
g\

(b) wkifr k[kyk 1c/ (SCM) e gy ¢t e g, dN
fodklk dt o.u dift, A

g\
g\

Define Supply Chain Management (SCM). What are the
broad participants of the SCM ? Elucidate with examples. 15
viiir K[yt 1c/ (scmy dk ifjHiftr dift, A sCM d
ogr Hixhnkj D;k g \ mnigj.k Hgr o.ku dift, A

What do you mean by Integrated Supply Chain
Management ? Discuss its types with suitable examples. 15
lex ifr K[yt ic/ 1 wii D;k Be>r g \ bld idijk dk
mfpr mnigj.k Ifgr o.lu dnft, A

Why do conflicts emerge among supply chain participants ?

Suggest strategies to resolve these conflicts. 15
viitr k[kyk 1frHkfx;k d chp Vdjko D;k ink gir g \ bu
Vdjlok dk gy dju d fy, j.lutfr;k d I>lo nift, A

What modes of transportation are available for shipment
of goods ? Identify their strengths and weaknesses ? 15
ely d ynu d fy, ifjogu d diul I/u miy(/ g \
mudh ridrk vij detifj;k dh igplu dift, A

(3)L-26101(TR) 2



6. What are the ways in which a warehouse can be
classified ? How do you determine the location of a
warehouse ? 15
mu rjhdk ok o.u dift, ftue Hi.Mjxg dk oxiNr fd;k
th Idri g \ ,d H.Mgxg d LFku dk fuZkj.k vii dl
djr g \

7. What is the 4PL ? Discuss the emerging role of 4PL in
the achievement of supply chain objectives. 15
4PL D;k g \ wkifr k[kyk mnn*;k dk ikir dju e 4PL
dh mHgrh Hfedk dk o.lu dhift, A

8. Define Customer Service. Explain the role of customer

service in Supply Chain Management. 15

mitkOrk Bok D;k g \ wikitr k[kyk 1c/ e budh Hifedk dk
0.lu dift, A

9. What is the importance of information system in Supply
Chain Management ? Give examples. 15
viifr K[yt ic/ e lpuk i.kyh ok D;k eglo g \
mnigj.k Ifgr o.lu dift, A

(3)L-26101(TR) 3
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BCQ/D-20 26102
INDIAN ECONOMY
BC-506(i1)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt any four questions out of remaining eight
questions.
dy ikp i'uc d mlkj nift, A i'u B[k 1 viuok;
g A"k viB ituk e I fdigh pkj i"uk d mlkj nhft, A

1. Attempt the following questions in brief :
(a) Write short note on water conservation.
(b) Meaning of Dry Land Farming.

(c) Meaning of MSME.

(d) Discuss the nature of services.

(¢) Meaning of income inequality. 5x4=20
furufyf[kr i'uk d I{ki e mlkj nhft,

(V) ty {1 Bf{kr VI fyf[, A

(©) ‘I'd Hfe Nt dk VA

(1) MSME dk VH

(n) Mok di iNfr ok o.u dift, A

() wk; vilelurk dk vF A

(3)L-26102(TR) 1



Explain the concept of infrastructure. How are economic
and social components of infrastructure related to each
other ? 15
v/iljpuk dh vo/ij.k db o.u dife, A v/kljpuk d
VitFd rFik Liedfed 2vd ,dé&nlj 1 dl Icf/r g \

Give a brief account of agricultural marketing in India.
What has been the role of cooperative societies in this
sphere ? 15
Hijr e Nf% foi.lu dk I{lir fooj.k nift, A bl {i e
Igdijh Ifefr;k dh D;k Hfedk jgh g \

How is contract farming beneficial to farmers and
contractors ? Explain. Also explain the limitations of

contract farming. 8+7=15

fdliuk vij Bdnijk dk wucl/ Nt yitkdijh dl g \
0;k[;k dift, & vucl/ Nf% di Thetvk dk o.lu dift, A

Distinguish between cottage and small scale industries.
What is the importance of such industries in the Indian
Economy ? 8+7=15
dvhj rfRk y% telu d mjixk e virj Li'V dift, A Hijrh;
VFO;oLFk e bl idkj d m]kxk dk D;k eglo g \

What do you mean by service red growth ? Explain the

main service sector areas in Indian Economy. 7+8=15

ok rFik fodkl I wiki D;k Be>r g \ Hijrh; WFO; OLFk
e 1e[k lok {ik dk o.lu dift, A

(3)L-26102(TR) 2



7. Critically examine the changes in the direction and
composition of India’s exports and imports. 15
Hkjr o fuskek vig wiskrk dh fn®i rRk Bjpuk e ifjoruk
di viykpuied iji{i.k dift, 4

8. In a mixed economy like Indian economy, are inequalities
of income inevitable ? Give reasons for your answer and
indicate how taxation can be used to reduce economic
inequalities ? 15
Hijr; VAO; oLFk tlh fef kr VvRO;OLFk e wi; di vieur,
vifigh; g A wviu mlj db dij.k nift, wij crib, fd
ViERkd vlelurivk di de dju d fy, dlI dji/u dk
mizkx fd;k € Idrk g \

9. What do you mean by inter-state disparities ? Discuss the
main indicators of inter-state disparities in India. 5+10=15
wUrjiT;h;  vlelurkvk 1 vk D;k le>r g \ Hijr e
wirj&jiT; wvilelurivi d 1efk Idrdk dk o.lu dift, A

(3)L-26102(TR) 3



Roll No. ...ccuuurereervnnccannns Total Pages : 03

BCQ/D-20 26103
FUNDAMENTALS OF STOCK MARKET
BC-506-(iii) Opt. (iii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
dy ikp i'uc d mlkj nife, A i'u B[k 1 viuok;
g A

1. Write short notes on the following :
(a) Merchant Bankers
(b) Bear
(c) Put and Call Option
(d) Foreign Institutional Investor
(¢) Lame Duck. 5x4=20
fUELfyfir i IEr PVIRfck fyf[y,
(v) 0;kikj cdj
(c) enfM;k
() iV ,0 diy fodYi
(n) fon'fh ILFkxr fuo'kd
(b) fnolfy;k A

(3)L-26103 1



Explain the different ways of making fresh issue of

securities. 15

ifriifr;k d uo&fuxeu d fofHlu idkjk dk o.lu dift, A

What do you mean by secondary market ? Explain
the major problems or defects of secondary market in
India. 7,8
Igi;d chtdy 1 wvkidk D;k riRi; g \ Higr e Igi;d cht
dh e[; dfe;k rFk lel;kvk dk o.lu dift, A

Explain in detail the trading mechanism of securities at
National Stock Exchange. 15
utuy LVkd citlj e ifrHfr;k dh 0;kikfjd ;=lkoyh di
foLrijiod 0;k[;k dift, A

What is Bombay Stock Exchange ? What are the listing
requirements and obligations for companies to be listed
on BSF. 5,10
clEc LVkd ckthy D;k g \ BSE e Iphc¥rk djfu okyh
deifusk d fy, Iphcvark vi{lk, wvij nif;Ro D;k g \

What are the functions of National Security Depository
Ltd. ? Provide the benefits of NSDL. 8,7
Jev; afrdidr UskInZgh fy- d dk; D;k g \ NSDL d yiHk
crib, A

(3)L-26103 2



7. What are Derivatives ? Explain the uses and shortcomings

of derivatives. 5,10
O;Rilu D;k g \ O;Riluk d mizkxk rFk dfe;k dk o.lu
dife, A

8. Explain Futures. What are different types of futures ? 5,10
Y;pl di o.u dift, 4 Y;pl d fofiu idk D3k g \

9. Explain in detail the Global Depository Receipts. 15
fo*o0;kih U;kMh jhhnk dh folrr O;k[;k dift, A

(3)L-26103 3



Roll No. ...uuuueeecisnnnennnnes Total Pages : 04

BCQ/D-20 26114
WEB TECHNOLOGY
Paper : BC-505

Time : Three Hours] [Maximum Marks : 60

Note : Attempt any Five questions. Question No. 1 is

compulsory.

Tzl ufer el & ST ST | wee wWem 1 e

2

(ii)

(ii1)

(iv)

)

(5)L-26114

Define HTML.

HTML I wReifid shifse |

Define tag used to move text in webpage from left
to right.

U H IR H A © @ YA & AU TR
co il B T L

What is Javascript ?

Javascript 1 g ?

What is the difference between “==" and “===" ?
“==" [ “===" H T FIW® é ?

What Boolean operators can be wused in
Javascript ? 20
Javascript ® ®FE Jeftm eime wyw fRa W
THd 2



2.

S.

How is an HTML document structured ? Explain with
example. 10
#E HTML sfFgdz &g faffg gar € 2 e
HHARY |

Which tags are used for the following ? 10
(a) Table Handling

(b) Image insertion

(¢) Color

(d) |Lists

frefafe & foq sAg &1 99 g € 2

(31) Table Handling

() Image insertion
(&) Color
() Lists

Explain style sheet concept in HTML. Discuss style sheet
properties and Box display properties. 10
HTML ¥ ®Ed e SEunon % 99sEy | WEd e S
foreroetl qen s feuwd i favmvaist w1 avH *IfGT |

(a) What is the difference between test() and exec()
methods in JavaScript ?

JavaScript H test() T exec() Taftmi # 1 s

2 ?

(5)L-26114 2



(b)

(©

(d)

(b)

(b)

(©

(d)

(5)L-26114

Differentiate between Java and JavaScript.

Java T JavaScript § ST ART |

How to break JavaScript code into several lines ?
JavaScript ®Ig i fafq= wEAl § &9 digd € ?
What are JavaScript data types ?

JavaScript S YR g ? 10

Explain looping structures in JavaScript.
JavaScript § TUT GEAS i HHARY |
What are wvarious functional components in

JavaScript ?

JavaScript ¥ Tafe= e sfo@@ w1 € 2 10

What are self-invoking functions ?

Utk -gAIThT haRd W 2

What is the difference between wvar and let

keyword ?

var 1 let Hige H 1 HW B ?

What are all types of Pop up boxes available in

JavaScript ?

JavaScript ¥ IU@® Pop up Fies & U THR

w1 F ?

How is array declared in JavaScript ?

JavaScript ¥ array %4 declared foan S & ?
10



8. Explain concept of DOM in JavaScript. Also discuss
Event handling. 10
JavaScript ¥ DOM ! ST9RUT &I ¥9RT | Event
handling &1 ¥ I HifTT |

9. Write notes on the following : 10
freafafen w fewforai fafew
(a) User defined objects
TSR fehEs  Sfesiered
(b) Cookies
EEdE|

~D

(c) Navigator object screen
R Sffediae BhHIA

(d) Browser object
EIEStCIEE C

(5)L-26114 4
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BCQ/D-20 26115
SYSTEM ANALYSIS AND DESIGN
BC (VOC)-506

Time : Three Hours] [Maximum Marks : 60

Note : Question No. 1 is compulsory. Attempt Five questions
in all, All questions carry equal marks.
W wEm 1 @t @ | me Ui well % SR
s | weft WA % ot TR

1. Attempt the following : 5x4=20
(a) Define system.
(b) Explain the elements of system.
(¢) Types of system
(d) Contol measures
(e) Physical and Logical Design
ffafed & s ST .
(31) et @ uRefya wifsm
(F) UMt & T@ k1 UM HIWC |
(9) 9l s WhR
(%) T & 3™
(3) difaw iR dfes w&g

(5)L-26115 1



What is SDLC ? Explain it in details. 10
SDLC @1 ¢ ? fowR ¥ wmemy |

What is system analyst ? Explain the role of system

analyst and its need. 10

et foveine @ € 2 wonelt favewsh it gfer den
HETIn h qUH I |

Explain the system testing in detail. Also explain its

types in detail. 10
et T o fawga 9 SN | S9® TR 1 of
=R ¥ 9w |

What is system maintenance ? Explain its various
types. 10
BRI T 7 ? w9+ fafa yhR =aEm |

What are the differences between system analysis and

system design ? Justify your answer with examples. 10
Tt fagersor qen ol festga ® w1 3 ® 2 ST
gfeq e ol e |

Describe pros and cones of interview and questionnaires

technique for requirement gathering. 10

SEYIH THAHT B [ AR SR Jeaet dehi

% Uy SR fauy § 9l ifew |

(5)L-26115 2



8.

(5)L-26115 3

Define a form. List the five characteristics of a form with
an example for each. Also, explain at least four factors
that need to be considered in form design. 10
wH (F9) w ORE wINT | wEH (W) Hodre
foreroraietl 6t SeET wfed gElas ®ifET | wiH feszd |
M WH 9 ®F 9 HE uN HRGl I o AR
ST |

Explain various factors that determine the quality of the

system. 10
Ut i e ol HEia e e fafss sl &

foa=q =ifsm |
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BCQ/D-20 26116
OFFICE PRACTICE
BC(VOC)-505

Time : Three Hours] [Maximum Marks : 60

Note :

Q. No. 1 is compulsory comprising of 20 marks.
Attempt four questions from the remaining eight
questions carrying 10 marks each.

T HEem 1 SEE § | g 20 SR @ © | 9
S Y H ¥ hiE UR WA hifew fogd yoe wed
10 3% & T |

Compulsory Question ( IFaTE WvT)

1. Define short questions : 5x4=20
(a) Consumption of Papers
(b) Chips
(c) Erasers
(d) Telex
(e) Tour

e wel st ftarn ifSw
(31) TSI 1 STAM
(/) fafafen

(2)L-26116 1



(9) foem acft @
(%) oo™
(3) 3w |

What is Carbon Paper ? Explain importance of carbon

papers in modern office. 10

e HATS 1 E 7 IO hES W TR wEed o
HET i SATEA HiNT |

What are the uses of pins and erasers in a modern office ?
Explain. 10
fidl @ We & wh ey wElem d g s € 2
A HIT |

Explain the importance of notice along with its

characteristics. 10

g & T hl THh AL h WY A hINT |

Explain the importance of Post Office Guide. 10
e Siftr R & "e™ &l =amel &g |

What is telephone directory ? Explain the merits of
telephone directory. 10

SAHH SEREE M € ? T TN hi SAEA WIS |

What is Internet ? Explain its importance and uses. 10

T 1 ¢ ? 39H Hew U IYANN Rl ANl HIfWT |

(2)L-26116 2



8. Draft a Tour Programme for any destination according to

your own thought. 10
AT W % W T Fum R oft wm % fau d9n
HINT |

9. Prepare a T.A. Bill Sample for a tour at your choice for

any tour destination. 10
T 321 © Tk AN AT faa w1 A e oft wm w
fauw daR ISy |

(2)L-26116 3
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BCQ/D-20 26117
PROPERTY AND LIABILITY INSURANCE-1
BC-505 (New)

Time : Three Hours] [Maximum Marks : 60

Note : Attempt Five questions in all. Q. No. 1 comprising of
five short answer type questions carrying 4 marks each

is compulsory. Attempt any four questions from
remaining eight questions. All questions except Q.

No. 1 carries 15 marks each.

Hd T Y H S G | W Hewn 1 far
2 e 4 o & W oy Sow W W™ €
TN oTE WA H § fREl WR W % W INY
T HE 1 W Blghl ToH Y H 15 3k ¢ |

Compulsory Question ( IFaTE WvT)

1. (a) Boiler Machinery Insurance 4
EIRGEE NIt
(b) Destruction Insurance 4
IERINEEIE]
(¢) Risk and Insurance 4
Sifem iR

(2)L-26117 1



(d) Theft Insurance Contracts 4
I St "fas
(e) Specific Value Contracts 4

faftre qea wfem

Who is Insurance Agent ? Explain the legal position of
Insurance agent in Property and Liability Insurance. 10
o wele ® ? 2 gufd o g@ S fim wsle
i R ® R H AAET |

What are the various methods to calculate the risk in

liability insurnace ? 10
ar < | Sifem w1 A A & fan fafam e e
g 2

Distinguish between Reinsurance and Double Insurance.
Explain the advantages of reinsurance. 10
e SR Tl oftm % W s e € 2 e &
B FAET |

Describe the meaning and nature of dishonesty insurance
in detail. 10
AP i ® e R weRfa B AR fowR € SdEy |

Explain the procedure to obtain liability insurance. 10

@ i W Y B FRAT I GEETET |

(2)L-26117 2



7.

(2)L-26117 3

Explain the following : 10
(1)  Types of Liability Insurance

(i) Cattle and Crop Insurance

Frefafed w1 ww=mEd -

() TF@ A OTER

(i) woefi R wEw S|

Explain the nature of property Insurance. 10

Huld <A i Whid & 9} H SqEC |

Explain the concept of liability Insurance Policy. Explain
the third party and professional liabilities insurance

policies. 10

ey AT Oiferel i STEYROT W EHSEY | el 98 SR
Y9 SASIE whi i <o uifddt i SAne Sy |




Roll No. ...uuuueeecisnnnennnnes Total Pages : 03

BCQ/D-20 26118
GROUP INSURANCE AND RETIRED
BENEFIT SCHEME
506

Time : Three Hours] [Maximum Marks : 60

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
A T T S ISR AN | W e 1 sy
T

1. Write short notes on the following :
(a) Earned Leave Salary.
(b) Commuted Pension
(¢) Retrenchment compensation
(d) Approved Superannuation Fund
(¢) Voluntary Retirement Scheme. 4+4+4+4+4=20
frefafen = wfia fewfirar fafew -
(31) IfSla @R I
(9) WMl TH Hed U
(W) Bft & wrRw afayfd
(%) srmifea sifeanfient iy
(3) wifesw o fafa aem |
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2. What are the different types of Superannuation Schemes ?
Also discuss its benefits. 4+6

sfEtR Ao & fafe= TR &1 © 7 THH Nl
U HifST |

3. What do you mean by new pension scheme ? How is it
different from old pension scheme ? 10
R UE AN W Y F GHE € 2 A8 QT UvH A
¥ &y fim 7 2

4. Write a detailed note on Group Insurance Scheme. 10

qrfess offH Fe W Tk fowga fewoft fafem |

5. Write notes on the following : 5+5
(a) Payment of Gratuity covered under 1972 Act
(b) Payment of Gratuity not covered under 1972 Act.
Frefafen w fewfmat fafem .
(31) U=ggel H AW SUFEH, 1972 & STIER
(F) T=ES w1 JEAE AuTF9, 1972 & SFIER &l |

6. What are the income tax provisions regarding new pension

schemes ? 10

T UTE A U SEhud S WEuE e g 2

7. Explain in detail deposit linked insurance scheme. 10

feuifse fdas W =pim = IR d fa&R 9 FaET |

(2)L-26118 2



8. A retired from Govt. service on May 31, 2018. He received
a pension @ of Rs. 10,000 p.m. upto Jan. 31, 2019. He
got a lumpsum pension of Rs. 5,00,000 on Feb. 1, 2019
as the commuted value of Yith pension. Calculate taxable

pension. 10

‘s1' WK WAl W WE 31, 2018 W ©en § fHEd g |
IHT SEER! 31, 2019 T 10,000 ¥ FqHE UIE WK h |
SEH W@ 1, 2019 ® WIE & Y 9M & fau
5,00,000 & TH TG U¥M W i | H-IMF UWE Hi
U ShITT |

9. What is Data Processing Insurance ? Explain in detail. 10

T TR i w2 ? fawR ¥ §EsE |

(2)L-26118 3
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BCQ/D-20 26119
MANAGEMENT OF SALES FORCE-I
BC(Voc)-505

Time : Three Hours] [Maximum Marks : 60

Note : Q. No. 1 is compulsory which covers five questions of
4 marks each. Attempt any Four questions out of
remaining eight questions carrying 10 marks each.
o wem 1 eferd @ foud 4-4 i & uie W
1 A oome w B ¥ & ot W e & ©
R weft W 10-10 HF B F

1. (a) What do you mean by Sales Force Management ?
fospavifend weu © o9 ¥ WHIW B 2
(b) Describe the external sources of recruitment of sales
force.
fomavfed =1 9dl & 9 @l S SRR KT |
(c) Explain the concept of sales force motivation.

fomanfaa AT s 1 AR HifGT |

(d) What are the objectives of sales-force remuneration

plan ?
T Gred ¥ fawavfe de ® R 3Ryg B ?
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(e) Explain the quantitative methods of Sales Force

Appraisal. Sx4
fosRaRTio] Fodich h! HE&ATH Tafe™l &l SRR

e |

What is a Sales Organisation ? Describe the
departmentation of sales organisation on the basis of

product and geographical area. 10

T WTed 1 © ? IR g dhifee &9 ® SER W
fosra dmeq 1 fauriastT SRy |

Explain various selection tests for selection of sales
personnel. What precautions should be taken while
conducting selection test ? 10
foshaeraistl & foau fafq=1 ==@ wdemn w1 SHer 2T |
T qhem & g ot 9 areft geenfel w@m w2

What is meant by Salesman training ? Discuss the
principles of good sales force training programme. 10
fanashdl TfTer @ oy 9 gER © ? T oTes fashashdl
TR1U FRihH & THgl i e &IV |

Why is Sales force motivation necessary ? Write brief

various methods of motivating sales force ? 10

Toashaend] SITMIRYT o0 oTOvdes © 2 To%d wHEIRAl i
s =@ = fafa= fafal dedv § fafem |

(2)L-26119 2



6. Describe various methods of compensating sales force.
Which method do you consider the best and why ? 10
fempareifer 1 See B fafd @ fafe fafie o o
FifST | e fRg fafy &l gdgs wEa ¥ iR A ?

7. What do you mean by sales force management ? Explain
its main functions. 10
fershareTfert Worel © 317 o1 TUed © 2 3Eeh ged Al i
SRR &I |

8. Explain various quantitative and qualitative methods to
evaluate sales force. 10
fora wHAIRA F1 Jedihd ®H 1 GEAHR 9 OIS
faftral =61 9o =ifsg |

9. How will you determine the size of required sales force

for a business organisation ? Write in detail. 10

frel oEEfas 911 & fau smevas famawfe =

AR o FHaior ey S8 w9 2 fowr @ fafeu |
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BCQ/D-20 26120
SALES PROMOTION AND PUBLIC
RELATIONS-I
BC(Voc)-506 (Opt. 1)

Time : Three Hours] [Maximum Marks : 60

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
A T Y H S LR | W Hewn 1 e
T

1. Write short notes on the following :

(1) Limitations of Sales Promotion

(i) Dealer-Oriented Sales Promotion

(i) Fashion Show as a tool of sales promotion

(iv) Gift Offer

(v) Purchase Allowance as a tool of sales promotion
5x4=20

frefafed w dfva femfirl fafet .

() Toma g w1 g

(i) <reR-sHqel fowa gada

(i) fopa Hadq & wh ®99 % ®9 9 hyE-w

(iv) ST R Y&

(v) foa @agq & ©& 99 & ®9 § HI 9
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Discuss the nature and importance of sales promotion. 10

fora waEgq + Y0 Td Hed 1 ARAT HiGU |

Explain consumer-oriented sales promotion with examples.
10
SUHERT-3SHEl fashd Hagq & I[N wfed AR i |

Explain the advantages and disadvantages of sales contests.
10
foora wfaaifiraet = o0 ©d STl W S RIS |

What is Sales Conference ? How will you organise sales

conference ? 10
faha W 1§ 2 3T Tad W @1 ST 6
H ?

Explain rebates and rewards as tools of sales promotion.

10
fosrd adq % WO % ®Y U HIkl T [WEHRI HI
AT IS |

What do you mean by trade shows ? What factors need
to be considered in organising trade shows ? 10
e yeEifEl @ emuer @ sfqgE @ 2 oAk
TRl SRl SIS e | fohd qwal ol &1 § @ S
=ifeT ?
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8. Write a detailed note on specific novelties and free

samples. 10

faftme st @ W A W fawga feooi fafem |

9. Under what circumstances sales promotion should be used
as a tool of marketing ? 10
o aRfearfaal # fosra Hada =t f9H & T 999 &
w9 H @A fea S =ifen ?

(2)L-26120 3
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OBCQ/D-20 26121
COST ACCOUNTING
BC-501
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
A T Y H S LR | W Hewn 1 e
T

Compulsory Question ( IFaTE WvT)

1. (a) Briefly discuss the principles of Cost Accounting.

AN wEed % M W gegw ¥ fafew |

(b) Write short notes on the following :
(1)  Out of Pocket Cost
(i) Sunk Cost.
frafafen w dfa fewfmr fafew .
(1 TR o
(i) gId o |

(c) What are objectives of Material Control ?
amft feEm % sReE s € 2

(d) Explain Escalation Clause.
gfgTa FUESH a9 1 aud Sifay |

(¢) What is meant by Rowan Plan ? 5x4=20
Yo aree | ety @ 2
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2.

It is said that “Cost accounting is a system of foresight
and not post-mortem examination in turns losses into
profit, speeds up activities and eliminate waste.” Discuss
this statement. 15
Ul el Sl ® R ‘A ol T SRR % ad @
T fo A= wE-liem, g' el sl ey H gRafdd
¢, nfafafeal o fq o ® 9o e@l | e w17
T HYT W AT HifoQ |

Write short notes on the following :

(1) ABC Analysis of material control 5
(i) Economic order quantity 5
(i) Perpetual inventory system. 5

frfafea w gfea fewfrr fafew .

() T fEem s e, faveww gsfa
(i) Toqert emw AmEn

(i) @i R T gemet |

A contractor who prepares his account on 31st Dec. each
year commenced a contract on Ist April, 2015. The
following informations are related to the contract as on
31.12.2015

4
Material issued 28,000
Wages 57,000
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Supervisor's salary 8,000

Special plant 20,000
Subcontract cost 7,800
Other expenses 4,075

Another machine costing I 26,000 has been on site for
146 days. The working life of this machine is expected to
be 7 years with a final scrap value I 1,500; Material
Costing T 2,000 was lost and material costing ¥ 4,000
were in hand on site. A machine costing ¥ 3,000 out of
special plant was sold for ¥ 3,700 in the beginning and
a machine costing ¥ 5,000 was returned to store on
1-10-2015. Wages are outstanding for one week and
supervisor's salary in outstanding for one month.
Supervisor has devoted one half (1/2) of his time to the
contract. The contract price is ¥ 2,40,000. On
31-12-2015, the (2/3rd) of contract was completed. Cash
received T 96,000 being 80% of work certified.
Administrative charges to be charged @ 20% on works
cost and depreciation to be charged @ 15% P.A. on
special plant. Prepare Contract Account, Work in Progress

Account and necessary items in balance sheet. 15

Th SHER S SH eifwH @ 31 fKEgER Wl s g,
SEY T 31 1 30, 2015 1 E fRAT | 31.12.2015
TRl Gkl ¥ e g g et ® e

EIRpil 28,000
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Sl 57,000

YA 1 A 8,000
IEN R NG 20,000
IYSH AT 7,800
S G| 4,075

T 3 WA 3 FEed W, fo@ew! @\ T 26,000
off, 146 7 W | WH * FESHA AT 7 a8 BT
AR o H warg T 1,500 § famm | wrEew @ 2
2,000 ® G A ' OME qAm o W S« ge W
*I HHd T 4,000 A | WA H T 3,000 AT Th
qM 3% & Y& 9 T T 3,700 H 99 @ qu T
Tyfa fowet @@ T 5,000 off, 1-10-2015 R =R 999
9 § | T gwe & weRd @ ™ (0/S) ' oaw
Th WENM 1 YWABSK W 9ad 9 ¢ | GWAESK d
AT ST (1/2) 99F TH O & AW oA | 3% W
HHd T 2,40,000 B | 31-12-2015 I 3 = 2/3 WM
OB M | TR Uil SeEa ¥ % 96,000 WW g
S wEI e w1 80% T | hEER A HI 20%
WEH® = qa 15% Ffd T8 ge e we W
A ® | SR WA, S WRA WAl qe SEvas Ug
e § e[ gl oY fager @IsT |
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5. What do you mean by absorption of overhead ? Describe
the various methods of absorption of factory overheads.
Which of these methods do you consider most scientific
and why ? 15
Suftemdl & wWiged W o 9 WHE § 7 hR@m
Uil & dfaerd o oty ggfaal &t foe=m S |
o T W e fafy i ifues dmiter TR ¥ sl
w2

6. What is meant by Operating Costing ? In which industries
is it used ? Prepare operating cost-sheet with imginary
figures. 15

e @i fafy fen wed € 2 97 fafu fea ogaami
% fou sfaq € ? wR=Emem o faeno wfeqa sfiwel &
YR W TR |

7. A company is producing two types of pens— Wright’ and
‘Speed’. The manufacturing costs for the year ended on
31st December, 2014 were :

4

Direct Materials 2,00,000
Direct Wages 1,12,000
Factory Overheads 48,000
3,60,000

It is ascertained that :

(a) Direct materials in “Wright’ type cost twice as much
as that of ‘Speed’ type.

(b) Direct wages of ‘Speed’ type were 60% of those
for ‘Wright’ type.

(2)L-26121 5



(d)

(e)
®

(g)

Production overhead for each type was I 0.30 per
pen.

Administration overheads for each type was 200%
of direct labour.

Selling Cost ¥ 0.25 paise per pen for both types.
Production during the year was :

‘Wright’ type-40,000 pens of which 36,000 were
sold, ‘Speed’ type-1,20,000 pens of which 1,00,000
were sold.

Selling prices were I 7 per pen of ‘Wright’ type
and ¥ 5 per pen of ‘Speed’ type.

Prepare a statement showing the total cost per pen of

each type and profit made on each type of pen.

% W foia @ weR % T SR CEfe W o
ST w7 131 fEEER, 2014 I WA@ g ot o
o IFRI AT AN 3H OWRR ot -

3

Pt s Dl 2,00,000
E 1,12,000
3R YN 48,000
3,60,000

IE T@ fwa S R o

(1)

()

(2)L-26121

‘TR H ‘Tl I oe g AN I T anit
GG

‘Tifs’ w1 Ty uRHHe ‘USSR STUeT 60%
o |



(W) T ¥R H IAEd SUNeId T 030 ¥fa U9 e |

() = ¥R H werEtie Suem™ YS9 Sl 200%
o |

(3) = WHR w fawma o@rma T 025 wia U9 eff |

() o8 § 3Ioed A weRoen
‘[T FHR—40,000 9 9 9 36,000 I9 TIU
M| e WHR—1,20,000 T fSWE ¥ 1,00,000
9 few T |

(M) fowl-gea ‘W’ w1 T 7 WM W oF ‘wE
T5 wfla W oem |

T TR ® WA U9 H A M 9 S W AR

oy e gu faaw-w AR s |

8. Explain the following by giving suitable example :
(a) Emerson Premium Plan
(b) Merrick Scheme
(¢) Gantt Bonus Plan. 5+5+5
Frefafed 1 Stgew 3T Wied wHeRy
(31) YT Wi A
(7) Hfw gomed
(@) e Sg Fe |

9. What do you mean by Normal Loss, Abnormal Loss and
Abnormal Gain ? How are these treated in Cost
Accounting ? 15
M BM, TEH A Tl MR @Y 1 F 7Y
2 ? TR O oEiehd § TRE R oien TR S @ 2

(2)L-26121 7
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OBCQ/D-20 26122
ENTREPRENEURSHIP DEVELOPMENT
BC-502

Time : Three Hours] [Maximum Marks : 80

Note : There are nine questions in all. Q. No. 1 is compulsory.
Attempt any four questions from the remaining eight
questions.
bl 1'u&i=k e dy uk 1'u g A i1°u I[;k 1 vfuok; g A
"k viB i'uk e I fdlgh pkj i"uk d mlkj nift, A

Compulsory Question (\Vfuok; 1°u)

1. (a) Define Entrepreneurship ? Differentiate an employee
from an entrepreneur.
mlfert dk ifjHifir dift, & depiji ,0 m|el e
vrj crib, A
(b) Discuss the relationship between entrepreneurship

and economic development.

mlferk rFk wiffkd fodkl e l1c/ dk o.ku
dift, A

(5)L-26122 1



(c) Define and discuss the economic need for

entrepreneurship.

mlferk gr wvifFkd wio®;drk dk ifjHif'ir dj o.lu
dife, A

(d) Discuss the importance of feasibility analysis.
0;ogk;rk fo'y'k.k d egto dk o.lu dift, A

(e) Discuss the need for organizing EDPs.  5x4=20
m|ferk fodkl dk;@ek dk vi;iftr dju dh vio"; drk
di o.lu dhift, A

2. Discuss the traits of an entrepreneur. Discuss the need,
scope and significance of entrepreneurship for any

economy ? 15

,d mleh d x.k dk o.lu dift, A fdlh VFHO;oOLFk gr
mlferk dh €zjr] {&k rFk eglo dk o.lu dift, A

3. Define the following : 2x7.5=15
(a) Methods to start one’s business

(b) Environment assessment (PESTEL)
futufyf[kr dk ifjHif'r dnft, &
(v) viuk 0;olk; pky dju dh fof/;k
(c) olrtoj.k fo"y'k.k (PESTEL)

4. Who is a founder entrepreneur ? List out various start-
ups along with their business models and traits of their

founders. 15

(5)L-26122 2



[lkeh mjen D;k g \ fofHlu LViV&vIl dh mud 0;0lf;
eiMy rFk mud [tdr d x.k d N rifydk culb, A

5. Discuss the financial and non-financial support provided
by government organizations to strengthen the

entrepreneurship support system. 15

mlferk Bikv flLVe dk etcr dju d fy, Bjdih IxBuk
Mjk intu db thu okyh folk; rFk xj&follh; Bgk;rk d
o.lu dift, A

6. Define feasibility study. Discuss the importance of
conducting feasibility analysis. Also discuss technical
feasibility analysis in detail. 15
0;og;rk we;;u dn ifjHK nift, A 0;ogk;rk foy'k.k
dju d egho dk o.lu dife, A rdutdh 0;0gk; rk fo"y".k
dk foLrr o.ku Hh dift, A

7. Define the following : 2x7.5=15
(a) Market potential assessment for a new business
(b) Factors affecting success of new business
futufyf[kr dk o.lu dift, %
(v) fdih u; 0;0olk; gr cktyj IHkouk fo™y".k
(c) u, 0;olk; dh HiQyrk dk iHkfor dju oty dijd
(5)L-26122 3



8.

(5)L-26122 4

Write notes on the following : 2x7.5=15
(a) Profit and tax planning of start-ups

(b) Sources of ﬁnance for business

fukufyfkr 1j fVIif.k;k fyf[k,
(v) LWvévil d ykk 0 dj ,ktuk
(c) 0;olk; gr folk d Tir

Write a detailed note on the support and incentives offered
by government to new enterprises. 15
u, mjek dk bjdij gk fn, tiu oty 11V o 1RNkguk 1j
foLrr fVIi.k fyf[k, A
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OBCQ/D-20 26123
INCOME TAX-I
BC-503
Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory and answer to each part
of Question No. 1 should not be more than one page.
Attempt any Four questions out of remaining eight
questions.

T HEd 1 e ® SR e e 1% T 9m
F IW Th T8 § AUk 8 T =0T | WY ST
A W W WE AR W SN |

Compulsory Question ( IFaTE WvT)

1. (a) Explain PAN number in brief. 4
W HR w wfgw § wwemw

(b) Explain briefly the provisions regarding Encashment

of earned leave. 4
sfSid e@eET H HAW ® Hew H o owyy #
HHARY |

(c) Explain any four expenses which are disallowed in
computing profits and gains from business and

profession. 4

(5)L-26123 1



g N U9 ¥ A & T S H R e m
Tl Hi AR hifw, font safa W@l et |
(d) Explain Partly Agricultural Income. 4
STh-HM T Hi AT HitaT |
(¢) How do you deal with ‘Cost of Acquisition of

Bonus Shares’ while computing Capital Gains ? 4

USd oe i UM R TEE S SR YRR &
afepen # ard’ ¥ Hd fged € 2

2. Income tax is charged on income of the ‘Previous Year’.
Do you completely agree with the statement ? If not,
what are the exceptions of the rule ? 15
AR ‘TG TH' H @ W fE W@ ¥ 1 e e
TaH ¥ T W wemd € 2 A W, @ Fm & emes
T § 2

3. The following are the Incomes of Shree Deepak for the

Previous Year 2019-20 : 15
3
(a) Dividend from Indian Company 10,000

(b) Profit from business in Japan

received in India 12,000
(c) Profit from business in Pakistan

deposited in bank there. This business

is controlled from India 20,000

(5)L-26123 2



(d) Profit from business in Indore

(Controlled from London head office) 11,000
() Interest received from a non-resident

Mr. Abdul, on the loan provided to

him for a business carried on in India 5,000
(f) Income was earned in America and

received there, but brought in India 8,000
(g) Share of Income from Indian partnership

firm 15,000
(h) Income from house property in India

received in America (Calculated) 12,000
(1) Interest on debentures of an Indian company

received in Dubai 5,000
(j) Capital Gain on sale of agricultural land

situated in Ajmer (Urban Area) 8,000
Compute his taxable income, if he is :
(1) Resident
(i) Non-ordinarily resident
(i) Non-resident.
fisd =ad 201920 % fau st <k =t oM@ feAfafed
g

3
(31) IR HUAT G AT 10,000
(9) 9Rd § W S9E H AR § A 12,000

(5)L-26123 3



(9) wirs™ ¥ =R § @9 g8 ® Ak
4 9 fea ™ | U FEdE 9Rd

g feEba @ 20,000
(37) ¥R § =R 9 @ (d g Afew
a ) 11,000

(3) 9% H fou W Fewmm & fau 3=

yeE fehu U kT WoSaEl Hl ST

q Y =S 5,000
(®) o @i § offsld w1 T off iR

Tl W e, ofhd WRG B ool T 8,000
(1) 9 AR wH ° g w1 fewm 15,000
(8) omfie o o 9Ra H R &I Hu@ 9

SICEEQILEIY 12,000
() TR A oUW 9RdE wE % feaw

WS 5,000
(§) R (vl &w) o fem &y qf

w fat W I o 8,000
IUH! H-ATE F B MO B, AW TE T ¢
(i) et
(i) R-wmEE e
(iii) rfarE |

4. Explain the provisions of Gratuity under Income Tax Act

with examples. 15
SR AU & T80 T=ge & YEHHl hl 3SEON %
Y FHARY |

(5)L-26123 4



S.

For the Assessment Year 2020-21, compute income from

house property on the basis of the following

informations : 15
(a) Municipal value of the house T 40,000
(b) Municipal Taxes paid T 8,000

House was self-occupied. It contains two units. But one
unit of the house was let out at ¥ 1,500 per month from
1.10.2019 in respect of the house the following expenses

were incurred :

(1)  Fire Insurance Premimum T 800
(i) Ground Rent T 1,000
(i) Land Revenue T 1,200

A Loan of T 40,000 was taken on 1 April, 2015 @ 15%
p.a. for the construction of this house. The house was
completed on 31.05.2017 and only half the loan was
repaid till 31.03.2019.

el a8 2020-21 & fou, fHAfafed SHeRE &
IR W HehM GId ¥ ™F H T ST
(21) ™ h1 TRAMR Hed % 40,000
() TRufehl U w1 ra fma T ¥ 8,000
T EE % W@ B ¢ | TEH T ShEAl €, Wik TR H Th
THE H 1.10.2019 9 Ffq A T 1,500 W fRuwam w fe
T A | R % Hay § fefafed wE BT w9 .
(i) @R IWERY WfEm T 800

(5)L-26123 5



(i) TRTS T % 1,000
(i) 9-Ts T 1,200
M W % T % fou 1 ede, 2015 % T 40,000
@ 15% ¥d a4 % ® fa@m T oo | TEH
31.05.2017 %I T = AT o1 SN 31.03.2019 % had
JMET | G A 4T |

6. Explain the wvarious deductions that are allowed in

computing income from Business and Profession. 15

SMUR 3R U9 § F 1 MU I GHF Tarq weitaal
% A HIfWT |

7. In what circumstances is the income of one person is
treated as the income of another ? 15
o uRfeafaal o wh =afe &1 o 1 W I S AT
S @ 2

8. What do you understand about the concept of ‘Capital
Asset’ ? How many types of Capital Assets can be
there ? How is Transfer of Capital Asset dealt under
Income Tax Act ? 15
a9 ‘OSfid Hof' wt erEeRon % 9N ¥ wHed ¥ 2
for SRR T T WO 2w § 2 e wrer
o T i AEHR AUEH % qed s 9eEn S
g2
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9. Explain the concept of ‘Exempted Income’. Discuss clearly
the ‘Exempted Income’ under the Income Tax Act. 15
TR ST Y SAENON ) WHRET | SR sifafm
% Td WP A W WR ®Y W 9 B |
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OBCQ/D-20 26124
COMPANY LAW-II
BC-504
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory
and carries 4 marks for each part. Attempt four more
questions from remaining eight questions carrying 15
marks each.
dy ikp i'uk d mlj nife, A itu I[;H 1 wviuok;
g] ftle iR;d Hix d 4 vd g A "% viB 1'uk e
I pkj i'u wvij dife, A 1R;d 1°u 15 vdk di gA

Compulsory Question (\Vfuok; 1°u)

1. (i) What do you mean by Depository System ?
fufkikxky 1.kyh 1 wikidk Dk wiHik; g \
(i) Distinguish between transfer and transmission of
shares.
Vi d glrirp.k wvij 1lkj.k e vrj crib; A
(iii) Write a note on resolution requiring special notice.

fo'lt lput oty ilrio ij ,d M.l fyf[r, A
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(iv) Write short note on floating and fixed charges.
py ,0 vpy iHkj ij I{lir VI fyf[k, A
(v)  Can central Government order amalgamation of

companies in National Interest ? Explain.
D;k jk'vh; fgr e dEifu;k d ,dndj.k dk win®
dinh; Tjdij Hjk fn;k & Idrk g \ le>lb; A

Define Member. Distinguish between a member and a
shareholder. How is membership terminated ?

InL; dh ifjHk% nhfe, A InL; ,0 V'i/kjh e vrj crib; A
InL;ri I lellr gk tirh g \

Define the term Director. Discuss the powers and duties

of directors.
Iptyd *iCn dh ifjH"% nhf, A Dpkydk d vi/Zdijk rFi
dr0;k dh foopuk dift, A

Define a company secretary and state his powers and
duties.

dEiuh Ifpo dh ifjHi'lk nife, wvij mBdh “kfDr;k Lo
nif;Rok dk crib; A

What is a Statutory meeting ? Explain the provisions

regarding holding of Statutory meeting of Company.

ofkfud IHk D;k g \ dEiun dh o/ifud IHK cylu d
IEcl/ e dEiuh vi/fu;e d iko/kuk dh 0;k[;k dift, A
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6. What is Dividend ? Explain the duties of the auditor in
this connection. Can dividend be distributed out of
Capital ?
yiHk*k D;k g \ bl 1Ecl/ e vd{id d nif;Ro crib; A
D;k 1th e yiHk'k civk € Idrk g \

7. What do you understand by resolution ? How many types
of resolutions can be passed at a company meeting ?
Discuss the provisions of the Companies Act regarding
these resolutions.
ilrio 1 wvii D;k le>r g \ ,d dEiuh di IHk e fdru
idij d iLlrio ikl fd, tir g \ bu ilriok d lIEcl/ e
dEiuh vf/fu;e d ilo/kuk dk o.lu dift, A

8. Explain the borrowing powers of a Company. When may
a company lawfully borrow money ? What are the
restrictions on the borrowing powers of a company ?
,d dEiuh d Y2.k yu d vi/dij dh 0;k[;k dift, A ,d
deiun o/kfud -1 I dc %.k y Idrh g \ dEiuh Mk
Yok yu d vi/Zdijk 1j Dk ifrcl/ g \

9. What is member's voluntary winding up ? What are the
provisions applicable to members' voluntary winding up ?
InL;k Hjk ,Nd Bekiu D;k g \ InL;k Hjk PN lefiu
1j ykx g oty tko/ku D;k g \
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OBCQ/D-20 26125
MATERIALS MANAGEMENT
BC-505
Time : Three Hours] [Maximum Marks : 80
Note : Q. No. 1 is compulsory. It consists of five questions of
4 marks each. Attempt four questions from the
remaining eight questions carries 15 marks each.
T e 1 st @ 1 38 T & uie wm € den
TS 9 4 Rl k1 T | I oS oA H ¥ R
TR G ® I e R T w15 SRl
w2
Compulsory Question ( IFaTE WvT)
1. Write short notes on the following : 5x4=20
(a) Enterprise Resource Planning-ERP
(b) Average rate of Return Method
(c) Brainstorming Analysis
(d) SED Analysis
(e) State about Six-Sigma.

Trefafe w wibw fewfar fafem .
(31) 3umg wEeE e
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(9) oiwd ae X fafy

(W) dIfseiiaan dehslsh
(3) SDE favemm
() foom-foar = sm o fafgu |

Define Materials Management. Explain the modern trends

in material management. 5,10

Al wEEA Bt gRern e | e yee § 9 et
™ Ui HifeT |

Explain the techniques of materials planning. 15

T IS W1 deRlehl SRl g9 ShifST |

State the concept of MIS and state the constraints and
advantages of MIS. 5,10
MIS ! STEYR qEC iR 39 wiasel qeon e o
uiE =ifST |

Explain government purchase procedure and practice. 15

TR i %A Whehal qe1 Ugfd =1 fasqa aoH HifNe |

What are Standards ? What are all the levels of
standardisation ? Explain the process of standardisation.

3,6,6
T F ¥ ? THHR % W H ¥ 2 G i
Hishal =1 UM HIFT |
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7. Explain the financial interface with material management.
15
I yEY & Wi fa<iig SIauss 1 UM hifeg |

8. What do you understand by maximum level, minimum
level and ordering level of stores and stocks ? What
factors are taken into account in fixing these limits. 10,5
WR T Wi & Ioaad ®R, =Aq9 W A TR 'R o
AT g ¥ 2 T dme w fftew ww & fag
FFE HR AH H W 9§ ?

9. Write short notes on any wo of the following :
(1)  Classification of transport as per format
(i)  Selection of mode of transport
(iii) Participants in transportation decision. 7,8
frafafen & @ feel & W wfiw feofml fafew .
() dufer WEY @ SHER AGET Wl dieRtol
(i) IAEE@ ® WEA H I
(i) @ Hed fofE ® geer |
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MBCQ/D-20 26196
BASIC OF COMPUTERS-I
BC-106
Time : Three Hours] [Maximum Marks : 40

Note : Attempt any Five questions. All questions carry equal
marks.
gl urer wed & e SIS | wdt W % s
T 7

1. Make a block diagram of Computer and explain essential

components.

HIAR P wolih SEUM SARY SR AEYAS awdl
quARy |

2. (a) What are five major advantages of Computer modern
scenario ?

ayfrer IRETd § SRR & Ui ggE oy 4 E 2

(b) Write differences of 2nd generation and 3rd

generation computer.

2nd SFEH S 3rd WM ®ER H SR fafe |
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3. (a) Write functions of input devices Keyboard and
Scanner.
TTe foaEd wiEe 3R @R % %A @ ol |
(b) Explain non-impact printers with emphasis on
LASER printer.
LASER fiX W SR < & @it -y fife =i
eIl RIS |

4. Define Memory and explain primary memory in detail.

AR @ R wifT ek wefis BEN i faer 9
TUEET |

5. (a) Discuss Read/Write operations on magnetic disk.
Jahia fewh &l Ted / Ta@s =i dihranstt | ==
IS |
(b) Explain working of Optical Disks.
Afehd femm & @ & A ST |

6. In context of word, discuss :
(a) Spell checker
(b) Word Art
(¢) Text formatting
(d) Page formatting.
= % HeH H,
(31) = ThEER
() =2 &
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(W) IR wEET
(3) T=° @&
™ Ui HifeT |

7. (a) Explain use of table handling in Word.
o€ ° ua Fsfan w1 3w W &I |
(b) Discuss Mail Merge with example.
I[N & WY Ad 79 R T HIC |

8. Write notes on the following :
(a) Sound Card and Speakers
(b) OCR and OMR.
Frefafes w fewfmat fafem .
(31) URSE HE IR T
(7) OCR 3R OMR |

(2)L-26196 3



Roll No. ...ccuuurereervnnccannns Total Pages : 03

MBCM/D-20 26197
BUSINESS REGULATORY FRAMEWORK-I
BC-301

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions carry equal marks.
dy ikp i'uc d mlkj nife, A i'u B[k 1 viuok;
g A IHh 1'uk d vd lelu g A

1. Attempt the following questions in brief :

(1) Distinguish between Proposal and Acceptance in
Indian Contract Act.

(i) “Contract with Minor is absolutely void.” Discuss.

(iii) Define the Contingent Agreement.

(iv) Differentiate between the Partner by estoppel and
holding out.

(v) Explain in brief the Reciprocal Promises.

(vi) Distinguish between Fraud and undue influence.

furufyfer ¢'uk d I e mlkj fyf[k, *

(i) Hirt; wvuc/ viffu;e e clrio wij LoiNfr d
chp wvrj crib, A
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(i) Meltbuj d NF wvuc/ fcYdy “W; g A* ppk
dife, A

(i) widfled De>kr db ifjHikf%r dift, A

Gv) l>nkp gk LKy wvij gifYMx wvimV d chip vrj
dife, A

(v) jflikdy cifel db If{kir 0;k[;k dift, A

(vi) /Jk=l/Mh vij wvufpr cHiko d cip wvrj crib, A

Discuss the main provisions of the Indian Contract Act,
1872 in brief.
Hkjri; wuc/ vi/fu;e] 1872 d e[; clo/luk 1j ki e
ppk dift, A

Define Partnership. Describe the rights and duties of a
partner.

lenijh o ifjir dift, & ,d Bienl d viZdiji vij
dr0;k dk o.fu dift, A

Describe the salient features of the Right to Information
Act, 2005.

Ipuk di viZdlj vi/fu;e] 2005 dh e[; fo"Kkrkvk di
o.u dift, A

Define the term Bailment. Describe the types of Contract
of Bailment.
fuftih icn db ifjee dife, A fufli vue/ d cdijk ok
o.fu dift, A

(3)L-26197 2



6. Explain the Section 11 of the Indian Contract Act
describing the incompetent persons to enter into a contract.
Hkjri; wvuc/ vi/fu;e dn Zijk 11 d ckj e crib, fele
v{le 0;f0r;k dk vuc/ e nt djuk g A

7. Explain different kinds of remedies available to buyers

and sellers at the breach of contract of sale.

fcgh d vuc/ d mYydu 1j ejinijk wvij fodrivk d fy,
miyC/ fofHlu cdij d mik; crib, A

8. What do you understand by mistake ? What are the
effects of mistakes on the validity of contracts ?
vit xyrt 1 D;k le>r g \ wvuc/k dh o/rk ij xyfr;k
d cHko D;k g \

9. Describe the Contract of Guarantee. Also discuss its

essential elements and purpose.
xijVi dk vuc/ crib, A bld wvio®;d rRok vij mi*; ij
Hh ppk dift, A
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